

Barristers and Solicitors

Scott A. Stoll Direct: 416.865.4703 E-mail: sstoll@airdberlis.com

April 8, 2011

RESS, EMAIL and COURIER

Ontario Energy Board
P.O. Box 2319
27th Floor
2300 Yonge Street
Toronto ON M4P 1E4
Attention: Ms. Kirsten Walli, Board Secretary

Dear Ms. Walli:

Re:

Brant County Power Inc. ("BCP")

Proposed Settlement Agreement Board File No.: EB-2010-0125

Please find attached the Proposed Settlement Agreement in proceeding EB-2010-0125. An electronic copy of the agreement will be filed on the Board's RESS system.

If there are any questions, please contact me at your convenience.

Yours truly,

AIRD & BERLIS LLP

Scott A. Stoll

SS/hm Encl.

cc:

B. Noble, BCP

All Intervenors

8617244.1

Brant County Power Inc. 2011 Distribution Rate Application
EB-2010-0125
Proposed Settlement Agreement
Page 1 of 31

# EB-2010-0125 Brant County Power Inc. Proposed Settlement Agreement April 8, 2011

#### **INTRODUCTION**

This settlement agreement (the "Settlement Proposal" or "Settlement Agreement") is for the consideration of the Ontario Energy Board (the "Board") in its determination of the rate application by Brant County Power Inc. ("BCP") for 2011 electricity distribution rates (EB-2010-0125), (the "Application").

BCP's Application was received by the Board on November 5, 2010. On December 24, 2010, the Board issued Procedural Order No. 1 which granted Intervenor status to Brantford Power Inc. ("**Brantford**"), Energy Probe Research Foundation ("**Energy Probe**") and the Vulnerable Energy Consumers Coalition ("**VECC**") and set out a timeframe for interrogatories. In response to a request from BCP, the Board issued Procedural Order #2, dated January 27, 2011, which permitted an extension to February 15, 2011 for BCP to file responses to Interrogatories.

A Technical Conference was held on March 16th, 2011. Responses to the Technical Conference Questions posed by the Intervenors and the Undertakings given by BCP were filed on the RESS. A settlement conference was scheduled for March 22<sup>nd</sup> and 23<sup>rd</sup>, 2011 (the "Settlement Conference"). The Settlement Conference was duly convened in accordance with Procedural Order No. 3, dated February 24<sup>th</sup>, 2011 with Mr. Chris Haussmann as facilitator. The Settlement Conference concluded on March 23<sup>rd</sup>, 2011 with settlement of all issues, except part of cost allocation. The unsettled issue is described herein and the intervenors have agreed that written submissions on the issue would be appropriate. The failure to settle cost allocation results in the requested rates being subject to the Decision of the Board on the unsettled issue of cost allocation. The Parties are agreed on the methodology used to establish rates.

BCP (the "Applicant"), Energy Probe and VECC (the "Intervenors" and collectively including BCP, the "Parties") participated in the Settlement Conference. Brantford did not participate in the Technical Conference or the Settlement Conference.

The role adopted by the Board Staff in the Settlement Conference is set out on page 5 of the Board's Settlement Conference Guidelines (the "Guidelines"). Although Board Staff is not a party to this Agreement, as noted in the Guidelines, the Board Staff who did participate in the Settlement Conference are bound by the same confidentiality standards that apply to the Parties to the proceeding.

Brant County Power Inc. 2011 Distribution Rate Application EB-2010-0125 Proposed Settlement Agreement

Page 2 of 31

These settlement proceedings are subject to the rules relating to confidentiality and privilege contained in the Guidelines. The parties understand this to mean that the documents and other information provided, the discussion of each issue, the offers and counter-offers, and the negotiations leading to the settlement — or not — of each issue during the Settlement Conference are strictly confidential and without prejudice. None of the foregoing is admissible as evidence in this proceeding, or otherwise, with one exception: the need to resolve a subsequent dispute over the interpretation of any provision of this settlement proposal.

This Agreement represents a complete settlement of all issues with the exception of cost allocation. It is acknowledged and agreed that none of the Parties will withdraw from this Agreement under any circumstances, except as provided under Rule 32.05 of the Board's *Rules of Practice and Procedure*.

The Parties explicitly request that the Board consider and accept this Settlement Agreement as a package. None of the matters in respect of which a settlement has been reached is severable. Numerous compromises were made by the Parties with respect to various matters to arrive at this comprehensive Settlement Agreement. The distinct issues addressed in this proposal are intricately interrelated, and reductions or increases to the agreed-upon amounts may have financial consequences in other areas of this proposal which may be unacceptable to one or more of the Parties. If the Board does not accept the Settlement Agreement in its entirety, then there is no settlement unless the Parties agree that those portions of the Settlement Agreement that the Board does accept may continue as a valid settlement.

It is also agreed that this Settlement Agreement is without prejudice to any of the Parties re-examining these issues in any subsequent proceeding and taking positions inconsistent with the resolution of these issues in this Settlement Agreement. However, none of the Parties will in any subsequent proceeding take the position that the resolution therein of any issue settled in this Settlement Agreement, if contrary to the terms of this Settlement Agreement, should be applicable for all or any part of the 2011 Test Year.

References to the evidence supporting this Agreement on each issue are set out in each section of the Agreement. The Appendices to the Settlement Agreement provide further evidentiary support. The Parties agree that this Settlement Agreement and the Appendices form part of the record in EB-2010-0125. The Appendices were prepared by the Applicant. The Intervenors are relying on the accuracy and completeness of the Appendices in entering into this Agreement.

There is no approved issues list for this proceeding. However, for the purposes of organizing this Settlement Agreement, and without prejudice to the positions of the Parties with respect to the issues that might otherwise be considered in this proceeding should a hearing be required, the Parties have followed the issues list set out at Appendix "A" to this Settlement Agreement.

The appendices attached to this Settlement Agreement are:

- "A"- Issues List
- "B.1" 2011 Tariff of Rates and Charges BCP Methodology
- "B.2" 2011 Tariff of Rates and Charges Intervenor Methodology
- "C.1" Bill Impact Summaries per BCP Cost Allocation Methodology
- "C.2" Bill Impact Summaries per Intervenor Cost Allocation Methodology
- "D.1" Bill Impact Comparison (Application vs. Settlement) using BCP Cost Allocation
- "D.2" Bill Impact Comparison (Application vs. Settlement) using Intervenor Cost Allocation
- "E" BCP 2011 Revenue Sufficiency
- "F.1" BCP 2011 Revenue Requirement Work Form (BCP Cost Allocation)
- "F.2" BCP 2011 Revenue Requirement Work Form (Intervenor Cost Allocation)
- "G" BCP 2011 Schedule of Cost of Capital
- "H" BCP 2011 Summary of Rate Base
- "I" BCP 2011 Appendix 2-N Depreciation
- "J" BCP 2011 PILs and CCA Mappings
- "K" BCP 2011 OM&A Expenses
- "L" Cost of Power, Low Voltage and Retail Transmission Service Rates
- "M" Deferral and Variance Accounts
- "N" LRAM and SSM

#### **SUMMARY**

The Application is BCP's first cost of service rebasing rate application based upon a forward test year. The Application provides an overall reduction in revenue requirement and includes capital and O&M expenditures necessary for BCP to provide distribution service to its customers with sufficient high quality of service on a reliable basis.

The following table summarizes the settlement on the key ratemaking components of the Application:

#### **Summary Comparison (Application vs. Settlement)**

Rate Base (Exhibit 2)	<u>Application</u>	<u>Settlement</u>
Rate Base	\$22,543,447	\$20,850,720
Working Capital Allowance	\$4,034,723	\$4,074,525
Capital Expenditures	\$2,893,154	\$2,774,869
Revenue and Sufficiency (Exhibit		
Other Revenue	\$557,326	\$454,491
Distribution Revenue	\$5,908,802	\$5,718,698
Requirement		
Service Revenue Requirement	\$6,466,128	\$6,173,189
Revenue Sufficiency	\$300,388	\$588,848
Transformer Allowance	\$49,168	\$49,168
Operating Costs (Exhibit 4)		
OM&A	\$3,845,038	\$3,815,249
Amortization/Depreciation	\$896,224	\$869,711
PILs	\$101,127	\$47,527
Cost of Capital and ROR (Exhibit		
Short Term Debt Rate	2.07%	2.46%
Long Term Debt Rate	5.68%	5.32%
Return on Equity	9.85%	9.58%
Cost of Capital	7.20%	6.91%
Capital Structure	4% STD, 56% LTD,	
	40% Equity	40% Equity

#### Cost Allocation (Exhibit 7)

The Parties were able to achieve only a partial settlement of this issue. The Parties settled on the appropriate "starting point" for the revenue to costs ratios ("**R/C ratios**") for all classes by settling the following:

Page **5** of **31** 

- ❖ An adjustment to how the Transformer Ownership Allowance was treated for the purposes of Cost Allocation; and
- ❖ The appropriate demand allocators to be used for the purposed of Cost Allocation.

This is more particularly set out in Appendix C.1 and C.2.

The Parties agreed that the Streetlight and Sentinel Lighting rate classes, whose R/C ratios are 0.108:1.0 (10.8%) and 0.329:1.0 (32.9%), respectively, will each be moved to a final R/C ratio of 0.70:1.0 (70%), that being the lower limit of the Board's range of acceptable R/C ratios for such classes. The parties further agreed that the additional revenue collected as a result of this change in R/C ratios will be applied first to the class most above the R/C ratio of 1.00:1.00 (100%), and thereafter, if and when there is more than 1 class equally above a R/C ratio of 100%, to each of those classes, maintaining similar movement towards a R/C of 100% for each. In the present circumstances, based upon the starting R/C ratios set out in Appendix C.1 and C.2, all of the additional revenue from Streetlighting and Sentinel Lighting will be applied to the GS>50kW rate class. The result of this shift in R/C ratio is set out in Appendix C.2. The Intervenors support the results in Appendix C.2.

Beyond moving to and maintaining the Streetlighting and Sentinel Lighting classes at a R/C of 70% the parties did not agree on the appropriateness of moving the R/C ratios as associated with the other 4 rate classes set out in Appendix C.1. BCP in its Application proposed that each of the rate classes, other than Streetlighting and Sentinel Lighting, would have a 1.02:1.00 (102%) R/C ratio. BCP has since amended its position such that the R/C ratios for Residential, GS<50kW and USL would have a R/C ratio of 1.00:1.00 (100%) and GS>50kW would have revenue to cost ratio of 1.09:1.00 (109%) as set out in Appendix C.1. BCP's position is that such movement is appropriate to bring rate classes to 100% and to reduce the over contribution by the GS>50kW rate class. The Intervenors' position is that, based on the evidence in this Application, no further adjustments beyond those resulting in the R/C ratios set out in Appendix C.2 are appropriate.

The Parties agreed to make written submissions regarding the unsettled issue.

#### Rate Design (Exhibit 8)

#### **Loss Adjustment Factors**

#### **Total Loss Factor**

#### **Secondary Metered Customer**

Total Loss Factor - Secondary Metered Customer < 5,000kW 1.0482

Total Loss Factor - Secondary Metered Customer > 5,000kW 1.0160

#### **Primary Metered Customer**

## Brant County Power Inc. 2011 Distribution Rate Application EB-2010-0125 Proposed Settlement Agreement Page 6 of 31

Total Loss Factor - Primary Metered Customer < 5,000kW 1.0383

Total Loss Factor - Primary Metered Customer > 5,000kW 1.0065

#### **Bill Impacts**

The impacts on the customer are a combination of a decrease in revenue requirement, change in cost allocation among the various rate classes, the impact of the Retail Transmission Service ("RTS") and Low Voltage ("LV") charges, the LRAM/SSM claim and the clearing of the Deferral and Variance Accounts. The Harmonized Sales Tax ("HST") has been applied to customer invoices since July 2010. 2011 is the first year for which HST was factored into the Application.

#### Residential - 800kWh

	APPLICATION		APPLICATION SETTLEMENT BCP R/C		SETTLEMENT INTERVENOR R/C	
Distribution	\$6.18	20.69%	-\$1.79	-5.99%	-\$4.20	-14.06%
Charges Impact						
Total Bill	\$7.26	5.98%	-\$0.11	-0.10%	-\$2.83	-2.45%
Impact						
R/C Ratio	10	)2%	10	0%	93	%

#### GS < 50 kW - 2,000 kWh

	APPLICATION		APPLICATION SETTLEMENT BCP R/C		SETTLEMENT INTERVENOR R/C		
			BCF	R/C	INTERVE	NOK K/C	
Distribution	-\$0.74	-1.32%	-\$13.92	-24.81%	-\$12.50	-22.28%	
Charges Impact							
Total Bill	-\$0.14	-0.05%	-\$11.31	-4.26%	-\$9.71	-3.65%	
Impact							
R/C Ratio	10	)2%	10	0%	102	.8%	

#### Variance and Deferral Accounts (Exhibit 9)

- ❖ No Changes in Methodology.
- ❖ The Parties have agreed that the proposed disposition of the audited deferral and variance accounts amounts up to December 31, 2010 will be part of this Settlement Agreement. Draft (unsigned) audited financial statements were provided to the Intervenors. Formal acceptance of the audited financial statements occurred in the evening of April 6<sup>th</sup>, 2011. BCP can confirm there was a minor change in respect of the dividend but no changes to the variance and deferral accounts. BCP will file a signed copy of the audited financial statements upon receipt from the auditor. The Variance and Deferral Accounts will be disposed of through a rate rider over a period of 12 months.

Brant County Power Inc. 2011 Distribution Rate Application
EB-2010-0125
Proposed Settlement Agreement
Page 7 of 31

#### LRAM and SSM

❖ The Parties agree the proposed LRAM/SSM provided in response to the Interrogatories and Undertaking is appropriate.

#### Other

In addition, the Parties agree to the following as part of this Settlement Agreement:

- 1. In the event that the Board is unable to implement BCP's distribution rates by May 1, 2011, the Intervenors will support a May 1, 2011 effective date for distribution rates.
- 2. The revenue requirement and rate adjustments arising from this Settlement Agreement will allow BCP to make the necessary investments to serve customers, to maintain the integrity of the distribution system, to maintain and improve the quality of its service and to meet all compliance requirements during 2011.
- 3. While BCP has filed budgets for the Test Year that are illustrative of how it would achieve these goals, as is always the case with forward test year cost of service cases, the actual decisions as to how to allocate resources, and in what areas to spend the agreed-upon capital and OM&A, are ones that must be made by the utility during the course of the year, subject to the Board's normal review in subsequent proceedings.

#### **Settlement Terms by Issue**

#### 1. Administration (Exhibit 1)

1 a. Has BCP responded appropriately to all interrogatories, technical conference questions and undertakings?

**Complete Settlement:** For the purpose of settlement the Parties agree that the responses to interrogatories, technical conference questions and undertakings are sufficient for the purposes of the record in this proceeding, with the exception of additional information, relating to the need for the River Crossing capital expenditure.

#### **Evidence:**

Responses to interrogatories (Procedural Order #1).
Responses to Technical Conference Questions ("TCQ").
Responses to Undertakings from Technical Conference ("Undertakings").
2010 Audited Financial Statements

Note: The 2010 Draft Audited Financial Statements were circulated to the Parties on April 5, 2011. The Draft Audited Financial Statements were approved on April 6, 2011 by BCP's Board of Directors on the evening of April 6, 2011. There was 1 minor change regarding the dividend. Signed 2010 Audited Financial Statements will be filed by BCP upon receipt from the auditor.

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 1 b. Is there any key information still missing?

**Complete Settlement:** For the purpose of settlement the Parties agree that the record before the Board is sufficient to support the resolution of those issues as proposed herein, including material filed contemporaneously to the filing of the Settlement Proposal.

**Evidence:** Pre-filed Evidence

Response to Interrogatories

TCO

Undertakings

2010 Audited Financial Statements

**Supporting parties:** BCP, Energy Probe, VECC

Brant County Power Inc. 2011 Distribution Rate Application
EB-2010-0125
Proposed Settlement Agreement
Page 9 of 31

Parties taking no position: None

**Opposing parties:** None

## 1 c. Has BCP responded appropriately to all relevant Board directions from previous proceedings?

**Complete Settlement:** For the purpose of settlement the Parties accept the evidence of BCP that there are no outstanding Board directions from previous proceedings.

Evidence: Exhibit 1, Tab 1, Schedule 9.

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

#### 2. Rate Base (Exhibit 2)

## 2 a. Are BCP's planning assumptions (asset condition, economic, business, etc.) appropriate?

**Complete Settlement:** For the purpose of settlement the Parties agree that BCP's asset condition, economic and business planning assumptions for 2011 are an appropriate and reasonable foundation for the settlement herein.

**Evidence:** Exhibit 1, Tab 2, Schedule 2

Exhibit 2, Tab 1, Schedules 1,2,3,4

Exhibit 2, Tab 2, Schedule 1 Exhibit 2, Tab 3, Schedule 1 Response to Interrogatories

Appendix H

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 2 b. Is the Capital Planning and Budgeting Process appropriate?

**Complete Settlement:** For the purpose of settlement the Parties agree that BCP's capital planning and budgeting process, as it was implemented in respect of the Test Year, was acceptable.

**Evidence:** Exhibit 2, Tab 5, Schedule 1

Exhibit 2, Tab 6, Schedule 1

Response to Interrogatories: Energy Probe #9; VECC#23, 24, 25

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 2 c. Has the Working Capital Allowance been determined appropriately?

**Complete Settlement:** BCP has recalculated the Working Capital Allowance based upon 15% of the Cost of Power and controllable distribution expenses – excluding amortization and PILs. The Working Capital Allowance has been recalculated to

Brant County Power Inc. 2011 Distribution Rate Application

EB-2010-0125

Proposed Settlement Agreement

Page 11 of 31

\$4,074,525. For the purpose of settlement the Parties agree the calculation of the Working Capital Allowance is appropriate.

**Evidence:** Appendices F.1, F.2 and L

Supporting parties: BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 2 d. Are the amounts proposed for Capital Expenditures appropriate?

**Complete Settlement:** For the purpose of settlement the Parties agree that the capital expenditure budget for the Test Year is appropriate. The Parties agreed to the following adjustments to the Capital Expenditures for 2011.

Application Amount	\$2,893,154
Office Furniture	(\$33,705)
MicroFIT	(\$100,000)
GIS Software	\$100,000
Brant Renewable Energy (Prius)	(\$33,580)
Smart Meters	(\$51,000)
Agreed to Capital Expenditure	<u>\$2,774,869</u>

To support this Settlement Agreement, Intervenors requested additional information be included to explain the capital expenditure related to the River Crossing. The following information was provided by BCP orally during the Settlement Conference to the Intervenors.

BCP has proposed to install a crossing of the Grand River in its capital program for the year 2011. The amount included in rates is \$825,000 which is the most recent estimate available to BCP from its independent third party engineer. BCP's distribution system is effectively bisected by the Grand River. The proposed River Crossing is intended to do the following:

- 1. Allow for better balancing of the feeders to off-load feeders that are nearing maximum capacity.
- 2. Permit future conversion of part of the existing distribution system to 27.6 kV to further reduce losses.

Page 12 of 31

- 3. Provide a second supply to areas of BCP's distribution territory which will reduce outage impacts.
- 4. Reduce LV charges resulting from the current loading and feeds into the BCP distribution system.
- 5. Permit future growth in the southern part of BCP's service territory where a future industrial subdivision has been proposed.

**Evidence:** Exhibit 2, Tab 5, Schedule 1.

Response to Interrogatories: Energy Probe #8;

Undertakings: JT1.7

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 2 e. Are the amounts proposed for the Rate Base appropriate?

**Complete Settlement:** For the purpose of settlement the Parties agree the revised net fixed asset amount of \$15,915,137 is appropriate. The Rate Base does not include monies related to Smart Meters. The Parties agreed to the following adjustments to the Application related to Brant Renewable Energy ("**BRE**"): (i) removal of assets related to generation; and (ii) removal of the allocated portion of the Prius. BCP removed capital expenditures related to Smart Meters, \$1,337,547 in 2010 and \$51,000 in 2011, from the Application and will seek recovery of such in a future proceeding. Consequential changes to depreciation related to changes were also made.

Net Fixed Assets (excluding Smart Meters)	\$16,010,000
Adjustments:	
❖ Brant Renewable Energy ("BRE")	(\$88,147)
❖ BRE (allocated car – Prius)	(\$6,716)
Net Fixed Assets Settlement Amount	\$15,915,137
(excluding consequential depreciation)	

**Evidence:** Exhibit 2, Tab 1, Schedules 1,2,3,4

Exhibit 2, Tab 2, Schedules 1 Exhibit 2, Tab 3, Schedules 1 Exhibit 2, Tab 4, Schedules 1 Exhibit 2, Tab 5, Schedules 1

Response to Interrogatories: Energy Probe #5;

## Brant County Power Inc. 2011 Distribution Rate Application EB-2010-0125 Proposed Settlement Agreement Page 13 of 31

TCQ: Board Staff #4, 5, 6; Energy Probe #3, 4, 5 Undertakings: JT1.7 Appendix H

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 2 f. Are the amounts proposed for Depreciation appropriate?

**Complete Settlement:** For the purpose of settlement the Parties accept the revised depreciation calculation provided in Appendix I. BCP uses the Board's approved depreciation rates and policies.

**Evidence:** Exhibit 2, Tab 3, Schedules 1

Response to Interrogatories: TCQ: Energy Probe #3;

Appendix I

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

#### 3. Loads, Customers – Throughput Revenue (Exhibit 3)

3a. Are the customer and load forecasts (including methodology and weather normalization) appropriate?

**Complete Settlement:** For the purpose of settlement the Parties accept the incremental customer forecast, utilizing the December 31, 2010 actual customer count as a base, and have agreed to a load forecast of 282.5 GWh. The Parties have agreed to the allocation of such load forecast as provided. Loads will be allocated as set out in the Application. The number of customers as at December 31, 2010 and the forecast change are as follows:

Rate Classification	Actual Customer Count Dec. 31,2010	Forecast Change 2011
Residential	8,215	120
GS<50kW	1,337	1
GS>50kW	115	-3

**Evidence:** Exhibit 3, Tab 2, Schedules 1,2,3

Exhibit 8, Tab 1, Schedule 2

Response to Interrogatories: Board Staff #23; Energy Probe #13, 15, 28;

VECC #4,

TCQ: Energy Probe #7, 8, 14, 15; VECC#3

Undertakings: JT1.8

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 3 b. Is the impact of CDM initiatives suitably reflected in the load forecast?

**Complete Settlement:** For the purpose of settlement the Parties agree that CDM impacts have been suitably reflected in the load forecast.

**Evidence:** Exhibit 3, Tab 2, Schedules 1,2,3

Interrogatories: Board Staff #13; Energy Probe 13, VECC# 4;

TCQ: Energy Probe #9, 10, VECC#3, 4(a);

Undertakings JT1.1, JT1.2, JT1.3, JT1.5, JT1.6, JT1.10, JT1.11

Brant County Power Inc. 2011 Distribution Rate Application
EB-2010-0125
Proposed Settlement Agreement
Page 15 of 31

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 3 c. Are the proposed Loss Factors suitably reflected in the load forecast?

**Complete Settlement:** For the purpose of settlement the Intervenors accept the evidence of BCP that the proposed Loss Factors have been suitably reflected in the load forecast. BCP has used a loss factor of 4.82% based upon 2009 actual losses which is the lowest loss factor experienced over the period 2005-2009.

**Evidence:** Exhibit 3, Tab 2, Schedules 1,2,3

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 3 d. Is the proposed amount for Other Revenue appropriate?

**Complete Settlement:** For the purpose of settlement the Parties agree that Other Revenue of \$454,491 is appropriate. BCP had included in the Application Other Revenue of \$557,326. The Parties have further agreed to adjust the Other Revenue from the Application as follows:

- (i) remove the revenue from Brant Renewable Energy ("BRE"), a division of BCP, in the amount of \$135,000 which represents revenue from generation related activities;
- (ii) include \$2,000 related to the sale of two vehicles; and
- (iii) include \$30,165 related to the SSS Administrative Revenue.

**Evidence:** Exhibit 3, Tab 1, Schedule 1,2,3

Exhibit 3, Tab 2, Schedule 1,2,3 Exhibit 3, Tab 3, Schedule 1,2,3

Interrogatories: Energy Probe #16; VECC 21(b),

TCQ: Energy Probe #11, 16

Brant County Power Inc. 2011 Distribution Rate Application EB-2010-0125

Proposed Settlement Agreement

Page 16 of 31

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 3 e. Are the Specific Service Charges appropriate?

**Complete Settlement:** For the purpose of settlement the Parties accept that the proposed Specific Service Charges and associated revenues from Specific Service Charges are appropriate. BCP used the Specific Service Charges established by the Board.

**Evidence:** Exhibit 3, Tab 3, Schedule

Appendix F.1 and F.2

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

### 3 f. Is the calculation of the proposed Service and Distribution Revenue Requirements appropriate?

**Complete Settlement:** For the purpose of settlement the Parties accept BCP's calculation of the proposed Service and Distribution Revenue Requirements as set forth in Appendix F.1 and F.2 to this Agreement.

**Evidence:** Exhibit 3, Tab 1, Schedules 1,2,3

Exhibit 3, Tab 2, Schedules 1,2,3 Exhibit 3, Tab 3, Schedules 1,2 Interrogatories: VECC #2

TCQ: VECC #2,

Appendix F.1 and F.2

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

#### 4. Operating Costs (Exhibit 4)

4a. Are the proposed Shared Services (including methodologies and Service Agreements) appropriate?

**Complete Settlement:** For the purpose of settlement the Parties have agreed that the methodologies and resulting amounts are appropriate as detailed in 4(b) through 4(e) below.

**Evidence:** Exhibit 4, Tab 5, Schedule 1

Exhibit 4, Tab 6, Schedule 1

Response to Interrogatories: VECC #20(c), 21(b),

TCQ: VECC #13, 14

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 4 b. Are the Staffing Resources and related costs appropriate?

**Complete Settlement:** For the purpose of settlement the Parties have agreed the level and associated costs of Staffing Resources are appropriate, with one exception.

As part of the settlement the parties have agreed that 1 Full-Time Equivalent ("FTE") associated with Green Energy Act initiatives will be allocated 80% to regulated activities and 20% to BRE (non-regulated generation activities), with an associated reduction in OM&A of \$16,289 (= 0.2x\$81,445). The 1 FTE is charged with advocating, educating and assisting customers about green energy initiatives. In addition, the 1 FTE will be responsible for helping BRE, a division of BCP, with developing renewable generation projects. The Parties agree the generating activities are to be separated from the distribution activities.

BCP has agreed to provide timesheet based evidence in the next rebasing application as to the actual allocation of time by such FTE between regulated and non-regulated activities.

**Evidence:** Exhibit 4, Tab 4, Schedule 1

Exhibit 4, Tab 9, Schedule 4 Interrogatories: VECC#28(a);

TCQ: Board Staff #7; Energy Probe #6; VECC #15

**Supporting parties:** BCP, Energy Probe, VECC

Brant County Power Inc. 2011 Distribution Rate Application
EB-2010-0125
Proposed Settlement Agreement
Page 18 of 31

Parties taking no position: None

**Opposing parties:** None

#### 4 c. Is BCP's capitalization policy and depreciation (policy and expenses) appropriate?

**Complete Settlement:** BCP utilizes the Board established rates for depreciation. BCP has re-calculated, in Appendix I, the depreciation incorporating the change to the capital expenditures. For the purpose of settlement the Parties accept for the Test Year the revised depreciation amount and the current BCP capitalization policy.

**Evidence:** Appendix I

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 4 d. Is the Payment in Lieu of Taxes (including methodology) appropriate?

**Complete Settlement:** For the purpose of settlement the Parties accept BCP's approach to the calculation of PILs, including the changes described herein, as appropriate. The Intervenors are relying upon the accuracy of the calculation provided by BCP.

BCP removed the Capital Tax and amended the tax rate from the Application and the PIL's has been re-calculated in Appendix F and J to reflect such changes.

**Evidence:** Exhibit 4, Tab 8, Schedule 1

Undertakings: JT1.14 TCQ: Board Staff #8; Appendix F.1, F.2 and J

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

Brant County Power Inc. 2011 Distribution Rate Application
EB-2010-0125
Proposed Settlement Agreement
Page 19 of 31

#### 4 e. Are the overall levels of OM&A budgets appropriate?

**Complete Settlement:** BCP has recalculated the OM&A as provided in Appendix K. For the purpose of settlement the Parties accept the revised OM&A as appropriate for the test year. The re-calculations include the allocation of certain costs related to the 1-FTE assigned to BRE (\$16,289) being 20% of the annual cost, BRE advertising (\$10,000) and insurance related to BRE (\$3,500) along with consequential changes to depreciation.

**Evidence:** Exhibit 4, Tab 4, Schedule 1

Exhibit 4, Tab 9, Schedule 1

TCQ: Board Staff#1,

Appendix K

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

#### 5. Cost of Capital and Rate of Return

#### 5 a. Is the proposed Capital structure appropriate?

Complete Settlement: BCP has proposed the use of the Board's deemed capital structure for the purpose of setting rates. For the purpose of settlement the Parties accept the proposed capital structure for the test year. The Capital structure is: 40% Equity; 56% Long-Term Debt; and 4% Short-Term Debt.

**Evidence:** Exhibit 5, Tab 1, Schedule 1, 2 and 3.

Appendix G

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 5 b. Is the Cost of Debt appropriate?

**Complete Settlement:** BCP has proposed the use of the Board's deemed cost of debt for both short and long term debt for the purpose of setting rates. BCP has deemed short term debt to comprise 4% of the capital structure at a rate of 2.46% and long term debt to comprise 56% of the capital structure at a rate of 5.32% as provided by the Ontario Energy Board in its letter dated March 3, 2011 – Cost of Capital Parameter Updates for 2011 Cost of Service Applications for Rates effective May 1, 2011. For the purpose of settlement the Parties accept the proposed cost of debt as appropriate for the test year.

**Evidence:** Exhibit 5, Tab 1, Schedule 3

Interrogatories: VECC #19;

TCO: VECC#12, Appendix G

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

Brant County Power Inc. 2011 Distribution Rate Application
EB-2010-0125
Proposed Settlement Agreement
Page 21 of 31

#### 5 c. Is the proposed Rate of Return on Equity appropriate?

**Complete Settlement:** In the Application BCP had used the Board's existing Return on Equity ("**ROE**") of 9.85% subject to being updated by the Board. For the purpose of setting rates, BCP has utilized the adjusted ROE of 9.58% as provided by the Ontario Energy Board in its letter dated March 3, 2011 – *Cost of Capital Parameter Updates for 2011 Cost of Service Applications for Rates effective May 1, 2011.* For the purpose of settlement the Parties agree to the use of the said ROE for the Test Year for the calculation.

**Evidence:** Exhibit 5, Tab 1, Schedule 1, 2 and 3

Appendix F.1, F.2 and G

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

Brant County Power Inc. 2011 Distribution Rate Application
EB-2010-0125
Proposed Settlement Agreement
Page 22 of 31

#### 6. Calculation of Revenue Deficiency or Sufficiency (Exhibit 6)

#### 6 a. Is the calculation of Revenue Deficiency/Sufficiency appropriate?

**Complete Settlement:** For the purpose of settlement the Parties accept the calculation of revenue sufficiency as set out in Appendix E attached.

**Evidence:** Exhibit 6, Tab 1, Schedule 1

Appendix E.

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

#### 7. Cost Allocation (Exhibit 7)

#### 7 a. Is BCP's cost allocation appropriate?

**Complete Settlement:** For the purpose of settlement the Parties agreed on the appropriate "starting point" for the R/C ratios for all classes by settling the following:

- ❖ An adjustment to how the Transformer Ownership Allowance was treated for the purposes of Cost Allocation; and
- ❖ The appropriate demand allocators to be used for the purposed of Cost Allocation.

This is more particularly set out in.

**Evidence:** Exhibit 7, Tab 1, Schedule 1,2,3

Exhibit 7, Tab 1, Schedule 1,2

Appendix C.1 and C.2

**Supporting parties:** BCP, Energy Probe, VECC

**Parties taking no position:** None

**Opposing parties:** None

#### 7 b. Are the proposed revenue-to-cost ratios appropriate?

**Partial Settlement:** The Parties were able to achieve only a partial settlement of this issue.

The Parties agreed that the Streetlight and Sentinel Lighting rate classes, whose R/C ratios are 0.108:1.0 (10.8%) and 0.329:1.0 (32.9%), respectively, will each be moved to a final R/C ratio of 0.70:1.0 (70%), that being the lower limit of the Board's range of acceptable R/C ratios for such classes. The Parties further agreed that the additional revenue collected as a result of this change in R/C ratios will be applied first to the class most above the R/C ratio of 1.00:1.00 (100%), and thereafter, if and when there is more than 1 class equally above a R/C ratio of 100%, to each of those classes, maintaining similar movement towards a R/C of 100% for each. In the present circumstances, based upon the starting R/C ratios set out in Appendix C.1 and C.2, all of the additional revenue from Streetlighting and Sentinel Lighting will be applied to the GS>50kW rate class. The result of this shift in R/C ratio is set out in Appendix C.2. The Intervenors support the results in Appendix C.2.

Beyond moving to and maintaining the Streetlighting and Sentinel Lighting classes at a R/C of 70% the parties did not agree on the appropriateness of moving the R/C ratios as associated with the other 4 rate classes set out in Appendix C.1. BCP in its Application

proposed that each of the rate classes, other than Streetlighting and Sentinel Lighting, would have a 1.02:1.00 (102%) R/C ratio. BCP has since amended its position such that the R/C ratios for Residential, GS<50kW and USL would have a R/C ratio of 1.00:1.00 (100%) and GS>50kW would have revenue to cost ratio of 1.09:1.00 (109%) as set out in Appendix C.1. BCP's position is that such movement is appropriate to bring rate classes to 100% and to reduce the over contribution by the GS>50kW rate class. The Intervenors' position is that, based on the evidence in this Application, no further adjustments beyond those resulting in the R/C ratios set out in Appendix C.2 are appropriate.

The Parties agreed to make written submissions regarding the unsettled issue.

Rate Class	Existing	BCP Proposed	Intervenor
	Revenue to Cost	Revenue to Cost	Proposed Revenue
	Ratio	Ratio	to Cost Ratio
Residential	92.38%	100%	92.38%
GS<50kW	102.77%	100%	102.77%
GS>50kW	142.14%	109.15%	124.62%
Streetlighting	10.75%	70%	70%
Sentinel Lighting	32.88%	70%	70%
USL	117.57%	100%	117.57%

**Evidence:** Exhibit 7, Tab 3, Schedule 1

Appendix C.1 and C.2

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

#### 8. Rate Design (Exhibit 8)

#### 8 a. Are the customer charges and the fixed-variable splits for each class appropriate?

**Complete Settlement:** For the purpose of settlement the Parties accept the customer charges and agree that the fixed-variable splits for each class as detailed in the attached Appendices will not change.

Evidence: Exhibit 8, Tab 1, Schedules 1,2,3,4,5,6,7

Appendix C.1 and C.2

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 8 b. Is BCP's proposed Tariff of Rates and Charges appropriate?

**Partial Settlement:** The Intervenors are entering into this Agreement in reliance on BCP's representation that BCP's proposed Tariff of Rates and Charges for each of BCP and the Intervenor's proposals with respect to the unsettled issue related to Cost Allocation correctly reflects the terms of this Agreement. The Parties accept that the Board may choose either or neither of the cost allocation proposals. The Parties have agreed on the methodology for calculating the rates and the final rates will be determined based upon the Board's Decision on the unsettled issue.

Evidence: Appendix B.1 and B.2

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 8 c. Are the customer bill impacts appropriate?

**Complete Settlement:** BCP has attached a summary of customer bill impacts resulting from all adjustments and changes contained within this settlement agreement. As the unsettled cost allocation has an impact on rates, BCP has provided customer bill impacts for each of BCP and the Intervenors' proposed cost allocation. The Intervenors are

Brant County Power Inc. 2011 Distribution Rate Application

EB-2010-0125

Proposed Settlement Agreement

Page 26 of 31

relying upon the accuracy of the calculations provided by BCP. For the purpose of settlement the Parties agree that the customer bill impacts for each proposal for the test year is acceptable within the context of the resulting rates, notwithstanding the Parties' positions regarding the impact of each proposal in and of itself.

**Evidence:** Appendices C.1, C.2, D.1 and D.2

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 8 d. Are the proposed Retail Transmission Service and Low Voltage rates appropriate?

**Complete Settlement:** The Retail Transmission Service and Low Voltage rates have been set based upon the HONI and Brantford Retail Transmission Service and Low Voltage charges. For the purpose of settlement the Parties accept the proposed Retail Transmission Service and Low Voltage rates as set out in Appendix L.

**Evidence:** Appendix L

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

**Opposing parties:** None

#### 8 e. Is the Smart Meter funding adder appropriate?

**Complete Settlement:** For the purpose of settlement the Parties accept the continued use of the \$1.00 per month Smart Meter Funding Adder.

**Evidence:** Exhibit 1, Tab 2, Schedule 1

Exhibit 8, Tab 1, Schedules 1 and 5

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

Brant County Power Inc. 2011 Distribution Rate Application
EB-2010-0125
Proposed Settlement Agreement
Page 27 of 31

#### 8 f. Is the resulting Distribution Revenue appropriate?

**Complete Settlement:** The Intervenors have relied on the calculation of distribution revenue by BCP as set out in Appendix F attached. For the purpose of settlement the Parties agree the calculation is appropriate.

**Evidence:** Appendix F.1 and F.2

Supporting parties: BCP, Energy Probe, VECC

Parties taking no position: None

#### 9. <u>Deferral and Variance Accounts (Exhibit 9)</u>

9. Is the proposal for the amounts, disposition and continuance of BCP's Deferral and Variance accounts appropriate?

Complete Settlement: For the purpose of settlement the Parties agree that the proposed disposition of the audited deferral and variance accounts up to December 31, 2010 will be part of this Settlement Agreement. The values were provided to the Intervenors and supported by the draft audited financial statements. Formal acceptance of the Auditor's report for BCP occurred April 6<sup>th</sup>, 2011. Signed audited financial statements will be filed on the Board's RESS as soon as the statements are available. BCP will confirm whether any changes from the Draft 2010 Audited Financial Statements are necessary for the Final Audited Financial Statements. The Variance and Deferral Accounts will be disposed of through a rate rider over a period of 12 months.

**Evidence:** Exhibit 9, Tabs 1, Schedule 1, 2, 3 and 4

TCQ: VECC #5, 14(a);

2010 Audited Financial Statements

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

#### 10. LRAM and SSM (Exhibit 10)

#### 10. Is the proposal for the LRAM and SSM appropriate?

**Complete Settlement:** For the purpose of settlement the Parties agree to accept the updated LRAM and SSM as appropriate.

**Evidence:** Exhibit 10, Tab 1, Schedules 1 & 2

Interrogatories: VECC #15, 16;

TCQ: VECC#10, 11

Appendix N

**Supporting parties:** BCP, Energy Probe, VECC

Parties taking no position: None

#### Appendix A

#### **Issues List**

- 1 a. Has BCP responded appropriately to all interrogatories, technical conference questions and undertakings?
- 1 b. Is there any key information still missing?
- 1 c. Has BCP responded appropriately to all relevant Board directions from previous proceedings?
- 2 a. Are BCP's planning assumptions (asset condition, economic, business, etc.) appropriate?
- 2 b. Is the Capital Planning and Budgeting Process appropriate?
- 2 c. Has the Working Capital Allowance been determined appropriately?
- 2 d. Are the amounts proposed for Capital Expenditures appropriate?
- 2 e. Are the amounts proposed for the Rate Base appropriate?
- 2 f. Are the amounts proposed for Depreciation appropriate?
- 3a. Are the customer and load forecasts (including methodology and weather normalization) appropriate?
- 3 b. Is the impact of CDM initiatives suitably reflected in the load forecast?
- 3 c. Are the proposed Loss Factors suitably reflected in the load forecast?
- 3 d. Is the proposed amount for Other Revenue appropriate?
- 3 e. Are the Specific Service Charges appropriate?
- 3 f. Is the calculation of the proposed Service and Distribution Revenue Requirements appropriate?
- 4a. Are the proposed Shared Services (including methodologies and Service Agreements) appropriate?
- 4 b. Are the Staffing Resources and related costs appropriate?
- 4 c. Is BCP's capitalization policy and depreciation (policy and expenses) appropriate?
- 4 d. Is the Payment in Lieu of Taxes (including methodology) appropriate?

## Brant County Power Inc. 2011 Distribution Rate Application EB-2010-0125

Proposed Settlement Agreement

Page 31 of 31

- 4 e. Are the overall levels of OM&A budgets appropriate?
- 5 a. Is the proposed Capital structure appropriate?
- 5 b. Is the Cost of Debt appropriate?
- 5 c. Is the proposed Rate of Return on Equity appropriate?
- 6 a. Is the calculation of Revenue Deficiency appropriate?
- 7 a. Is BCP's cost allocation appropriate?
- 7 b. Are the proposed revenue-to-cost ratios appropriate?
- 8 a. Are the customer charges and the fixed-variable splits for each class appropriate?
- 8 b. Is BCP's proposed Tariff of Rates and Charges appropriate?
- 8 c. Are the customer bill impacts appropriate?
- 8 d. Are the proposed Retail Transmission Service and Low Voltage rates appropriate?
- 8 e. Is the Smart Meter funding adder appropriate?
- 8 f. Is the resulting Distribution Revenue appropriate?
- 9. Is the proposal for the amounts, disposition and continuance of BCP's Deferral and Variance accounts appropriate?
- 10. Is the proposal for LRAM and SSM appropriate?

## Appendix B.1 2011 Tariff of Rates and Charges – BCP Methodology

## Brant County Power Inc. TARIFF OF RATES AND CHARGES

Effective and Implementation Date May 1, 2011

### This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

#### RESIDENTIAL SERVICE CLASSIFICATION

This classification applies to an account taking electricity at 750 volts or less where the electricity is used exclusively in a separate metered living accommodation. Customers shall be residing in single-dwelling units that consist of a detached house or one unit of a semi-detached, duplex, triplex or quadruplex house, with a residential zoning. Separately metered dwellings within a town house complex or apartment building also qualify as residential customers. All customers are single-phase. Further servicing details are available in the distributor's Conditions of Service.

#### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes

#### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge	\$	11.00
Smart Meter Funding Adder	\$	1.00
Distribution Volumetric Rate	\$/kWh	0.0237
Low Voltage Service Rate	\$/kWh	0.0024
Retail Transmission Rate – Network Service Rate	\$/kWh	0.0065
Retail Transmission Rate – Line and Transformation Connection Service		
Rate	\$/kWh	0.0043
LRAM & SSM Rate Rider	\$/kWh	0.0024
Deferral / Variance Account Rate Rider	\$/kWh	-0.0084
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

#### **MONTHLY RATES AND CHARGES – Regulatory Component**

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

## Brant County Power Inc. TARIFF OF RATES AND CHARGES

Effective and Implementation Date May 1, 2011

### This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

#### GENERAL SERVICE LESS THAN 50 kW SERVICE CLASSIFICATION

This classification applies to a non-residential account taking electricity at 750 volts or less whose average monthly maximum demand is less than, or is forecast to be less than, 50 kW. Further servicing details are available in the distributor's Conditions of Service.

#### APPLICATION

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

#### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge	\$	17.00
Smart Meter Funding Adder	\$	1.00
Distribution Volumetric Rate	\$/kWh	0.0170
Low Voltage Service Rate	\$/kWh	0.0024
Retail Transmission Rate – Network Service Rate	\$/kWh	0.0060
Retail Transmission Rate - Line and Transformation Connection Service	<b>:</b>	
Rate	\$/kWh	0.0038
LRAM & SSM Rate Rider	\$/kWh	0.0015
Deferral / Variance Account Rate Rider	\$/kWh	-0.0088
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

#### **MONTHLY RATES AND CHARGES – Regulatory Component**

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

## Brant County Power Inc. TARIFF OF RATES AND CHARGES Effective and Implementation Date May 1, 2011

### This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

#### GENERAL SERVICE 50 to 4,999 kW SERVICE CLASSIFICATION

This classification applies to a non-residential account whose average monthly maximum demand used for billing purposes is equal to or greater than, or is forecast to be equal to or greater than, 50 kW but less than 5,000 kW. Note that for the application of the Retail Transmission Rate – Network Service Rate and the Retail Transmission Rate – Line and Transformation Connection Service Rate the following subclassifications apply:

General Service 50 to 1,000 kW non-interval metered General Service 50 to 1,000 kW interval metered General Service >1,000 to 5, 000 kW interval metered. Further servicing details are available in the distributor's Conditions of Service.

#### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable. It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

Effective and Implementation Date May 1, 2011

### This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### **MONTHLY RATES AND CHARGES – Delivery Component**

	Service Charge	\$	95.00
	Smart Meter Funding Adder	\$	1.00
	Distribution Volumetric Rate	\$/kW	3.2855
	Low Voltage Service Rate	\$/kW	1.1222
	Retail Transmission Rate – Network Service Rate	\$/kW	2.4041
	Retail Transmission Rate - Line and Transformation Connection Service		
	Rate	\$/kW	1.5570
	Retail Transmission Rate – Network Service Rate – Interval		
	Metered <1,000 kW Rate	\$/kW	2.5503
	Retail Transmission Rate – Line and Transformation Connection		
	Service Rate – Interval Metered <1,000 kW	\$/kW	1.7207
	Retail Transmission Rate – Network Service Rate –		
	Interval Metered >1,000 kW	\$/kW	2.5532
	Retail Transmission Rate – Line and Transformation Connection		
	Service Rate- Interval Metered >1,000 kW	\$/kW	1.7068
	LRAM & SSM Rate Rider	\$/kW	0.0067
	Deferral / Variance Account Rate Rider (excl GA)	\$/kW	-3.6922
	Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075
_			
	ILY RATES AND CHARGES – Regulatory Component	<b>.</b>	
	Wholesole Market Comice Date	いルハハル	0.00E0

### MONTH

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### UNMETERED SCATTERED LOAD SERVICE CLASSIFICATION

This classification applies to an account taking electricity at 750 volts or less whose average monthly maximum demand is less than, or is forecast to be less than, 50 kW and the consumption is unmetered. Such connections include cable TV power packs, bus shelters, telephone booths, traffic lights, railway crossings, etc. The level of the consumption will be agreed to by the distributor and the customer, based on detailed manufacturer information/ documentation with regard to electrical consumption of the unmetered load or periodic monitoring of actual consumption. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge (per connection)	\$	2.00
Distribution Volumetric Rate	\$/kWh	0.0187
Low Voltage Service Rate	\$/kWh	0.0024
Retail Transmission Rate – Network Service Rate	\$/kWh	0.0060
Retail Transmission Rate – Line and Transformation Connection		
Service Rate	\$/kWh	0.0038
LRAM & SSM Rate Rider	\$/kWh	0.0015
Deferral / Variance Account Rate Rider	\$/kWh	-0.0088
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### SENTINEL LIGHTING SERVICE CLASSIFICATION

This classification applies to safety/security lighting with a Residential, General Service or Large Use customer. This is typically exterior lighting, and unmetered. Consumption is estimated based on the equipment rating and estimated hours of use. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable. It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge (per connection)	\$	2.00
Distribution Volumetric Rate	\$/kW	29.8835
Low Voltage Service Rate	\$/kW	0.7192
Retail Transmission Rate – Network Service Rate	\$/kW	1.8222
Retail Transmission Rate – Line and Transformation Connection		
Service Rate	\$/kW	1.2289
LRAM & SSM Rate Rider	\$/kW	-0.0122
Deferral / Variance Account Rate Rider	\$/kW	-2.6584
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### STREET LIGHTING SERVICE CLASSIFICATION

This classification applies to an account for roadway lighting with a Municipality, Regional Municipality, Ministry of Transportation and private roadway lighting, controlled by photo cells. The consumption for these customers will be based on the calculated connected load times the required lighting times established in the approved OEB street lighting load shape template. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable. It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge (per connection)	\$	1.50
Distribution Volumetric Rate	\$/kW	43.9802
Low Voltage Service Rate	\$/kW	0.8406
Retail Transmission Rate – Network Service Rate	\$/kW	1.8132
Retail Transmission Rate – Line and Transformation Connection Service Rate	\$/kW	1.2036
LRAM & SSM Rate Rider	\$/kW	0.8746
Deferral / Variance Account Rate Rider	\$/kW	-2.1139
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### microFIT GENERATOR SERVICE CLASSIFICATION

This classification applies to an electricity generation facility contracted under the Ontario Power Authority's microFIT program and connected to the distributor's distribution system. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **MONTHLY RATES AND CHARGES - Delivery Component**

Service Charge \$ 5.25

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### **ALLOWANCES**

Transformer Allowance for Ownership - per kW of billing demand/month \$	(0.60)	
Primary Metering Allowance for transformer losses – applied to measured demand		
and energy	%	(1.00)

### SPECIFIC SERVICE CHARGES

### APPLICATION

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **Customer Administration**

Arrears certificate	\$ 15.00
Statement of account	\$ 15.00
Pulling post-dated cheques	\$ 15.00
Duplicate invoices for previous billing	\$ 15.00
Request for other billing information	\$ 15.00
Easement letter	\$ 15.00
Income tax letter	\$ 15.00
Notification charge	\$ 15.00
Account history	\$ 15.00
Credit reference/credit check (plus credit agency costs)	\$ 15.00
Returned cheque charge (plus bank charges)	\$ 15.00
Charge to certify cheque	\$ 15.00
Legal letter charge	\$ 15.00
Account set up charge/change of occupancy charge	
(plus credit agency costs if applicable)	\$ 30.00
Special meter reads	\$ 30.00
Meter dispute charge plus Measurement Canada fees (if meter found correct)	\$ 30.00

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### Non-Payment of Account

Late Payment - per month	%	1.50
Late Payment - per annum	%	19.56
Collection of account charge – no disconnection	\$	30.00
Collection of account charge – no disconnection – after regular hours	\$	165.00
Disconnect/Reconnect Charge at Meter – during regular hours	\$	65.00
Disconnect/Reconnect Charges at Meter – after regular hours	\$	185.00
Disconnect/Reconnect Charge at Pole – during regular hours	\$	185.00
Disconnect/Reconnect Charges at Pole – after regular hours	\$	415.00
Service call – customer-owned equipment	\$	30.00
Service call – after regular hours	\$	165.00
Temporary service install and remove – overhead – no transformer	\$	500.00
Temporary service install and remove – underground – no transformer	\$	300.00
Temporary service install and remove – overhead – with transformer	\$	1000.00
Rural system expansion / line connection fee	\$	500.00
Specific Charge for Access to the Power Poles – per pole/year	\$	22.35

### **RETAIL SERVICE CHARGES (if applicable)**

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

Retail Service Charges refer to services provided by a distributor to retailers or customers related to the supply of competitive electricity

One-time charge, per retailer, to establish the service agreement between	
the distributor and the retailer	\$ 100.00
Monthly Fixed Charge, per retailer	\$ 20.00

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

	EB-20	)10-0125
Monthly Variable Charge, per customer, per retailer	\$/cust.	0.50
Distributor-consolidated billing charge, per customer, per retailer	\$/cust.	0.30
Retailer-consolidated billing credit, per customer, per retailer Service Transaction Requests (STR)	\$/cust.	(0.30)
Request fee, per request, applied to the requesting party	\$	0.25
Processing fee, per request, applied to the requesting party	\$	0.50
Request for customer information as outlined in Section 10.6.3 and Chapter 11 of the Retail Settlement Code directly to retailers and customers, if not delivered electronically through the Electronic Business Transaction (EBT) system, applied to the requesting party		
Up to twice a year		no
charge		
More than twice a year, per request (plus incremental delivery costs)	\$	2.00

### **LOSS FACTORS**

If the distributor is not capable of prorating changed loss factors jointly with distribution rates, the revised loss factors will be implemented upon the first subsequent billing for each billing cycle.

Total Loss Factor – Secondary Metered Customer < 5,000 kW	1.0482
Total Loss Factor – Secondary Metered Customer > 5,000 kW	1.0160
Total Loss Factor – Primary Metered Customer < 5,000 kW	1.0383
Total Loss Factor – Primary Metered Customer > 5,000 kW	1.0065

### Appendix B.2 2011 Tariff of Rates and Charges – Intervenor Methodology

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### RESIDENTIAL SERVICE CLASSIFICATION

This classification applies to an account taking electricity at 750 volts or less where the electricity is used exclusively in a separate metered living accommodation. Customers shall be residing in single-dwelling units that consist of a detached house or one unit of a semi-detached, duplex, triplex or quadruplex house, with a residential zoning. Separately metered dwellings within a town house complex or apartment building also qualify as residential customers. All customers are single-phase. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes

### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge	\$	11.00
Smart Meter Funding Adder	\$	1.00
Distribution Volumetric Rate	\$/kWh	0.0207
Low Voltage Service Rate	\$/kWh	0.0024
Retail Transmission Rate – Network Service Rate	\$/kWh	0.0065
Retail Transmission Rate – Line and Transformation Connection Service		
Rate	\$/kWh	0.0043
LRAM & SSM Rate Rider	\$/kWh	0.0024
Deferral / Variance Account Rate Rider	\$/kWh	-0.0084
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### GENERAL SERVICE LESS THAN 50 kW SERVICE CLASSIFICATION

This classification applies to a non-residential account taking electricity at 750 volts or less whose average monthly maximum demand is less than, or is forecast to be less than, 50 kW. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge	\$	17.00
Smart Meter Funding Adder	\$	1.00
Distribution Volumetric Rate	\$/kWh	0.0177
Low Voltage Service Rate	\$/kWh	0.0024
Retail Transmission Rate – Network Service Rate	\$/kWh	0.0060
Retail Transmission Rate - Line and Transformation Connection Service	<b>!</b>	
Rate	\$/kWh	0.0038
LRAM & SSM Rate Rider	\$/kWh	0.0015
Deferral / Variance Account Rate Rider	\$/kWh	-0.0088
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### GENERAL SERVICE 50 to 4,999 kW SERVICE CLASSIFICATION

This classification applies to a non-residential account whose average monthly maximum demand used for billing purposes is equal to or greater than, or is forecast to be equal to or greater than, 50 kW but less than 5,000 kW. Note that for the application of the Retail Transmission Rate – Network Service Rate and the Retail Transmission Rate – Line and Transformation Connection Service Rate the following subclassifications apply:

General Service 50 to 1,000 kW non-interval metered General Service 50 to 1,000 kW interval metered General Service >1,000 to 5, 000 kW interval metered. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable. It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

\$/kWh 0.0013

\$/kWh 0.000405

\$ 0.25

### **MONTHLY RATES AND CHARGES – Delivery Component**

Rural Rate Protection Charge

Special Purpose Charge

Standard Supply Service – Administrative Charge (if applicable)

Service Charge	\$	95.00
Smart Meter Funding Adder	\$	1.00
Distribution Volumetric Rate	\$/kW	3.8498
Low Voltage Service Rate	\$/kW	1.1222
Retail Transmission Rate – Network Service Rate	\$/kW	2.4041
Retail Transmission Rate - Line and Transformation Connection Service		
Rate	\$/kW	1.5570
Retail Transmission Rate - Network Service Rate - Interval		
Metered <1,000 kW Rate	\$/kW	2.5503
Retail Transmission Rate – Line and Transformation Connection		
Service Rate – Interval Metered <1,000 kW	\$/kW	1.7207
Retail Transmission Rate - Network Service Rate -		
Interval Metered >1,000 kW	\$/kW	2.5532
Retail Transmission Rate – Line and Transformation Connection		
Service Rate– Interval Metered >1,000 kW	\$/kW	1.7068
LRAM & SSM Rate Rider	\$/kW	0.0067
Deferral / Variance Account Rate Rider (excl GA)	\$/kW	-3.6922
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075
MONTHLY RATES AND CHARGES – Regulatory Component	*	
Wholesale Market Service Rate	\$/kWh	0.0052

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### UNMETERED SCATTERED LOAD SERVICE CLASSIFICATION

This classification applies to an account taking electricity at 750 volts or less whose average monthly maximum demand is less than, or is forecast to be less than, 50 kW and the consumption is unmetered. Such connections include cable TV power packs, bus shelters, telephone booths, traffic lights, railway crossings, etc. The level of the consumption will be agreed to by the distributor and the customer, based on detailed manufacturer information/ documentation with regard to electrical consumption of the unmetered load or periodic monitoring of actual consumption. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge (per connection)	\$	2.00
Distribution Volumetric Rate	\$/kWh	0.0227
Low Voltage Service Rate	\$/kWh	0.0024
Retail Transmission Rate – Network Service Rate	\$/kWh	0.0060
Retail Transmission Rate – Line and Transformation Connection		
Service Rate	\$/kWh	0.0038
LRAM & SSM Rate Rider	\$/kWh	0.0015
Deferral / Variance Account Rate Rider	\$/kWh	-0.0088
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### SENTINEL LIGHTING SERVICE CLASSIFICATION

This classification applies to safety/security lighting with a Residential, General Service or Large Use customer. This is typically exterior lighting, and unmetered. Consumption is estimated based on the equipment rating and estimated hours of use. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable. It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge (per connection)	\$	2.00
Distribution Volumetric Rate	\$/kW	29.8835
Low Voltage Service Rate	\$/kW	0.7192
Retail Transmission Rate – Network Service Rate	\$/kW	1.8222
Retail Transmission Rate – Line and Transformation Connection		
Service Rate	\$/kW	1.2289
LRAM & SSM Rate Rider	\$/kW	-0.0122
Deferral / Variance Account Rate Rider	\$/kW	-2.6584
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### STREET LIGHTING SERVICE CLASSIFICATION

This classification applies to an account for roadway lighting with a Municipality, Regional Municipality, Ministry of Transportation and private roadway lighting, controlled by photo cells. The consumption for these customers will be based on the calculated connected load times the required lighting times established in the approved OEB street lighting load shape template. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable. It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **MONTHLY RATES AND CHARGES – Delivery Component**

Service Charge (per connection)	\$	1.50
Distribution Volumetric Rate	\$/kW	43.9802
Low Voltage Service Rate	\$/kW	0.8406
Retail Transmission Rate – Network Service Rate	\$/kW	1.8132
Retail Transmission Rate – Line and Transformation Connection Service Rate	\$/kW	1.2036
LRAM & SSM Rate Rider	\$/kW	0.8746
Deferral / Variance Account Rate Rider	\$/kW	-2.1139
Deferral / Variance Account Rate Rider (GA) – if applicable	\$/kWh	0.0075

Wholesale Market Service Rate	\$/kWh	0.0052
Rural Rate Protection Charge	\$/kWh	0.0013
Standard Supply Service – Administrative Charge (if applicable)	\$	0.25
Special Purpose Charge	\$/kWh	0.000405

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### microFIT GENERATOR SERVICE CLASSIFICATION

This classification applies to an electricity generation facility contracted under the Ontario Power Authority's microFIT program and connected to the distributor's distribution system. Further servicing details are available in the distributor's Conditions of Service.

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **MONTHLY RATES AND CHARGES - Delivery Component**

Service Charge \$ 5.25

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### **ALLOWANCES**

Transformer Allowance for Ownership - per kW of billing demand/month \$	(0.60)	
Primary Metering Allowance for transformer losses – applied to measured demand		
and energy	%	(1.00)

### SPECIFIC SERVICE CHARGES

### APPLICATION

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

### **Customer Administration**

Arrears certificate	\$ 15.00
Statement of account	\$ 15.00
Pulling post-dated cheques	\$ 15.00
Duplicate invoices for previous billing	\$ 15.00
Request for other billing information	\$ 15.00
Easement letter	\$ 15.00
Income tax letter	\$ 15.00
Notification charge	\$ 15.00
Account history	\$ 15.00
Credit reference/credit check (plus credit agency costs)	\$ 15.00
Returned cheque charge (plus bank charges)	\$ 15.00
Charge to certify cheque	\$ 15.00
Legal letter charge	\$ 15.00
Account set up charge/change of occupancy charge	
(plus credit agency costs if applicable)	\$ 30.00
Special meter reads	\$ 30.00
Meter dispute charge plus Measurement Canada fees (if meter found correct)	\$ 30.00

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

EB-2010-0125

### Non-Payment of Account

Late Payment - per month	%	1.50
Late Payment - per annum	%	19.56
Collection of account charge – no disconnection	\$	30.00
Collection of account charge – no disconnection – after regular hours	\$	165.00
Disconnect/Reconnect Charge at Meter – during regular hours	\$	65.00
Disconnect/Reconnect Charges at Meter – after regular hours	\$	185.00
Disconnect/Reconnect Charge at Pole – during regular hours	\$	185.00
Disconnect/Reconnect Charges at Pole – after regular hours	\$	415.00
Service call – customer-owned equipment	\$	30.00
Service call – after regular hours	\$	165.00
Temporary service install and remove – overhead – no transformer	\$	500.00
Temporary service install and remove – underground – no transformer	\$	300.00
Temporary service install and remove – overhead – with transformer	\$	1000.00
Rural system expansion / line connection fee	\$	500.00
Specific Charge for Access to the Power Poles – per pole/year	\$	22.35

### RETAIL SERVICE CHARGES (if applicable)

### **APPLICATION**

The application of these rates and charges shall be in accordance with the Licence of the Distributor and any Code or Order of the Board, and amendments thereto as approved by the Board, which may be applicable to the administration of this schedule.

No rates and charges for the distribution of electricity and charges to meet the costs of any work or service done or furnished for the purpose of the distribution of electricity shall be made except as permitted by this schedule, unless required by the Distributor's Licence or a Code or Order of the Board, and amendments thereto as approved by the Board, or as specified herein.

Unless specifically noted, this schedule does not contain any charges for the electricity commodity, be it under the Regulated Price Plan, a contract with a retailer or the wholesale market price, as applicable.

It should be noted that this schedule does not list any charges or assessments that are required by law to be charged by a distributor and that are not subject to Board approval, such as the Debt Retirement Charge, charges for Ministry of Energy and Infrastructure Conservation and Renewable Energy Program, the Provincial Benefit and any applicable taxes.

Retail Service Charges refer to services provided by a distributor to retailers or customers related to the supply of competitive electricity

One-time charge, per retailer, to establish the service agreement between	
the distributor and the retailer	\$ 100.00
Monthly Fixed Charge, per retailer	\$ 20.00

Effective and Implementation Date May 1, 2011

## This schedule supersedes and replaces all previously approved schedules of Rates, Charges and Loss Factors

	EB-2	010-0125
Monthly Variable Charge, per customer, per retailer	\$/cust	t. 0.50
Distributor-consolidated billing charge, per customer, per retailer	\$/cust	t. 0.30
Retailer-consolidated billing credit, per customer, per retailer Service Transaction Requests (STR)	\$/cust	t. (0.30)
Request fee, per request, applied to the requesting party	\$	0.25
Processing fee, per request, applied to the requesting party	\$	0.50
Request for customer information as outlined in Section 10.6.3 and Cha of the Retail Settlement Code directly to retailers and customers, if not delivered electronically through the Electronic Business Transaction (EB system, applied to the requesting party		
Up to twice a year		no
charge		
More than twice a year, per request (plus incremental delivery c	costs) \$	2.00

### **LOSS FACTORS**

If the distributor is not capable of prorating changed loss factors jointly with distribution rates, the revised loss factors will be implemented upon the first subsequent billing for each billing cycle.

Total Loss Factor – Secondary Metered Customer < 5,000 kW	1.0482
Total Loss Factor – Secondary Metered Customer > 5,000 kW	1.0160
Total Loss Factor – Primary Metered Customer < 5,000 kW	1.0383
Total Loss Factor – Primary Metered Customer > 5,000 kW	1.0065

# Appendix C.1 Bill Impact Summaries per BCP Cost Allocation Methodology



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### Residential

Version: 2.11

							Re	SIC	dentiai						
		Consumption		250	kWh										
				Current I	Board-App	rov	ed	Г	F	roposed				lmr	act
				Rate	Volume		Charge		Rate	Volume		Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)		(\$)		Ch	nange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$		1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)	a a a lacele	\$	-	1	\$	- 5.40	\$	- 0.0007	1	\$	-	\$	-	0.000/
5 6	Distribution Volumetric Rate Low Voltage Rate Adder	per kwh	\$	0.0216 0.0008	250 250	\$	0.20	Φ	0.0237	250 250	\$	5.93 0.60	\$ \$	0.53 0.40	9.90% 201.75%
7	Volumetric Rate Adder(s)	perkwn	\$	0.0008	250 250	\$	0.20	\$	0.0024	250 250	\$	0.60	\$	0.40	201.75%
8	Volumetric Rate Rider(s)		\$	-	250	\$	_	\$	_	250	\$	-	\$	_	
9	Smart Meter Disposition Rider		\$	_	250	\$	_	\$		250	\$	_	\$	_	
10	LRAM & SSM Rate Rider		\$	-	250	\$	-	\$	0.0024	250	\$	0.60	\$	0.60	
11	Deferral/Variance Account		\$	-	250	\$	-	-\$		250	-\$	2.11	-\$	2.11	
	Disposition Rate Rider														
12			\$	-		\$	-	\$			\$	-	\$	-	
13			\$	-		\$	-	\$			\$	-	\$	-	
14			\$	-		\$	-	\$			\$	-	\$	-	
15	Out Tatal A Distribution		\$	-		\$	47.55	\$	-		\$	- 47.00	\$ - <b>\$</b>	-	0.000/
16	Sub-Total A - Distribution RTSR - Network	a a a lacele	Φ.	0.0050	262.375	<b>\$</b>	<b>17.55</b>		0.0065	262.05	<b>\$</b>	<b>17.03</b>	- <b>&gt;</b>	<b>0.52</b> 0.34	<b>-2.98%</b> 25.14%
17 18	RTSR - Network	per kwh	\$	0.0052 0.0039			1.30	\$		202.05	Ф	1.71	1	0.34	25.14%
10	Transformation Connection	per kwii	Ф	0.0039	262.375	\$	1.02	Φ	0.0043	262.05	\$	1.13	\$	0.10	10.21%
19	Sub-Total B - Delivery					\$	19.94	Г			\$	19.86	-\$	0.08	-0.38%
	(including Sub-Total A)					۳	10.04				۳	10.00	1	0.00	0.0070
20	Wholesale Market Service	per kWh	\$	0.0052	262.375	\$	1.36	\$	0.0052	262.05	\$	1.36	-\$	0.00	-0.12%
	Charge (WMSC)														
21	Rural and Remote Rate Protection (RRRP)	per kWh	\$	0.0013	262.375	\$	0.34	\$	0.0013	262.05	\$	0.34	-\$	0.00	-0.12%
22	Special Purpose Charge		\$	_	262.375	\$	_	\$	0.0004	262.05	Ф	0.11	\$	0.11	
23	Standard Supply Service Charge	monthly	\$	0.2500	202.575	\$	0.25	φ	0.2500	202.03	\$	0.11	\$	-	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	262.375	\$	1.84	\$	0.0070	262.05	\$	1.83	-\$	0.00	-0.12%
25	Energy	per kWh	\$	0.0635	262.375	\$	16.66	\$	0.0635	262.05	\$	16.64	-\$	0.02	-0.12%
26						\$	-	\$	-		\$	-	\$	-	
27						\$	-	\$	; -		\$	-	\$	-	
28	Total Bill (before Taxes)					\$	40.39				\$	40.40	\$	0.00	0.01%
29	HST			13%		\$	5.25		13%		\$	5.25	\$	0.00	0.01%
30	Total Bill (including Sub-total B)					\$	45.64				\$	45.65	\$	0.01	0.02%
31	Loss Factor (%)	Note 1		4.95%					4.82%	]					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### Residential

Version: 2.11

							Re	esic	dential						
		Consumption		500	kWh										
				Current I	Board-App	rov	ed	Г	F	roposed				Imp	act
				Rate	Volume		harge		Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Ch	ange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$	11.0000	1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	500	\$	10.80	\$		500	\$	11.87	\$	1.07	9.90%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	500	\$	0.40	\$	0.0024	500	\$	1.21	\$	0.81	201.75%
7	Volumetric Rate Adder(s)		\$	-	500	\$	-	\$		500	\$	-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	500	\$	-	\$		500	\$	-	\$	-	
9	Smart Meter Disposition Rider LRAM & SSM Rate Rider		\$	-	500 500	\$	-	\$		500 500		1.00	\$ \$	1.00	
10 11	Deferral/Variance Account		\$	-	500	\$	-	\$ -\$		500		1.20 4.22	-\$	1.20 4.22	
11	Disposition Rate Rider		Ф	-	500	Ф	-	-Ф	0.0084	500	-ф	4.22	-⊅	4.22	
12	Disposition Rate Rider		\$	_		\$	_	\$			\$	_	\$	_	
13			\$			\$	_	\$			\$	-	\$	_	
14			\$	-		\$	-	\$			\$	-	\$	_	
15			\$	-		\$	-	\$			\$	-	\$	-	
16	Sub-Total A - Distribution					\$	23.15	Ė			\$	22.05	-\$	1.10	-4.74%
17	RTSR - Network	per kwh	\$	0.0052	524.75	\$	2.73	\$	0.0065	524.1	\$	3.41	\$	0.69	25.14%
18	RTSR - Line and	per kwh	\$	0.0039	524.75	\$	2.05	\$	0.0043	524.1	\$	2.26	\$	0.21	10.21%
	Transformation Connection				324.73	Ф	2.05			324.1	9	2.20	Ф	0.21	10.21%
19	Sub-Total B - Delivery					\$	27.93				\$	27.72	-\$	0.20	-0.73%
	(including Sub-Total A)														
20	Wholesale Market Service	per kWh	\$	0.0052	524.75	\$	2.73	\$	0.0052	524.1	\$	2.73	-\$	0.00	-0.12%
	Charge (WMSC)					١.									
21	Rural and Remote Rate	per kWh	\$	0.0013	524.75	\$	0.68	\$	0.0013	524.1	\$	0.68	-\$	0.00	-0.12%
	Protection (RRRP)		•		50475	_			0.0004	5044	_	0.04		0.04	
22	Special Purpose Charge	and a settle bas	\$	-	524.75		-	\$		524.1		0.21	\$	0.21	0.000/
23 24	Standard Supply Service Charge Debt Retirement Charge (DRC)	monthly per kWh	\$ \$	0.2500 0.0070	524.75	\$	0.25 3.67	\$		524.1	\$	0.25 3.67	\$ -\$	0.00	0.00% -0.12%
25	Energy	per kWh	\$	0.0675	524.75		33.32	\$		524.1	\$	33.28	-\$ -\$	0.00	-0.12%
26	Lileigy	perkyvii	Φ	0.0033	324.73	\$	33.32	\$		324.1	\$	33.20	\$	0.04	-0.1276
27						\$	_	\$			\$	_	\$	_	
28	Total Bill (before Taxes)					\$	68.58	Ť			\$	68.54	-\$	0.04	-0.06%
29	HST			13%		\$	8.92		13%		\$	8.91	-\$	0.01	-0.06%
30	Total Bill (including Sub-total			. 2 70		\$	77.50	Г	. 370		\$	77.45	-\$	0.05	-0.06%
	B)					ľ					ľ		1		
	•						<u>"</u>			•					
31	Loss Factor (%)	Note 1		4.95%					4.82%						



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### Residential

Version: 2.11

Charge Unit monthly   Service Charge   Smart Meter Rate Adder   Service Charge Rate Adder   Service Charge Rate Ratder(s)   Service Charge Rate Ratder   Per kwh   Service Charge Rate Ratder   Service Charge Rate Ratder   Service Charge Rate Ratder   Service Rate Ratder   Service Rate Ratder   Service Rate Ratder   Service Rate Rate Rate Rate Rate Rate Rate Rat								Re	SIC	ientiai						
Monthly Service Charge   Monthly			Consumption		750	kWh										
Monthly Service Charge   Monthly					Current I	Board-App	rov	ed		F	roposed				lmr	pact
Monthly Service Charge   Smart Meter Rate Adder   Stock												Charge		\$		%
Smart Meter Rate Adder   Source Charge Rate Adder(s)   Service Charge Rate Adder(s)   Service Charge Rate Rider(s)   Service Charge Rate Rider(s)   Service Charge Rate Rider(s)   Service Charge Rate Rider   Service Charge Rate Rider   Service Charge Rate Rider   Service Charge Rate Rider(s)   Service Charge Rate Rider(s)   Service Charge Rate Rider   Service Charge   Service Charge (WMSC)   Service Charge Rate Rider   Service Charge (WMSC)   Service Charge Rate Rider   Service Charge   Servic			Charge Unit		(\$)			(\$)				(\$)		Ch	nange	Change
Service Charge Rate Adder(s)   Service Charge Rate Rider(s)   Service Charge (WMSC)   Service Charge (WMSC)   Service Charge (Service Charge (WMSC)   Service Charge (Service Cha		,	•			-					-		11.00	\$	0.05	0.46%
\$ Service Charge Rate Rider(s)   S	_		monthly		1.0000			1.00	\$	1.0000			1.00	\$	-	0.00%
Compact   Comp	-				-	•		-	\$	-	-		-	\$	-	
Compact   Comp	-		a a a lassala		- 0.004.0	•		-	\$				47.00	\$	-	0.000/
Volumetric Rate Rider(s)   S	-								Φ				17.80 1.81	\$ \$	1.60 1.21	9.90% 201.75%
Volumetric Rate Rider(s)   S	-		perkwn		0.0008				Φ	0.0024			1.01	\$	1.21	201.75%
Smart Meter Disposition Rider   Smart Meter Disposition Rider   Smart Meter Disposition Rider   Smart Meter Disposition Rate Rider   Smart Meter Disposition	-				_				\$	_			_	\$	-	
10		. ,			_			_		_			_	\$	_	
11   Deferral/Variance Account Disposition Rate Rider	-				_			-	\$	0.0024			1.80	\$	1.80	
\$ - \$ - \$ - \$ 5 -	11	Deferral/Variance Account			-	750	\$	-		0.0084	750	-\$	6.34	-\$	6.34	
Sub-Total A - Distribution   Sub-Total A - Distribution   Sub-Total B - Delivery (including Sub-Total A)		Disposition Rate Rider														
\$ - \$ - \$ - \$ \$ - \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ \$ 1 \$ 1 \$ \$ 1	12				-			-		-			-	\$	-	
\$ - \$ \$ - \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$					-			-		-			-	\$	-	
Sub-Total A - Distribution   Per kwh   Protection (RRRP)   Protection (RRRP)   Per kwh   Protection (RRRP)   Per kwh   Per k					-			-					-	\$	-	
17         RTSR - Network         per kwh         per kwh         \$ 0.0052         787.125         \$ 4.09         \$ 0.0065         786.15         \$ 3.07           18         RTSR - Line and Transformation Connection         \$ 0.0039         787.125         \$ 3.07         \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0043         786.15         \$ \$ 0.0052         787.125         \$ 0.0052         786.15         \$ \$ 0.0052         786.15         \$ 0.0052         786.15         \$ 0.0052         786.15         \$ 0.0052         786.15         \$ 0.0065         \$ 0.0052         786.15         \$ 0.0063         \$ 0.0052         786.15         \$ 0.0063         \$ 0.0063         786.15         \$ 0.0063         \$ 0.0063         786.15         \$ 0.0063         \$ 0.0063         786.15         \$ 0.0063         \$ 0.0063         786.15         \$ 0.0063         \$ 0.0063         786.15 </th <th></th> <th>Out Tatal A Distribution</th> <th></th> <th>\$</th> <th>-</th> <th></th> <th></th> <th>-</th> <th>\$</th> <th>•</th> <th></th> <th></th> <th>-</th> <th>\$ -<b>\$</b></th> <th>- 4.07</th> <th>F 040/</th>		Out Tatal A Distribution		\$	-			-	\$	•			-	\$ - <b>\$</b>	- 4.07	F 040/
18         RTSR - Line and Transformation Connection         per kwh         \$ 0.0039         787.125         \$ 3.07         \$ 0.0043         786.15         \$           19         Sub-Total B - Delivery (including Sub-Total A)         \$ 0.0052         787.125         \$ 4.09         \$ 0.0052         786.15         \$           20         Wholesale Market Service Charge (WMSC)         per kWh         \$ 0.0052         787.125         \$ 4.09         \$ 0.0052         786.15         \$           21         Rural and Remote Rate Protection (RRRP)         per kWh         \$ 0.0013         787.125         \$ 1.02         \$ 0.0013         786.15         \$           22         Special Purpose Charge         \$ -         787.125         \$ -         \$ 0.0004         786.15         \$           24         Debt Retirement Charge (DRC)         monthly per kWh         \$ 0.0070         787.125         \$ 5.51         \$ 0.0070         786.15         \$           25         Energy         \$ 0.0635         787.125         \$ 4.09         \$ 0.0070         786.15         \$           26         \$ 0.0070         787.125         \$ 4.09         \$ 0.0070         786.15         \$           26         \$ 0.0070         787.125         \$ 4.98         \$ 0.0035			n an Inch	Φ.	0.0050	707 405			•	0.0005	700 45	•	<b>27.08</b> 5.12	- <b>&gt;</b>	<b>1.67</b>	<b>-5.81%</b> 25.14%
Transformation Connection  19						-	Φ				700.13	Φ	5.12	1	1.03	25.14%
Sub-Total B - Delivery (including Sub-Total A)   Sub-Total B - Delivery (including Sub-Total A)	10		per kwii	Φ	0.0039	787.125	\$	3.07	Φ	0.0043	786.15	\$	3.38	\$	0.31	10.21%
(including Sub-Total A)           20         Wholesale Market Service Charge (WMSC)         per kWh         \$ 0.0052         787.125         \$ 4.09         \$ 0.0052         786.15         \$ 0.0013         787.125         \$ 1.02         \$ 0.0013         786.15         \$ 0.0004         786.15         \$ 0.0004         786.15         \$ 0.00013         786.15         \$ 0.00013         786.15         \$ 0.00013         786.15         \$ 0.00013         \$ 0.00013         786.15         \$ 0.00013         786.15         \$ 0.00013         \$ 0.00013         786.15         \$ 0.00013         \$ 0.00013         \$ 0.00013         \$ 0.00013         \$ 0.00013         \$ 0.00013         \$ 0.00013         \$	19						\$	35.91	Г			\$	35.58	-\$	0.33	-0.92%
20         Wholesale Market Service Charge (WMSC)         per kWh         \$ 0.0052         787.125         \$ 4.09         \$ 0.0052         786.15         \$ 0.0013         787.125         \$ 1.02           21         Rural and Remote Rate Protection (RRRP)         per kWh         \$ 0.0013         787.125         \$ 1.02         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0013         786.15         \$ 0.0004         786.15         \$ 0.0004         786.15         \$ 0.0004         786.15         \$ 0.0004         786.15         \$ 0.0004         786.15         \$ 0.0004         786.15         \$ 0.0007         786.15         \$ 0.0007         786.15         \$ 0.0007         786.15         \$ 0.0007         786.15         \$ 0.0007         786.15         \$ 0.0007         \$ 0.0007         786.15							*					•	00.00	*	0.00	0.0270
21       Rural and Remote Rate Protection (RRRP)       per kWh       \$ 0.0013       787.125       \$ 1.02       \$ 0.0013       786.15       \$ \$ 0.0004       786.15       \$ \$ 0.0004       786.15       \$ \$ 0.0004       786.15       \$ \$ 0.0004       786.15       \$ \$ 0.0004       786.15       \$ \$ 0.0004       786.15       \$ 0.0004       786.15       \$ 0.0004       786.15       \$ 0.0004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.000004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.00004       786.15       \$ 0.000004       \$ 0.000004       \$ 0.000004       \$ 0.000004       \$ 0.000004       \$ 0.000004       \$ 0.000004       \$ 0.000004       \$ 0.0000004       \$ 0.00000004       \$ 0.0000004       \$ 0.00	20	Wholesale Market Service	per kWh	\$	0.0052	787.125	\$	4.09	\$	0.0052	786.15	\$	4.09	-\$	0.01	-0.12%
22         Special Purpose Charge           23         Standard Supply Service Charge         monthly per kWh         \$ 0.2500         1 \$ 0.25         \$ 0.2500         1 \$ 0.25           24         Debt Retirement Charge (DRC)         per kWh         \$ 0.0070         787.125         \$ 5.51         \$ 0.0070         786.15         \$ 0.0070         \$ 787.125         \$ 49.98         \$ 0.0635         786.15         \$ 3.0070         \$ 786.15         \$ 3.0070 <t< th=""><th>21</th><th>g ( ,</th><th>per kWh</th><th>\$</th><th>0.0013</th><th>787.125</th><th>\$</th><th>1.02</th><th>\$</th><th>0.0013</th><th>786.15</th><th>\$</th><th>1.02</th><th>-\$</th><th>0.00</th><th>-0.12%</th></t<>	21	g ( ,	per kWh	\$	0.0013	787.125	\$	1.02	\$	0.0013	786.15	\$	1.02	-\$	0.00	-0.12%
23 Standard Supply Service Charge		Protection (RRRP)	•				·							'		
25 Energy	22				-	787.125	\$	-	\$		786.15		0.32	\$	0.32	
25 Energy						1			\$		1		0.25	\$	-	0.00%
26 27 \$ -   \$ -   \$ \$ -   \$ \$		2 , ,							\$				5.50	-\$	0.01	-0.12%
27			per kWh	\$	0.0635	787.125		49.98	\$	0.0635	786.15		49.92	-\$	0.06	-0.12%
								-	Φ Φ	-			-	\$ \$	-	
	28	Total Bill (before Taxes)					\$	96.77	φ	-		\$	96.69	- <b>\$</b>	0.09	-0.09%
29 HST 13% \$ 12.58 13% \$			l		13%		•			13%		•	12.57	-\$	0.03	-0.09%
					.070		_		F	.370		•	109.25	-\$	0.10	-0.09%
В)							_		L			Ĺ	***-*	Ľ		2.2276
31 Loss Factor (%) Note 1 4.95% 4.82%	31	Loss Factor (%)	Note 1		4.95%					4.82%						



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### Residential

Version: 2.11

							Re	esic	ientiai						
		Consumption		800	kWh										
		Current I	Board-App	rov	red		Р	roposed				lmı	pact		
				Rate Volume		С	harge		Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)		hange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$	11.0000	1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$		1	\$	-	\$		1	\$	-	\$		
5	Distribution Volumetric Rate	per kwh	\$	0.0216	800	\$	17.28	\$	0.0237	800	\$	18.99	\$	1.71	9.90%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	800	\$	0.64	\$	0.0024	800	\$	1.93	\$	1.29	201.75%
7	Volumetric Rate Adder(s)		\$	-	800	\$	-	\$	-	800	\$	-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	800	\$	-	\$	-	800	\$	-	\$	-	
9	Smart Meter Disposition Rider LRAM & SSM Rate Rider		\$	-	800 800	\$	-	\$	0.0024	800 800	\$	1.00	\$ \$	1.92	
10 11	Deferral/Variance Account		\$ \$	-	800	\$	-	\$ -\$			ъ -\$	1.92 6.76	-\$	6.76	
11	Disposition Rate Rider		Ф	-	800	Ф	-	-Ф	0.0084	800	-Ф	0.76	-2	0.76	
12	Disposition Rate Rider		\$			\$	_	\$			\$		\$		
13			\$	-		\$	-	\$	-		\$	-	\$	-	
14			\$			\$	-	\$			\$		\$		
15			\$	_		\$	_	\$			\$	_	\$	_	
16	Sub-Total A - Distribution		Ψ			\$	29.87	Ψ			\$	28.08	-\$	1.79	-5.98%
17	RTSR - Network	per kwh	\$	0.0052	839.6	\$	4.37	\$	0.0065	838.56	\$	5.46	\$	1.10	25.14%
18	RTSR - Line and	per kwh	\$	0.0039		,		\$					1		
	Transformation Connection	po	, T	0.0000	839.6	\$	3.27	•	0.00.10	838.56	\$	3.61	\$	0.33	10.21%
19	Sub-Total B - Delivery					\$	37.51				\$	37.16	-\$	0.35	-0.94%
	(including Sub-Total A)												L		
20	Wholesale Market Service	per kWh	\$	0.0052	839.6	\$	4.37	\$	0.0052	838.56	\$	4.36	-\$	0.01	-0.12%
	Charge (WMSC)														
21	Rural and Remote Rate	per kWh	\$	0.0013	839.6	\$	1.09	\$	0.0013	838.56	\$	1.09	-\$	0.00	-0.12%
	Protection (RRRP)														
22	Special Purpose Charge		\$		839.6		-	\$		838.56		0.34	\$	0.34	
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25	\$	0.2500	1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	839.6	\$	5.88	\$		838.56	\$	5.87	-\$	0.01	-0.12%
25	Energy	per kWh	\$	0.0635	839.6	\$	53.31	\$	0.0635	838.56	\$	53.25	-\$	0.07	-0.12%
26						\$	-	\$	-		\$	-	\$	-	
27	Total Bill (hofore Tayes)					\$	102.41	\$	-		\$	102.31	\$ <b>-\$</b>	0.09	0.000/
28	Total Bill (before Taxes)			400/		_		H	13%		·		_		-0.09%
29	HST			13%		\$	13.31		13%		\$	13.30	-\$	0.01	-0.09%
30	Total Bill (including Sub-total					ф	115.72				Þ	115.62	-\$	0.10	-0.09%
	В)							L					L		
31	Loss Factor (%)	Note 1		4.95%					4.82%						
	• •				•			_		•					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### Residential

Version: 2.11

							Re	esic	dentiai						
		Consumption		1000	kWh										
				Current I	Board-App	rov	ed	Г	F	roposed				lmr	act
				Rate	Volume		harge		Rate	Volume	Charge		\$		%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Ch	nange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$		1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	0.000/
5	Distribution Volumetric Rate	per kwh	\$	0.0216	1000 1000	\$	21.60 0.80	\$	0.0237	1000 1000	\$	23.74	\$ \$	2.14 1.61	9.90% 201.75%
6 7	Low Voltage Rate Adder Volumetric Rate Adder(s)	perkwn	\$	0.0008	1000		0.80	\$	0.0024	1000	\$	2.41	\$	1.01	201.75%
8	Volumetric Rate Rider(s)		\$		1000		-	\$	_	1000	\$		\$		
9	Smart Meter Disposition Rider		\$	_	1000		_	\$		1000	\$	_	\$	_	
10	LRAM & SSM Rate Rider		\$	_	1000	\$	-	\$	0.0024	1000	\$	2.40	\$	2.40	
11	Deferral/Variance Account		\$	-	1000	\$	-	-\$		1000	-\$	8.45	-\$	8.45	
	Disposition Rate Rider														
12			\$	-		\$	-	\$			\$	-	\$	-	
13			\$	-		\$	-	\$			\$	-	\$	-	
14			\$	-		\$	-	\$			\$	-	\$	-	
15			\$	-		\$	-	\$	-		\$	-	\$	-	0.540/
16	Sub-Total A - Distribution		•	0.0050	1049.5	\$	34.35	Ļ	0.0005	1048.2	<b>\$</b>	32.10	-\$ ©	2.25	-6.54%
17 18	RTSR - Network	per kwh	\$	0.0052 0.0039	1049.5	\$	5.46	\$		1048.2	\$	6.83	\$	1.37	25.14%
10	RTSR - Line and Transformation Connection	per kwh	Ф	0.0039	1049.5	\$	4.09	Ф	0.0043	1048.2	\$	4.51	\$	0.42	10.21%
19	Sub-Total B - Delivery					\$	43.90	F			\$	43.44	-\$	0.46	-1.04%
	(including Sub-Total A)					Ψ	45.50				Ψ	45.44	Ι*	0.40	1.0470
20	Wholesale Market Service	per kWh	\$	0.0052	1049.5	\$	5.46	\$	0.0052	1048.2	\$	5.45	-\$	0.01	-0.12%
	Charge (WMSC)														
21	Rural and Remote Rate	per kWh	\$	0.0013	1049.5	\$	1.36	\$	0.0013	1048.2	\$	1.36	-\$	0.00	-0.12%
	Protection (RRRP)														
22	Special Purpose Charge		\$	-	1049.5		-	\$	0.0004	1048.2		0.42	\$	0.42	
23	Standard Supply Service Charge		\$	0.2500	1 1 1 1 1	\$	0.25	\$	0.2500	10400	\$	0.25	\$ -\$	-	0.00%
24 25	Debt Retirement Charge (DRC)	per kWh	\$ \$	0.0070 0.0635	1049.5 1049.5		7.35 66.64	\$	0.0070 0.0635	1048.2 1048.2	\$	7.34 66.56	-\$ -\$	0.01	-0.12% -0.12%
26	Energy	per kwiii	Ф	0.0033	1049.5	\$	00.04	\$	0.0035	1040.2	\$	00.50	\$	0.06	-0.12%
27						\$	_	\$	-		\$	_	\$	_	
28	Total Bill (before Taxes)						124.96	Ť				124.83	-\$	0.13	-0.10%
29	HST			13%		\$	16.25		13%		\$	16.23	-\$	0.02	-0.10%
30	Total Bill (including Sub-total					\$	141.21	Г			\$	141.06	-\$	0.15	-0.11%
	В)							L							
	L <b>F</b> (0/)	Note 4		4.050/	 				4.000/	 1					
31	Loss Factor (%)	Note 1		4.95%					4.82%	l					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### Residential

Version: 2.11

							Re	SIC	dentiai						
		Consumption		1250	kWh										
				Current F	Board-App	rov	red		F	roposed				lmr	act
				Rate	Volume		harge	-	Rate	Volume		Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Cł	ange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$		1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)	-	\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	1250	\$	27.00	\$	0.0237	1250	\$	29.67	\$	2.67	9.90%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	1250	\$	1.00	\$	0.0024	1250	\$	3.02	\$	2.02	201.75%
7	Volumetric Rate Adder(s)		\$	-	1250	\$	-	\$	-	1250	\$	-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	1250	\$	-	\$	; -	1250	\$	-	\$	-	
9	Smart Meter Disposition Rider		\$	-	1250	\$	-	\$	-	1250	\$	-	\$	-	
10	LRAM & SSM Rate Rider		\$	-	1250	\$	-	\$	0.0024	1250	\$	3.00	\$	3.00	
11	Deferral/Variance Account		\$	-	1250	\$	-	-\$	0.0084	1250	-\$	10.56	-\$	10.56	
	Disposition Rate Rider														
12			\$	-		\$	-	\$			\$	-	\$	-	
13			\$	-		\$	-	\$			\$	-	\$	-	
14			\$	-		\$	-	\$			\$	-	\$	-	
15			\$	-		\$	-	\$	-		\$	-	\$	-	
16	Sub-Total A - Distribution					\$	39.95				\$	37.13	-\$	2.82	-7.06%
17	RTSR - Network	per kwh	\$	0.0052	1311.88	\$	6.82	\$		1310.25	\$	8.54	\$	1.71	25.14%
18	RTSR - Line and	per kwh	\$	0.0039	1311.88	\$	5.12	\$	0.0043	1310.25	\$	5.64	\$	0.52	10.21%
	Transformation Connection				.000	Ľ	_			1010.20	Ľ		Ľ		
19	Sub-Total B - Delivery					\$	51.89				\$	51.31	-\$	0.58	-1.12%
	(including Sub-Total A)							L					_		
20	Wholesale Market Service Charge (WMSC)	per kWh	\$	0.0052	1311.88	\$	6.82	\$	0.0052	1310.25	\$	6.81	-\$	0.01	-0.12%
21	Rural and Remote Rate Protection (RRRP)	per kWh	\$	0.0013	1311.88	\$	1.71	\$	0.0013	1310.25	\$	1.70	-\$	0.00	-0.12%
22	Special Purpose Charge		\$		1311.88	\$	_	\$	0.0004	1310.25	\$	0.53	\$	0.53	
23	Standard Supply Service Charge	monthly	\$	0.2500	1311.00	\$	0.25	4	0.0004	1010.20	\$	0.35	\$	0.55	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	1311.88	\$	9.18	\$	0.2000	1310.25	\$	9.17	-\$	0.01	-0.12%
25	Energy	per kWh	\$	0.0635	1311.88		83.30	\$	0.0635	1310.25	\$	83.20	-\$	0.10	-0.12%
26	Energy	por kvvii	Ψ	0.0000	1011.00	\$	-	\$	- 0.0000	1010.20	\$	-	\$	-	0.1270
27						\$	_	\$	-		\$	_	\$	-	
28	Total Bill (before Taxes)						153.15	F				152.98	-\$	0.18	-0.12%
29	HST			13%		\$	19.91		13%		\$	19.89	-\$	0.02	-0.12%
30	Total Bill (including Sub-total			. 270		_	173.06	Г	.070		•	172.86	-\$	0.20	-0.12%
	B)					Ľ		L			_		Ľ		0
31	Loss Factor (%)	Note 1		4.95%					4.82%	]					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### Residential

Version: 2.11

							Re	esio	dential						
		Consumption		1500	kWh										
				Current I	Board-App	rov	/ed		-	Proposed				Imp	act
				Rate	Volume		harge		Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Ch	ange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$	11.0000	1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	1500	\$	32.40	\$		1500			\$	3.21	9.90%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	1500		1.20	\$	0.0024	1500		3.62	\$	2.42	201.75%
7	Volumetric Rate Adder(s)		\$	-	1500		-	\$		1500		-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	1500 1500		-	\$		1500 1500	\$	-	\$	-	
9 10	Smart Meter Disposition Rider LRAM & SSM Rate Rider		\$ \$	-	1500			\$		1500		3.60	\$	3.60	
11	Deferral/Variance Account		\$		1500			-\$		1500		12.67		12.67	
• • •	Disposition Rate Rider		Ψ	-	1300	Ψ	-	-ψ	0.0004	1300	-ψ	12.07	Ψ	12.07	
12	Disposition Nate Maci		\$	_		\$	_	\$			\$	_	\$	_	
13			\$	_		\$	_	\$			\$	-	\$	_	
14			\$	-		\$	-	\$			\$	-	\$	-	
15			\$	-		\$	-	\$	; -		\$	-	\$	-	
16	Sub-Total A - Distribution					\$	45.55	Г			\$	42.16	-\$	3.39	-7.45%
17	RTSR - Network	per kwh	\$	0.0052	1574.25	\$	8.19	\$	0.0065	1572.3	\$	10.24	\$	2.06	25.14%
18	RTSR - Line and	per kwh	\$	0.0039	1574.25	\$	6.14	\$	0.0043	1572.3	\$	6.77	\$	0.63	10.21%
	Transformation Connection				1074.20	Ľ				1072.0	Ľ	_			
19	Sub-Total B - Delivery					\$	59.88				\$	59.17	-\$	0.71	-1.18%
	(including Sub-Total A)		Ļ			_		Ļ			_		Ļ		
20	Wholesale Market Service	per kWh	\$	0.0052	1574.25	\$	8.19	\$	0.0052	1572.3	\$	8.18	-\$	0.01	-0.12%
	Charge (WMSC)	may IdAAh	\$	0.0013	4574.05	\$	2.05	\$	0.0013	1572.3	φ.	2.04	φ.	0.00	-0.12%
21	Rural and Remote Rate Protection (RRRP)	per kWh	Ф	0.0013	1574.25	Ф	2.05	Ф	0.0013	1572.3	\$	2.04	-\$	0.00	-0.12%
22	Special Purpose Charge		\$	_	1574.25	\$	_	\$	0.0004	1572.3	\$	0.64	\$	0.64	
23	Standard Supply Service Charge	monthly	\$	0.2500	1074.20	\$	0.25	\$		1072.0	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	1574.25	\$	11.02	\$		1572.3	\$	11.01	-\$	0.01	-0.12%
25	Energy	per kWh	\$	0.0635	1574.25		99.96	\$		1572.3		99.84	-\$	0.12	-0.12%
26	- 37	•	,			\$	-	\$			\$	-	\$	-	
27						\$	-	\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)					\$	181.34				\$	181.12	-\$	0.22	-0.12%
29	HST			13%		\$	23.57		13%		\$	23.55	-\$	0.03	-0.12%
30	Total Bill (including Sub-total					\$	204.92				\$	204.67	-\$	0.25	-0.12%
	B)							L							
31	Loss Factor (%)	Note 1		4.95%	]				4.82%						
			_		-					-					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### Residential

Version: 2.11

						Re	esic	lential						
		Consumption		2000	kWh									
				Current I	Board-App	roved		Р	roposed				lmr	act
				Rate	Volume	Charge		Rate	Volume	С	harge		\$	%
		Charge Unit		(\$)		(\$)		(\$)			(\$)	CI	hange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$ 10.95	\$	11.0000	1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$ 1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$ -	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$ -	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	2000	\$ 43.20	\$	0.0237	2000	\$	47.48	\$	4.28	9.90%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	2000	\$ 1.60	\$	0.0024	2000	\$	4.83	\$	3.23	201.75%
7	Volumetric Rate Adder(s)		\$	-	2000	\$ -	\$	-	2000	\$	-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	2000	\$ -	\$	-	2000	\$	-	\$	-	
9	Smart Meter Disposition Rider		\$	-	2000	\$ -	\$	-	2000	\$	-	\$	-	
10	LRAM & SSM Rate Rider		\$	-	2000	\$ -	\$	0.0024	2000	\$	4.80	\$	4.80	
11	Deferral/Variance Account		\$	-	2000	\$ -	-\$	0.0084	2000	-\$	16.90	-\$	16.90	
	Disposition Rate Rider					_				_		_		
12			\$	-		\$ -	\$	-		\$	-	\$	-	
13			\$	-		\$ -	\$	-		\$	-	\$	-	
14 15			\$	-		\$ - \$ -	\$	-		\$	-	\$	-	
16	Sub-Total A - Distribution		Ф	-		\$ 56.75	Ф	-		\$	52.21	- <b>\$</b>	4.54	-8.00%
17	RTSR - Network	per kwh	r.	0.0052	2099	\$ 10.91	\$	0.0065	2096.4	\$	13.66	\$	2.74	25.14%
18	RTSR - Line and	per kwh	\$ \$	0.0032		•	\$	0.0063				1	2.14	
10	Transformation Connection	perkwii	Φ	0.0039	2099	\$ 8.19	φ	0.0043	2096.4	\$	9.02	\$	0.84	10.21%
19	Sub-Total B - Delivery					\$ 75.85				\$	74.89	-\$	0.96	-1.27%
	(including Sub-Total A)					ψ 73.03				Ψ	74.03	ľ	0.50	1.27 /0
20	Wholesale Market Service	per kWh	\$	0.0052	2099	\$ 10.91	\$	0.0052	2096.4	\$	10.90	-\$	0.01	-0.12%
	Charge (WMSC)	portarii	Ψ	0.0002	2000	Ψ 10.01	Ψ	0.0002	2000.1	Ψ	10.00	Ψ	0.01	0.1270
21	Rural and Remote Rate	per kWh	\$	0.0013	2099	\$ 2.73	\$	0.0013	2096.4	\$	2.73	-\$	0.00	-0.12%
	Protection (RRRP)													
22	Special Purpose Charge		\$	-	2099	\$ -	\$	0.0004	2096.4	\$	0.85	\$	0.85	
23	Standard Supply Service Charge	monthly	\$	0.2500	1	\$ 0.25	\$	0.2500	1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	2099	\$ 14.69	\$	0.0070	2096.4	\$	14.67	-\$	0.02	-0.12%
25	Energy	per kWh	\$	0.0635	2099	\$ 133.29	\$	0.0635	2096.4		133.12	-\$	0.17	-0.12%
26						\$ -	\$	-		\$	-	\$	-	
27						\$ -	\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)					\$ 237.72	L			-	237.41	-\$	0.31	-0.13%
29	HST			13%		\$ 30.90		13%		\$	30.86	-\$	0.04	-0.13%
30	Total Bill (including Sub-total					\$ 268.63				\$	268.28	-\$	0.35	-0.13%
	B)		Щ				L							
31	Loss Factor (%)	Note 1		4.95%				4.82%						

File Number:

Rate Year: 2011

### General Service < 50 kW

						G	enerai	Serv	vice < 50 kV	v					
		Consumption		1000	kWh										
				Current B	oard-Appi	rove	d		Pr	oposed				Imp	act
		Charge Unit		Rate (\$)	Volume	С	harge (\$)		Rate (\$)	Volume	(	harge (\$)	Cŀ	\$ nange	% Change
1	Monthly Service Charge		\$	16.5100	1	\$	16.51	\$	17.0000	1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate		\$	0.0186	1000		18.60	\$	0.0170	1000		16.96	-\$	1.64	-8.82%
6	Low Voltage Rate Adder		\$	0.0007	1000	\$	0.70	\$	0.0024	1000		2.41	\$	1.71	244.86%
7	Volumetric Rate Adder(s)		\$	-	1000		-	\$	-	1000		-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	1000		-	\$	-	1000		-	\$	-	
9	Smart Meter Disposition Rider		\$	-	1000		-	\$	-	1000		-	\$	-	
10	LRAM & SSM Rider		\$	-	1000		-	\$	0.0015	1000		1.50	\$	1.50	
11	Deferral/Variance Account		\$	-	1000	\$	-	-\$	0.0088	1000	-\$	8.78	-\$	8.78	
	Disposition Rate Rider														
12	GA Variance (if applicable)		\$	-		\$	-	\$	0.0075		\$	-	\$	-	
13			\$	-		\$	-	\$	-		\$	-	\$	-	
14			\$	-		\$	-	\$	-		\$	-	\$	-	
15	Sub-Total A - Distribution		\$	-		\$	-	\$	-		\$	-	\$	-	40.040/
16			_			\$	36.81	Ļ			\$	30.09	-\$	6.72	-18.24%
17	RTSR - Network RTSR - Line and		\$	0.0048	1049.5		5.04	\$	0.0060	1048.2	\$	6.30	\$	1.27	25.14%
18	Transformation Connection		\$	0.0034	1049.5	\$	3.57	\$	0.0038	1048.2	\$	3.93	\$	0.36	10.21%
40	Sub-Total B - Delivery						45.40				•	40.00	_	F 00	44.000/
19	(including Sub-Total A)					\$	45.42				\$	40.33	-\$	5.08	-11.20%
20	Wholesale Market Service		\$	0.0052	1049.5	\$	5.46	\$	0.0052	1048.2	¢	5.45	-\$	0.01	-0.12%
20	Charge (WMSC)		φ	0.0052	1049.5	φ	5.40	φ	0.0052	1040.2	Φ	5.45	-φ	0.01	-0.12/6
21	Rural and Remote Rate		\$	0.0013	1049.5	\$	1.36	\$	0.0013	1048.2	2	1.36	-\$	0.00	-0.12%
	Protection (RRRP)		Ψ	0.0013	1045.5	Ψ	1.50	Ψ	0.0013	1040.2	Ψ	1.50	Ψ	0.00	0.1270
22	Special Purpose Charge		\$	_	1049.5	\$	_	\$	0.0004	1048.2	\$	0.42	\$	0.42	
23	Standard Supply Service Charge		\$	0.2500	1010.0	\$	0.25	\$	0.2500	1010.2	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)		\$	0.0070	1049.5	\$	7.35	\$	0.0070	1048.2	\$	7.34	-\$	0.01	-0.12%
25	Energy		\$	0.0635	1049.5	\$	66.64	\$	0.0635	1048.2	\$	66.56	-\$	0.08	-0.12%
26	0,		\$	-		\$	-	\$	-		\$	-	\$	-	
27			\$	-		\$	-	\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)					\$	126.48				\$	121.72	-\$	4.76	-3.76%
29	HST			13%		\$	16.44		13%		\$	15.82	-\$	0.62	-3.76%
30	Total Bill (including Sub-total					\$	142.92				\$	137.54	-\$	5.38	-3.76%
	В)														
	Lass Faster	Note 4		4.050/	<u></u>	_		_	4.000/	 1					
31	Loss Factor	Note 1		4.95%					4.82%	J					

N	^	te	

Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential

File Number:

2011 Rate Year:

### General Service < 50 kW

						Genera	al S	erv	ice < 50 kV	V					
		Consumption		2000	kWh										
				Current B	oard-Appr	oved	1		Pr	oposed				lmp	act
				Rate	Volume	Charge			Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)		(\$)	_		(\$)			(\$)		hange	Change
1	Monthly Service Charge		\$	16.5100	1	\$ 16.51		\$	17.0000	1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$	1.0000	1	\$ 1.00	)	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$ -		\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$ -		\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate		\$	0.0186	2000	\$ 37.20	)	\$	0.0170	2000		33.92	-\$	3.28	-8.82%
6	Low Voltage Rate Adder		\$	0.0007	2000	\$ 1.40	)	\$	0.0024	2000	\$	4.83	\$	3.43	244.86%
7	Volumetric Rate Adder(s)		\$	-	2000	\$ -		\$	-	2000	\$	-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	2000	\$ -		\$	-	2000	\$	-	\$	-	
9	Smart Meter Disposition Rider		\$	-	2000	\$ -		\$	-	2000	\$	-	\$	-	
10	LRAM & SSM Rider		\$	-	2000	\$ -		\$	0.0015	2000		3.00	\$	3.00	
11	Deferral/Variance Account		\$	-	2000	\$ -		-\$	0.0088	2000	-\$	17.56	-\$	17.56	
	Disposition Rate Rider														
12	GA Variance (if applicable)		\$	-		\$ -		\$	0.0075		\$	-	\$	-	
13			\$	-		\$ -		\$	-		\$	-	\$	-	
14			\$	-		\$ -		\$	-		\$	-	\$	-	
15			\$	-		\$ -		\$	-		\$	-	\$	-	
16	Sub-Total A - Distribution					\$ 56.11	71				\$	42.19	-\$	13.92	-24.81%
17	RTSR - Network		\$	0.0048	2099	\$ 10.08		\$	0.0060	2096.4		12.61	\$	2.53	25.14%
18	RTSR - Line and		\$	0.0034	2099	\$ 7.14		\$	0.0038	2096.4		7.87	\$	0.73	10.21%
	Transformation Connection		Ψ	0.0001	2000	Ψ 7.1		Ψ	0.0000	2000.1	Ψ	7.01	Ι Ψ	0.70	10.2170
19	Sub-Total B - Delivery					\$ 73.32	7				\$	62.66	-¢	10.66	-14.54%
13	(including Sub-Total A)					φ 13.32	• []				Ψ	02.00	Ψ.	10.00	-14.54 /6
20	Wholesale Market Service		\$	0.0052	2099	\$ 10.91	۱ ا	\$	0.0052	2096.4	\$	10.90	-\$	0.01	-0.12%
20	Charge (WMSC)		Φ	0.0052	2099	φ 10.91		φ	0.0052	2090.4	Φ	10.90	-φ	0.01	-0.1276
21	Rural and Remote Rate		\$	0.0013	2099	\$ 2.73	, 📙	\$	0.0013	2096.4	φ.	2.73	-\$	0.00	-0.12%
21	Protection (RRRP)		Э	0.0013	2099	\$ 2.73	9	Ф	0.0013	2096.4	Ф	2.73	-2	0.00	-0.12%
22	Special Purpose Charge		•		2000	•		Φ.	0.0004	2000 4	Φ.	0.05		0.05	
22	Standard Supply Service Charge		\$ \$	0.2500	2099	\$ - \$ 0.25	.	\$	0.0004 0.2500	2096.4	\$	0.85 0.25	\$	0.85	0.00%
23	Debt Retirement Charge (DRC)		\$		2099			\$		2096.4					
24				0.0070 0.0635	2099	\$ 14.69			0.0070			14.67	-\$	0.02	-0.12%
25	Energy		\$	0.0635	2099	\$ 133.29	,	\$	0.0635	2096.4		133.12	-\$	0.17	-0.12%
26			\$	-		\$ -		\$	-		\$	-	\$	-	
27	Total Dill (hofore Tower)		\$			\$ -	-	\$	-		\$	-	\$	-	4.0007
28	Total Bill (before Taxes)		<b>├</b>			\$ 235.19		_			\$		-\$	10.01	-4.26%
29	HST		<u> </u>	13%		\$ 30.58	_		13%		\$	29.27	-\$	1.30	-4.26%
30	Total Bill (including Sub-total					\$ 265.77	' [ ]				\$	254.46	-\$	11.31	-4.26%
	В)						┚								
					1		,			•					
31	Loss Factor	Note 1		4.95%					4.82%						

Notes: Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential

File Number:

2011 Rate Year:

### General Service < 50 kW

						General	Sei	rvice < 50 kV	V					
		Consumption		3500	kWh									
				Current B	oard-Appr	oved		Pro	oposed				Imp	act
		Charge Unit		Rate (\$)	Volume	Charge (\$)		Rate (\$)	Volume	(	Charge (\$)	C	\$ hange	% Change
1	Monthly Service Charge	Charge Onit	\$	16.5100	1	\$ 16.51	\$		1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$	1.0000	1	\$ 10.51	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	1.0000	1	\$ -	\$		1	\$	1.00	\$	-	0.0076
4	Service Charge Rate Rider(s)		\$	_	1	\$ -	\$		1	¢	_	\$	_	
5	Distribution Volumetric Rate		\$	0.0186	3500	\$ 65.10	\$		3500	\$	59.36	-\$	5.74	-8.82%
6	Low Voltage Rate Adder		\$	0.0100	3500	\$ 2.45	\$		3500		8.45	\$	6.00	244.86%
7	Volumetric Rate Adder(s)		\$	0.0007	3500	\$ -	\$	0.0024	3500		-	\$	-	244.0070
8	Volumetric Rate Rider(s)		\$	_	3500	\$ -	\$	_	3500		_	\$	_	
9	Smart Meter Disposition Rider		\$	_	3500	\$ -	\$		3500		_	\$	_	
10	LRAM & SSM Rider		\$	_	3500	\$ -	\$		3500		5.25	\$	5.25	
11	Deferral/Variance Account		\$	_	3500	\$ -	-\$		3500		30.73	-\$	30.73	
•••	Disposition Rate Rider		Ψ		0000	Ψ	Ψ	0.0000	0000	Ψ	00.70	Ψ	00.70	
12	GA Variance (if applicable)		\$	_		\$ -	\$	0.0075		\$	_	\$	_	
13	Criticalist (ii applicable)		\$	_		\$ -	\$			\$	_	\$	_	
14			\$	_		\$ -	\$			\$	_	\$	_	
15			\$	_		\$ -	\$			\$	_	\$	_	
16	Sub-Total A - Distribution					\$ 85.06	Ť			\$	60.33	_	24.73	-29.07%
17	RTSR - Network		\$	0.0048	3673.25	\$ 17.63	\$	0.0060	3668.7	\$	22.06	\$	4.43	25.14%
18	RTSR - Line and		\$	0.0034	3673.25	\$ 12.49	\$		3668.7	\$	13.76	\$	1.27	10.21%
	Transformation Connection		Ψ	0.0001	0070.20	Ψ 12.10	Ψ	0.0000	0000.1	Ψ	10.70	Ψ	1.27	10.2170
19	Sub-Total B - Delivery					\$ 115.18	г			\$	96.16	-\$	19.02	-16.51%
13	(including Sub-Total A)					φ 113.10				Ψ	30.10	-Ψ	13.02	-10.5176
20	Wholesale Market Service		\$	0.0052	3673.25	\$ 19.10	\$	0.0052	3668.7	\$	19.08	-\$	0.02	-0.12%
20	Charge (WMSC)		Ψ	0.0032	3073.23	ψ 19.10	Ψ	0.0032	3000.7	Ψ	13.00	-ψ	0.02	-0.1276
21	Rural and Remote Rate		\$	0.0013	3673.25	\$ 4.78	\$	0.0013	3668.7	¢	4.77	-\$	0.01	-0.12%
21	Protection (RRRP)		Ψ	0.0013	3073.23	Ψ 4.70	Ψ	0.0013	3000.7	Ψ	4.77	-ψ	0.01	-0.12/0
22	Special Purpose Charge		\$	_	3673.25	\$ -	\$	0.0004	3668.7	¢	1.49	\$	1.49	
23	Standard Supply Service Charge		\$	0.2500	1	\$ 0.25	\$		1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)		\$	0.0070	3673.25	\$ 25.71	\$		3668.7	\$	25.68	-\$	0.03	-0.12%
25	Energy		\$	0.0635	3673.25	\$ 233.25	\$		3668.7		232.96	-\$	0.29	-0.12%
26	2		\$	-	0010.20	\$ -	\$		0000.1	\$	-	\$	-	0.1270
27			\$	_		\$ -	\$			\$	-	\$	-	
28	Total Bill (before Taxes)		<b>—</b>			\$ 398.27	Ť			•	380.38	-\$	17.89	-4.49%
29	HST			13%		\$ 51.78	H	13%		\$	49.45	-\$	2.33	-4.49%
30	Total Bill (including Sub-total			1370		\$ 450.05	H	1070		•	429.83	_	20.22	-4.49%
30	В)					Ψ 430.03	I			Ψ	723.03	۳	20.22	-4.43/0
	,						_			-				
31	Loss Factor	Note 1		4.95%				4.82%						

Notes: Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential

File Number:

Rate Year: 2011

### General Service < 50 kW

						General	Ser	vice < 50 kV	N					
		Consumption		5000	kWh									
				Current B	oard-Appi	roved		Pr	oposed				Imp	act
		Charge Unit		Rate (\$)	Volume	Charge (\$)		Rate (\$)	Volume	C	harge (\$)	С	\$ hange	% Change
1	Monthly Service Charge		\$	16.5100	1	\$ 16.51	\$	17.0000	1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$	1.0000	1	\$ 1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$ -	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$ -	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate		\$	0.0186	5000	\$ 93.00	\$	0.0170	5000		84.80	-\$	8.20	-8.82%
6	Low Voltage Rate Adder		\$	0.0007	5000	\$ 3.50	\$	0.0024	5000		12.07	\$	8.57	244.86%
7	Volumetric Rate Adder(s)		\$	-	5000	*	\$	-	5000		-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	5000	\$ -	\$	-	5000		-	\$	-	
9	Smart Meter Disposition Rider		\$	-	5000	\$ -	\$	-	5000		-	\$	-	
10	LRAM & SSM Rider		\$	-	5000	\$ -	\$	0.0015	5000		7.50	\$	7.50	
11	Deferral/Variance Account		\$	-	5000	\$ -	-\$	0.0088	5000	-\$	43.90	-\$	43.90	
	Disposition Rate Rider		_			_								
12	GA Variance (if applicable)		\$	-		\$ -	\$	0.0075		\$	-	\$	-	
13			\$	-		\$ -	\$	-		\$	-	\$	-	
14			\$	-		\$ -	\$	-		\$	-	\$	-	
15	Sub-Total A - Distribution		\$	-		\$ -	\$	-		\$	70.47	\$	-	04.470/
16				2 22 12	50.47.5	\$ 114.01	•	2 2222	5044	\$	78.47		35.54	-31.17%
17	RTSR - Network RTSR - Line and		\$	0.0048	5247.5	\$ 25.19	\$	0.0060	5241	\$	31.52	\$	6.33	25.14%
18	Transformation Connection		\$	0.0034	5247.5	\$ 17.84	\$	0.0038	5241	\$	19.66	\$	1.82	10.21%
40	Sub-Total B - Delivery					A 457.04	Н			•	100.00	_	07.00	47 440/
19	(including Sub-Total A)					\$ 157.04				<b>Þ</b>	129.66	-\$	27.38	-17.44%
20	Wholesale Market Service		\$	0.0052	5247.5	\$ 27.29	\$	0.0052	5241	\$	27.25	-\$	0.03	-0.12%
20	Charge (WMSC)		Ψ	0.0032	3247.3	Ψ 21.29	Ψ	0.0032	3241	Ψ	21.25	Ψ	0.03	-0.12/0
21	Rural and Remote Rate		\$	0.0013	5247.5	\$ 6.82	\$	0.0013	5241	\$	6.81	-\$	0.01	-0.12%
	Protection (RRRP)		Ψ	0.0010	0217.0	Ψ 0.02	Ψ	0.0010	0211	Ψ	0.01	Ι Ψ	0.01	0.1270
22	Special Purpose Charge		\$	_	5247.5	\$ -	\$	0.0004	5241	\$	2.12	\$	2.12	
23	Standard Supply Service Charge		\$	0.2500	1	\$ 0.25	\$	0.2500	1	\$	0.25	\$		0.00%
24	Debt Retirement Charge (DRC)		\$	0.0070	5247.5	\$ 36.73	\$	0.0070	5241	\$	36.69	-\$	0.05	-0.12%
25	Energy		\$	0.0635	5247.5	\$ 333.22	\$	0.0635	5241	\$	332.80	-\$	0.41	-0.12%
26			\$	-		\$ -	\$	-		\$	-	\$	-	
27			\$	-		\$ -	\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)					\$ 561.35				\$	535.59	-\$	25.76	-4.59%
29	HST			13%		\$ 72.98		13%		\$	69.63	-\$	3.35	-4.59%
30	Total Bill (including Sub-total					\$ 634.32				\$	605.21	-\$	29.11	-4.59%
	В)											L		
	Laca Fastan	No.		4.050/				4.000/	 1					
31	Loss Factor	Note 1		4.95%				4.82%	j					

N	-4	 
N	OT	

Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential

File Number:

Rate Year: 2011

### General Service < 50 kW

Consumption 10000 kWh

				Curren	t Board-Ap	pro	ved
		Charge		Rate	Volume	(	Charge
		Unit		(\$)			(\$)
1	Monthly Service Charge		\$	16.5100	1	\$	16.51
2	Smart Meter Rate Adder		\$	1.0000	1	\$	1.00
3	Service Charge Rate Adder(s)		\$	-	1	\$	-
4	Service Charge Rate Rider(s)		\$	-	1	\$	-
5	Distribution Volumetric Rate		\$	0.0186	10000	\$	186.00
6	Low Voltage Rate Adder		\$	0.0007	10000	\$	7.00
7	Volumetric Rate Adder(s)		\$	-	10000	\$	-
8	Volumetric Rate Rider(s)		\$	-	10000	\$	-
9	Smart Meter Disposition Rider		\$	-	10000	\$	-
10	LRAM & SSM Rider		\$	-	10000	\$	-
11	Deferral/Variance Account		\$	-	10000	\$	-
	Disposition Rate Rider						
12	GA Variance (if applicable)		\$	-		\$	-
13			\$	-		\$	-
14			\$	-		\$	-
15			\$	-		\$	-
16	Sub-Total A - Distribution					\$	210.51
17	RTSR - Network		\$	0.0048	10495	\$	50.38
18	RTSR - Line and Transformation		\$	0.0034	10495	\$	35.68
	Connection						
19	Sub-Total B - Delivery (including Sub-Total A)					\$	296.57
20	Wholesale Market Service Charge		\$	0.0052	10495	Ś	54.57
	(WMSC)		,	0.0032	10455	Y	34.37
21	Rural and Remote Rate Protection		Ś	0.0013	10495	Ś	13.64
	(RRRP)		_			*	
22	Special Purpose Charge		\$	-	10495	\$	-
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25
24	Debt Retirement Charge (DRC)		\$	0.0070	10495	\$	73.47
25	Energy		\$	0.0635	10495	\$	666.43
26			\$	-		\$	-
27			\$	-		\$	-
28	Total Bill (before Taxes)					\$1	,104.93
29	HST			13%		\$	143.64
30						\$1	,248.58
	Total Bill (including Sub-total B)						
31	Loss Factor	Note 1		4.95%			
J 1	LUGG I GULUI	HOLE I	_	4.55%			

		Proposed		
	Rate	Volume	(	Charge
	(\$)			(\$)
	17.0000	1	\$	17.00
\$	1.0000	1	\$	1.00
\$	-	1	\$	-
\$	-	1	\$	-
\$	0.0170	10000	\$	169.60
\$	0.0024	10000	\$	24.14
\$	-	10000	\$	-
\$	-	10000	\$	-
\$	-	10000	\$	-
\$ \$ \$ \$ \$ \$ \$	0.0015	10000	\$	15.00
-\$	0.0088	10000	-\$	87.80
\$	0.0075		\$	-
\$ \$ \$	-		\$	-
\$	-		\$	-
\$	-		\$ \$ \$	-
			\$	138.95
\$	0.0060	10482	\$	63.04
\$	0.0038	10482	\$	39.33
			\$	241.31
٨	0.0052	40400	\$	54.51
\$	0.0052	10482	>	54.51
,	0.0013	10403	,	12.62
\$	0.0013	10482	\$	13.63
ċ	0.0004	10482	\$	4.25
\$	0.0004	10462	\$	0.25
ç	0.2500	10482	\$	73.37
ç	0.0070	10482	\$	665.61
ç	0.0035	10482	\$	005.01
\$ \$ \$ \$			\$	-
Ų	-			,052.92
	13%		\$	136.88
	13%			136.88
			Φï	1,109.00
	4.82%			

	lmp	act
		%
	Change	Change
\$	0.49	2.97%
\$	-	0.00%
\$	-	
\$	-	
-\$	16.40	-8.82%
\$	17.14	244.86%
\$	-	
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	-	
\$	-	
\$	15.00	
-\$	87.80	
\$	-	
\$	-	
\$ \$ <b>\$</b>	-	
\$	-	
-\$	71.56	-33.99%
\$	12.66	25.14%
\$	3.64	10.21%
-\$	55.26	-18.63%
-\$	0.07	-0.12%
-\$	0.02	-0.12%
Ф <p< th=""><td>4.25</td><td></td></p<>	4.25	
\$	-	0.00%
-\$	0.09	-0.12%
-Ş	0.83	-0.12%
\$	-	
\$ <b>-\$</b>	-	4.740/
	52.01	-4.71%
-\$	6.76 <b>58.78</b>	-4.71%
-\$	58.78	-4.71%

Notes:

Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential



Consumption

25000 kWh

4.95%

Note 1

Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### GS 50 to 4,999 kW

4.82%

load 50 kW Current Board-Approved Proposed Impact Charge Rate Volume Rate Charge **Charge Unit** (\$) (\$) (\$) (\$) \$ Change Change Monthly Service Charge \$ 29.4100 29.41 \$ 95.0000 95.00 \$ 65.59 223.02% Smart Meter Rate Adder 1.0000 1.00 \$ 1.0000 Ś 1.00 \$ 0.00% Ś Service Charge Rate Adder(s) \$ \$ \$ Service Charge Rate Rider(s) \$ Ś \$ \$ \$ 5.2549 \$ 3.2855 \$ 164.27 Distribution Volumetric Rate 50 \$ 262.75 50 -\$ 98.47 -37.48% 6 Low Voltage Rate Adder \$ 0.3196 50 \$ 15.98 \$ 1.1222 50 \$ 56.11 \$ 40.13 251.12% Volumetric Rate Adder(s) 50 50 \$ \$ \$ 8 Volumetric Rate Rider(s) 50 \$ \$ 50 \$ 9 Smart Meter Disposition Rider 50 50 \$ \$ 10 LRAM & SSM Rider 50 0.0067 50 0.34 0.34 11 Deferral/Variance Account 50 \$ 3.6922 50 -\$ 184.61 -\$ 184.61 Disposition Rate Rider 12 GA Variance (if applicable) \$ \$ \$ 0.0075 25000 \$ 187.85 \$ 187.85 13 \$ \$ 14 \$ \$ 15 Sub-Total A - Distribution 3.50% 16 \$ 309.14 \$ 319.96 \$ 10.82 17 RTSR - Network \$ 1.9188 52.475 100.69 \$ 2.4041 52.41 \$ 126.00 25.31 25.14% RTSR - Line and Transformation \$ 1.4110 52.475 \$ 1.5570 52.41 \$ 81.60 18 \$ 74.04 7.56 10.21% Connection
Sub-Total B - Delivery (including \$ 483.87 \$ 527.56 \$ 43.69 9.03% 19 Sub-Total A) 20 Wholesale Market Service Charge \$ 0.0052 26237.5 \$ 136.44 \$ 0.0052 26205 \$ 136.27 0.17 -0.12% (WMSC) Rural and Remote Rate Protection \$ 0.0013 26237.5 \$ 34.11 \$ 0.0013 26205 \$ 34.07 -\$ 0.04 -0.12% (RRRP) Special Purpose Charge 26237.5 \$ 0.0004 26205 \$ 10.61 \$ 10.61 23 \$ 0.2500 \$ 0.2500 Standard Supply Service Charge 0.25 0.25 0.00% Ś -\$ -\$ 24 Debt Retirement Charge (DRC) 0.0070 26237.5 \$ 183.66 0.0070 26205 \$ 183.44 0.23 -0.12% \$ Ś 25 Energy \$ 0.0635 26237.5 \$1,666.08 \$ 0.0635 26205 \$1,664.02 2.06 -0.12% 26 \$ 27 28 Total Bill (before Taxes) \$2,504.40 \$2,556.21 \$ 51.80 2.07% 13% 13% HST \$ 325.57 \$ 332.31 6.73 2.07% 30 \$2,829.98 \$2,888.51 \$ 58.53 2.07%

Notes:

31 Loss Factor

Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential

Total Bill (including Sub-total B)



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### GS 50 to 4,999 kW

Consumption 40000 kWh load 75 kW

			Current Board-Approved		
			Rate	Volume Charge	
		Charge Unit	(\$)		(\$)
1	Monthly Service Charge		\$ 29.4100	1	\$ 29.41
2	Smart Meter Rate Adder		\$ 1.0000	1	\$ 1.00
3	Service Charge Rate Adder(s)		\$ -	1	\$ -
4	Service Charge Rate Rider(s)		\$ -	1	\$ -
5	Distribution Volumetric Rate		\$ 5.2549	75	\$ 394.12
6	Low Voltage Rate Adder		\$ 0.3196	75	\$ 23.97
7	Volumetric Rate Adder(s)		\$ -	75	\$ -
8	Volumetric Rate Rider(s)		\$ -	75	\$ -
9	Smart Meter Disposition Rider		\$ -	75	\$ -
10	LRAM & SSM Rider		\$ -	75	\$ -
11	Deferral/Variance Account		\$ -	75	\$ -
	Disposition Rate Rider				
12	GA Variance (if applicable)		\$ -		\$ -
13			\$ -		\$ -
14			\$ -		\$ -
15			\$ -		\$ -
16	Sub-Total A - Distribution				\$ 448.50
17	RTSR - Network		\$ 1.9188	78.7125	\$ 151.03
18	RTSR - Line and Transformation		\$ 1.4110	78.7125	\$ 111.06
	Connection				
19	Sub-Total B - Delivery (including Sub-Total A)				\$ 710.59
20	Wholesale Market Service Charge (WMSC)		\$ 0.0052	41980	\$ 218.30
21	Rural and Remote Rate Protection (RRRP)		\$ 0.0013	41980	\$ 54.57
22	Special Purpose Charge		\$ -	41980	\$ -
23	Standard Supply Service Charge		\$ 0.2500	1	\$ 0.25
24	Debt Retirement Charge (DRC)		\$ 0.0070	41980	\$ 293.86
25	Energy		\$ 0.0635	41980	\$ 2,665.73
26			\$ -		\$ -
27			\$ -		\$ -
28	Total Bill (before Taxes)				\$3,943.30
29	HST		13%		\$ 512.63
30					\$4,455.93
					• .,
	Total Bill (including Sub-total B)				
31	Loss Factor	Note 1	4.95%		

	е
(\$) (\$) \$ 95.0000 1 \$ 95.0 \$ 1.0000 1 \$ 1.0	
\$ 95.0000 1 \$ 95.0 \$ 1.0000 1 \$ 1.0000	
	00
	00
\$ - 1 \$ -	
\$ - 1 \$ -	
\$ 3.2855 75 \$ 246.	41
\$ 1.1222 75 \$ 84.	16
\$ - 75 \$ -	
\$ - 75 \$ -	
\$ - 75 \$ -	
\$ 0.0067 75 \$ 0.	50
-\$ 3.6922 75 -\$ 276.º	92
\$ 0.0075 40000 \$ 300.	56
\$ - \$ -	
\$ - \$ - \$ - \$ -	
\$ - \$ - \$ - \$ <b>\$</b>	
\$ 450.	72
\$ 2.4041 78.615 \$ 189.	00
\$ 1.5570 78.615 \$ 122.	40
\$ 762.	12
\$ 0.0052 41928 \$ 218.	03
\$ 0.0013 41928 \$ 54.	51
\$ 0.0004 41928 \$ 16.	
\$ 0.2500 1 \$ 0.	25
\$ 0.0004	
\$ 0.0635 41928 \$2,662.	43
\$ -	
\$ - \$ -	
\$4,007.	_
13% \$ 521.	
\$4,528.	82
1 1	_

Impact					
	%				
\$ (	Change	Change			
\$	65.59	223.02%			
	-	0.00%			
Ś	-				
Ś	_				
-\$	- - - 147.71 60.19 - -	-37.48%			
\$	60.19	251.12%			
\$	-				
\$	-				
\$	-				
\$	0.50				
-\$	276.92				
\$	300.56				
\$	-				
\$	-				
\$ \$ \$	-				
\$	2.23	0.50%			
\$	37.96	25.14%			
\$	11.34	10.21%			
_	51.53	7.25%			
\$	51.53	7.25%			
-\$	0.27	-0.12%			
-\$	0.07	-0.12%			
\$	16.98				
\$	-	0.00%			
-\$	0.36	-0.12%			
-\$ -\$ \$	3.30	-0.12%			
\$	-				
\$	-				
\$	64.51	1.64%			
\$	8.39	1.64%			
	72.89	1.64%			
\$	12.09				
	72.09				
	72.09				

Notes:

Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential



Consumption 50000 kWh

Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### GS 50 to 4,999 kW

4.82%

		load		100	kW												
				Curren	ıt Board-Ap	pro	oved	1	Π		Proposed			1		Imp	act
				Rate	Volume	_	Charge			Rate	Volume	_	Charge				%
		Charge Unit		(\$)			(\$)			(\$)			(\$)		\$ C	hange	Change
1	Monthly Service Charge		\$ 2	29.4100	1	\$	29.41		\$	95.0000	1	\$	95.00		\$	65.59	223.02%
2	Smart Meter Rate Adder		\$	1.0000	1	\$	1.00		\$	1.0000	1	\$	1.00		\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-		\$	-	1	\$	-		\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-		\$	-	1	\$	-		\$	-	
5	Distribution Volumetric Rate		\$	5.2549	100	\$	525.49		\$	3.2855	100	\$	328.55		-\$	196.94	-37.48%
6	Low Voltage Rate Adder		\$	0.3196	100	\$	31.96		\$	1.1222	100	\$	112.22		\$	80.26	251.12%
7	Volumetric Rate Adder(s)		\$	-	100	\$	-		\$	-	100	\$	-		\$	-	
8	Volumetric Rate Rider(s)		\$	-	100	\$	-		\$	-	100	\$	-		\$	-	
9	Smart Meter Disposition Rider		\$	-	100	\$	-		\$	-	100	\$	-		\$	-	
10	LRAM & SSM Rider		\$	-	100	\$	-		\$	0.0067	100	\$	0.67		\$	0.67	
11	Deferral/Variance Account		\$	-	100	\$	-		-\$	3.6922	100	-\$	369.22		-\$	369.22	
	Disposition Rate Rider																
12	GA Variance (if applicable)		\$	-		\$	-		\$	0.0075	50000	\$	375.70		\$	375.70	
13			\$	-		\$	-		\$	-		\$	-		\$	-	
14			\$	-		\$	-		\$	-		\$	-		\$	-	
15			\$	-		\$	-		\$	-		\$	-		\$	-	
16	Sub-Total A - Distribution					\$	587.86					\$	543.92		-\$	43.94	-7.47%
17	RTSR - Network		\$	1.9188	104.95	\$	201.38		\$	2.4041	104.82	\$	252.00		\$	50.62	25.14%
18	RTSR - Line and Transformation		\$	1.4110	104.95	\$	148.08		\$	1.5570	104.82	\$	163.20		\$	15.12	10.21%
	Connection																
19	Sub-Total B - Delivery (including Sub-Total A)					\$	937.32					\$	959.12		\$	21.79	2.33%
20	Wholesale Market Service Charge		\$	0.0052	52475	\$	272.87		\$	0.0052	52410	\$	272.53		-\$	0.34	-0.12%
	(WMSC)																
21	Rural and Remote Rate Protection		\$	0.0013	52475	\$	68.22		\$	0.0013	52410	\$	68.13		-\$	0.08	-0.12%
	(RRRP)																
22	Special Purpose Charge		\$	-	52475	\$	-		\$	0.0004	52410	\$	21.23		\$	21.23	
23	Standard Supply Service Charge		\$	0.2500	1		0.25		\$	0.2500	1	\$	0.25		\$	-	0.00%
24	Debt Retirement Charge (DRC)		\$	0.0070	52475				\$	0.0070	52410	\$	366.87		-\$	0.46	-0.12%
25	Energy		\$	0.0635	52475		3,332.16		\$	0.0635	52410		3,328.04		-\$	4.13	-0.12%
26			\$	-		\$	-		\$	-		\$			\$	-	
27			\$	-		\$	-		\$	-		\$			\$	-	
28	Total Bill (before Taxes)					_	4,978.15					·	5,016.16		\$	38.02	0.76%
29	HST			13%		\$	647.16			13%		\$		]	\$	4.94	0.76%
30						\$	5,625.31					\$	5,668.26		\$	42.95	0.76%
	Total Bill (including Sub-total B)																

4.95%

Note 1

Notes:

31 Loss Factor

File Number:

Rate Year: 2011

#### GS 50 to 4,999 kW

Consumption 150000 kWh load 250 kW

			Curre	nt Board-A	opr	oved
			Rate	Volume		Charge
		Charge Unit	(\$)			(\$)
1	Monthly Service Charge		\$ 29.4100	1	\$	29.41
2	Smart Meter Rate Adder		\$ 1.0000	1	\$	1.00
3	Service Charge Rate Adder(s)		\$ -	1	\$	-
4	Service Charge Rate Rider(s)		\$ -	1	\$	-
5	Distribution Volumetric Rate		\$ 5.2549	250	\$	1,313.73
6	Low Voltage Rate Adder		\$ 0.3196	250	\$	79.90
7	Volumetric Rate Adder(s)		\$ -	250	\$	-
8	Volumetric Rate Rider(s)		\$ -	250	\$	-
9	Smart Meter Disposition Rider		\$ -	250	\$	-
10	LRAM & SSM Rider		\$ -	250	\$	-
11	Deferral/Variance Account		\$ -	250	\$	-
	Disposition Rate Rider					
12	GA Variance (if applicable)		\$ -		\$	-
13			\$ -		\$	-
14			\$ -		\$	-
15			\$ -		\$	-
16	Sub-Total A - Distribution				\$	1,424.04
17	RTSR - Network		\$ 1.9188	262.375	\$	503.45
18	RTSR - Line and Transformation		\$ 1.4110	262.375	\$	370.21
	Connection				_	
19	Sub-Total B - Delivery (including Sub-Total A)				\$	2,297.69
20	Wholesale Market Service Charge (WMSC)		\$ 0.0052	157425	\$	818.61
21	Rural and Remote Rate Protection (RRRP)		\$ 0.0013	157425	\$	204.65
22	Special Purpose Charge		\$ -	157425	\$	-
23	Standard Supply Service Charge		0.2500	1	\$	0.25
24	Debt Retirement Charge (DRC)		\$ 0.0070	157425	\$	1,101.98
25	Energy		\$ 0.0635	157425	\$	9,996.49
26			\$ -		\$	-
27			\$ -		\$	-
28	Total Bill (before Taxes)				\$	14,419.67
29	HST		13%		\$	1,874.56
30					\$	16,294.22
	Total Bill (including Sub-total B)					

Note 1

4.95%

		Proposed	1	
	Rate	Volume		Charge
	(\$)			(\$)
\$	95.0000	1	\$	95.00
\$	1.0000	1	\$	1.00
\$	-	1	\$	-
\$	-	1	\$	-
\$	3.2855	250	\$	821.37
\$	1.1222	250	\$	280.55
\$ \$	-	250	\$	-
\$	-	250	\$	-
\$	-	250	\$	-
\$	0.0067	250	\$	1.68
-\$	3.6922	250	-\$	923.05
\$	0.0075	150000	\$	1,127.10
\$	-		\$	-
\$	-		\$	-
\$	-		\$ \$	-
				1,403.65
\$	2.4041	262.05	\$	629.99
\$	1.5570	262.05	\$	408.00
			_	
			\$	2,441.64
\$	0.0052	157230	\$	817.60
\$	0.0013	157230	\$	204.40
\$	0.0004	157230	\$	63.68
\$	0.2500	1	\$	0.25
\$ \$	0.0070	157230	\$	1,100.61
	0.0635	157230	\$	9,984.11
\$	-		\$	-
\$	-		\$	-
				14,612.28
	13%		\$	1,899.60
			\$	16,511.88

4.82%

	Imp	
		%
	Change	Change
\$	65.59	223.02%
\$	-	0.00%
\$	-	
\$	-	
-\$	492.35	-37.48%
\$	200.65	251.12%
\$	-	
\$	-	
\$	-	
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	1.68	
-\$	923.05	
\$ :	1,127.10	
\$	-	
\$	-	
\$	-	
-\$	20.39	-1.43%
\$ \$ \$ <b>-\$</b>	126.55	25.14%
\$	37.79	10.21%
\$	143.95	6.27%
-\$	1.01	-0.12%
Ÿ	1.01	0.12/0
-\$	0.25	-0.12%
پ	0.23	-0.12/0
\$	63.68	
\$ \$ \$ \$ \$ \$	-	0.00%
-\$	1.37	-0.12%
-\$	12.38	-0.12%
\$	-	
\$	-	
\$	192.61	1.34%
\$	25.04	1.34%
\$	217.66	1.34%

Notes:

31 Loss Factor

8

9

16

17

18

Consumption

250000 kWh

\$

\$

\$

\$ 1.9188

\$ 1.4110

\$ 0.0052

\$ 0.0013

\$ 0.2500

\$ 0.0070

13%

4.95%

\$ 0.0635

Note 1

Charge

(\$)

Ś

\$

\$ \$ 2,627.45

\$ 159.80

\$

\$

\$ 2.817.66

\$ 1,006.89

\$ 4,564.97

\$ 1,364.35

\$ 1,836,63

\$ 16,660.81

\$ 24,768.10

\$ 3,219.85

\$ 27,987.95

0.25

740.42

500 \$

500

500

500

524.75

524.75

262375

262375 \$ 341.09

262375

262375

262375

29.41

1.00

Name of LDC: Brant County Power

File Number:

2011 Rate Year:

#### GS 50 to 4,999 kW

load 500 kW Current Board-Approved Rate Volume **Charge Unit** (\$) Monthly Service Charge \$ 29.4100 Smart Meter Rate Adder \$ 1.0000 Service Charge Rate Adder(s) Service Charge Rate Rider(s) \$ -\$ 5.2549 Distribution Volumetric Rate 500 6 0.3196 500 500

Low Voltage Rate Adder \$ Volumetric Rate Adder(s) Volumetric Rate Rider(s) Smart Meter Disposition Rider

10 LRAM & SSM Rider Deferral/Variance Account Disposition Rate Rider GA Variance (if applicable)

12 13 14 15

> Sub-Total A - Distribution RTSR - Network RTSR - Line and Transformation

Connection
Sub-Total B - Delivery (including 19 Sub-Total A)

20 Wholesale Market Service Charge (WMSC) Rural and Remote Rate Protection

(RRRP) Special Purpose Charge Standard Supply Service Charge

23 24 Debt Retirement Charge (DRC) 25 Energy 26

27 28 Total Bill (before Taxes) HST

31 Loss Factor

30

Total Bill (including Sub-total B)

_			_	
	B	Proposed	1	01
	Rate	Volume		Charge
	(\$)		_	(\$)
	95.0000	1	\$	95.00
\$	1.0000	1	\$	1.00
\$	-	1	\$	-
\$ \$	-	1	\$	-
	3.2855	500	\$	1,642.74
\$	1.1222	500	\$	561.10
\$ \$ \$	-	500	\$	-
\$	-	500	\$	-
\$	-	500	\$	-
\$	0.0067	500	\$	3.35
-\$	3.6922	500	-\$	1,846.11
\$	0.0075	250000	\$	1,878.51
\$	-		\$	-
\$	-		\$	-
\$	-		\$	-
			\$	2,335.59
\$	2.4041	524.1	\$	1,259.99
\$	1.5570	524.1	\$	816.01
			\$	4,411.58
\$	0.0052	262050	\$	1,362.66
۶	0.0032	202030	ڔ	1,302.00
\$	0.0013	262050	\$	340.67
۶	0.0013	202030	ڔ	340.07
\$	0.0004	262050	\$	106.13
\$	0.2500	1	\$	0.25
	0.0070	262050	\$	1,834.35
\$ \$	0.0635	262050		16,640.18
\$	-	202030	\$	,0.0.10
\$			\$	_
Ÿ			\$	24,695.81
$\vdash$	13%		\$	3,210.46
H	2370			27,906.27
			7	,000.21

	Impa	
		%
\$ (	Change	Change
\$	65.59	223.02%
\$	-	0.00%
\$	-	
\$	-	
\$ \$ -\$ \$ \$ -\$	984.71	-37.48%
\$	401.30	251.12%
\$	-	
\$	-	
\$	-	
\$	3.35	
-\$ 1	1,846.11	
\$ 1	1,878.51	
Ś	-	
Ś	_	
Ś	-	
\$ \$ \$ <b>-\$</b>	482.07	-17.11%
Ś	253.10	25.14%
Ś	75.58	10.21%
-\$	153.39	-3.36%
-\$	1.69	-0.12%
-\$	0.42	-0.12%
	100 10	
\$	106.13	0.00=1
\$	-	0.00%
-\$	2.27	-0.12%
-Ş	20.64	-0.12%
\$	-	
\$ -\$ -\$ \$ - <b>\$</b>	-	
	72.28	-0.29%
-\$	9.40	-0.29%
-\$	81.68	-0.29%

4.82%



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Street Light

Consumption 146998 kWh load 399 kW

				Curre	nt Board-A	ppr	oved
				Rate	Volume		Charge
		Charge Unit		(\$)			(\$)
1	Monthly Service Charge		\$	0.8100	1	\$	0.81
2	Smart Meter Rate Adder				1	\$	-
3	Service Charge Rate Adder(s)		\$	-	1	\$	-
4	Service Charge Rate Rider(s)		\$	-	1	\$	-
5	Distribution Volumetric Rate		\$	4.1543	399	\$	1,657.57
6	Low Voltage Rate Adder		\$	0.2394	399	\$	95.52
7	Volumetric Rate Adder(s)		\$	-	399	\$	-
8	Volumetric Rate Rider(s)		\$	-	399	\$	-
9	Smart Meter Disposition Rider		\$	-	399	\$	-
10	LRAM & SSM Rider		\$	-	399	\$	-
11	Deferral/Variance Account		\$	-	399	\$	-
	Disposition Rate Rider						
12	GA Variance (if applicable)		\$	-		\$	-
13			\$	-		\$	-
14			\$	-		\$	-
15			\$	-		\$	-
16	Sub-Total A - Distribution					\$	1,753.90
17	RTSR - Network		\$	1.4472	418.7505	\$	606.02
18	RTSR - Line and Transformation		\$	1.0908	418.7505	\$	456.77
	Connection						
19	Sub-Total B - Delivery (including Sub-Total A)					\$	2,816.69
20	Wholesale Market Service Charge (WMSC)		\$	0.0052	154274.4	\$	802.23
21	Rural and Remote Rate Protection (RRRP)		\$	0.0013	154274.4	\$	200.56
22	Special Purpose Charge		\$	_	154274.4	Ś	_
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25
24	Debt Retirement Charge (DRC)		\$	0.0070	154274.4	\$	1,079.92
25	Energy		\$	0.0635	154274.4	\$	9,796.42
26			\$	-		Ś	-
27			Ś			Ś	_
28	Total Bill (before Taxes)		Ė			\$	14,696.06
29	HST			13%		Ś	1.910.49
30						\$	16,606.55
	Total Bill (including Sub-total B)						
31	Loss Factor	Note 1		4.95%			

		Proposed	ı	
	Rate	Volume		Charge
	(\$)			(\$)
\$	1.5000	1	\$	1.50
		1	\$	-
\$	-	1	\$	-
\$	-	1	\$	-
	43.9802	399	\$	17,548.10
	0.8406	399	\$	335.40
\$ \$ \$ \$	-	399	\$	-
\$	-	399	\$	-
\$	-	399	\$	-
\$	0.8746	399	\$	348.97
-\$	2.1139	399	-\$	843.45
\$	0.0075	146998	\$	1,104.55
\$	-		\$	-
\$ \$ \$	-		\$ \$	-
\$	-		\$	-
			\$	18,495.07
\$	1.8132	418.2318	\$	758.34
\$	1.2036	418.2318	\$	503.38
			\$	19,756.79
\$	0.0052	154083.3	\$	801.23
\$	0.0052	154083.3 154083.3	\$	801.23 200.31
\$			\$	
\$	0.0013	154083.3	\$ \$ \$	200.31 62.40 0.25
\$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	\$ \$ \$ \$	200.31 62.40 0.25 1,078.58
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500	154083.3 154083.3 1	, \$ \$ \$ \$	200.31 62.40 0.25
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	. , , , , , , ,	200.31 62.40 0.25 1,078.58 9,784.29
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58 9,784.29 - - 31,683.86 4,118.90
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070 0.0635	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58 9,784.29
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070 0.0635	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58 9,784.29 - - 31,683.86 4,118.90
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070 0.0635	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58 9,784.29 - - 31,683.86 4,118.90

	Шра	
		%
	Change	Change
\$	0.69	85.19%
\$	-	
\$	-	
\$	-	
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	15,890.53	958.67%
\$	239.88	251.13%
\$	-	
\$	-	
\$	-	
\$	348.97	
-\$	843.45	
\$	1,104.55	
\$	-	
\$	-	
\$	- - - - 16,741.17	
\$	16,741.17	954.51%
\$	152.32	25.14%
\$	46.61	10.20%
\$	16,940.10	601.42%
-\$	0.99	-0.12%
-\$	0.25	-0.12%
	0.25 62.40	-0.12%
		-0.12%
	62.40	0.00%
	62.40 - 1.34	0.00% -0.12%
	62.40 - 1.34 12.13 -	0.00% -0.12% -0.12%
\$ \$ \$ \$ \$	62.40 - 1.34 12.13 - -	0.00% -0.12% -0.12%
\$ \$ \$ \$ \$ \$	62.40 1.34 12.13 - - 16,987.79 2,208.41	0.00% -0.12% -0.12% <b>115.59%</b> 115.59%
\$ \$ \$ \$ \$ \$	62.40 - 1.34 12.13 - -	0.00% -0.12% -0.12%

Impact



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Sentinel Lights

Consumption	85	kWi
load	0.22	kW

			Г	Curre	nt Board-A	ppr	oved
				Rate	Volume		Charge
		Charge Unit		(\$)			(\$)
1	Monthly Service Charge		\$	2.5200	1	\$	2.52
2	Smart Meter Rate Adder				1	\$	-
3	Service Charge Rate Adder(s)		\$	-	1	\$	-
4	Service Charge Rate Rider(s)		\$	-	1	\$	-
5	Distribution Volumetric Rate		\$	8.2496	0.22	\$	1.81
6	Low Voltage Rate Adder		\$	0.2048	0.22	\$	0.05
7	Volumetric Rate Adder(s)		\$	-	0.22	\$	-
8	Volumetric Rate Rider(s)		\$	-	0.22	\$	-
9	Smart Meter Disposition Rider		\$	-	0.22	\$	-
10	LRAM & SSM Rider		\$	-	0.22	\$	-
11	Deferral/Variance Account		\$	-	0.22	\$	-
	Disposition Rate Rider						
12	GA Variance (if applicable)		\$	-		\$	-
13			\$	-		\$	-
14			\$	-		\$	-
15			\$	-		\$	-
16	Sub-Total A - Distribution					\$	4.38
17	RTSR - Network		\$	1.4544	0.23089	\$	0.34
18	RTSR - Line and Transformation		\$	1.1137	0.23089	\$	0.26
	Connection						
19	Sub-Total B - Delivery (including Sub-Total A)					\$	4.97
20	Wholesale Market Service Charge		\$	0.0052	89.2075	\$	0.46
	(WMSC)						
21	Rural and Remote Rate Protection (RRRP)		\$	0.0013	89.2075	\$	0.12
22	Special Purpose Charge		\$		89.2075	Ś	_
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25
24	Debt Retirement Charge (DRC)		Ś	0.0070	89.2075	Ś	0.62
25	Energy		\$	0.0635	89.2075	\$	5.66
26	- 5,		\$	-		\$	-
27			\$	-		\$	-
28	Total Bill (before Taxes)		Ė			\$	12.09
29	HST		H	13%		\$	1.57
30						\$	13.66
	Total Bill (including Sub-total B)						

Note 1

		Proposed	i	
	Rate		Charge	
	(\$)			(\$)
\$	2.0000	1	\$	2.00
		1	\$	-
\$	-	1	\$	-
\$ \$	-	1	\$ \$ \$ \$	-
\$	29.8835	0.22	\$	6.57
\$	0.7192	0.22	\$	0.16
\$	-	0.22	\$	-
\$	-	0.22	\$	-
\$ \$ \$ -\$	-	0.22	\$	-
	0.0122	0.22	-\$	0.00
-\$	2.6584	0.22	-\$	0.58
_	0.0075	85		0.54
\$ \$ \$	0.0075	85	\$	0.64
۶	-		\$	-
ç	-		ç	-
Ş	-		\$ \$ \$	8.78
\$	1.8222	0.230604	\$	0.42
\$	1.2289	0.230604	\$	0.42
٧	1.2203	0.230004	ڔ	0.20
П			\$	9.49
			•	
\$	0.0052	89.097	\$	0.46
\$	0.0013	89.097	\$	0.12
\$	0.0004	89.097	\$	0.04
\$	0.2500	1	\$	0.25
\$	0.0070	89.097	\$	0.62
\$ \$ \$ \$	0.0635	89.097	\$	5.66
\$	-		φ φ φ φ	-
\$	-		\$	
			\$	16.63
	13%		\$	2.16
			\$	18.80

	Imp	act
\$ C	hange	% Change
-Ş	0.52	-20.63%
\$	-	
, ,	-	
\$ ¢	- 4.76	262.24%
\$ ¢	0.11	262.24% 251.17%
ç	0.11	251.17%
ç		
ċ		
ب _ذ	0.00	
-\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	0.58	
Ÿ	0.56	
Ś	0.64	
Ś	-	
Ś	_	
Ś	_	
\$ \$ \$ <b>\$</b>	4.40	100.54%
\$	0.08	25.13%
\$	0.03	10.21%
\$	4.51	90.78%
-\$	0.00	-0.12%
_		
-\$	0.00	-0.12%
Ļ	0.04	
ç	0.04	0.00%
<u>ې</u> د	0.00	-0.12%
ڊ- خ	0.00	-0.12% -0.12%
ڊ- د	0.01	-0.12%
٠ ¢	-	
\$ \$ \$ \$ <b>\$</b>	4.54	37.56%
Ś	0.59	37.56%
\$ <b>\$</b>	5.14	37.63%
•	J.14	57.0070

Notes: Note 1

31 Loss Factor

1: See Note 1 from Sheet 1A. Bill Impacts - Residential	

4.82%

4.95%

File Number:

2011 Rate Year:

#### Unmetered

				200				Uı	nm	etered	
		Consumption	1	833	kWh						
				Curren	t Board-Ap	pro	ved				Pi
		Charge		Rate	Volume	(	Charge			Rate	1
		Unit		(\$)			(\$)			(\$)	
1	Monthly Service Charge		\$	8.2500	1	\$	8.25		\$	2.0000	
2	Smart Meter Rate Adder				1	\$	-				
3	Service Charge Rate Adder(s)		\$	-	1	\$	-		\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-		\$	-	
5	Distribution Volumetric Rate		\$	0.0186	833	\$	15.49		\$	0.0187	
6	Low Voltage Rate Adder		\$	0.0022	833	\$	1.83		\$	0.0024	
7	Volumetric Rate Adder(s)		\$	-	833	\$	-		\$	-	
8	Volumetric Rate Rider(s)		\$	-	833	\$	-		\$	-	
9	Smart Meter Disposition Rider		\$	-	833	\$	-		\$	-	
10	LRAM & SSM Rider		\$	-	833	\$	-		\$	0.0015	
11	Deferral/Variance Account		\$	-	833	\$	-		-\$	0.0088	
	Disposition Rate Rider										
12	GA Variance (if applicable)		\$	-		\$	-		\$	0.0075	
13			\$	-		\$	-		\$	-	
14			\$	-		\$	-		\$	-	
15			\$	-		\$	-		\$	-	
16	Sub-Total A - Distribution					\$	25.58				
17	RTSR - Network		\$	0.0048	874.2335	\$	4.20		\$	0.0060	8
18	RTSR - Line and Transformation		\$	0.0034	874.2335	\$	2.97		\$	0.0038	8
	Connection Sub-Total B - Delivery (including										
19	Sub-Total A)					\$	32.75				
20	Wholesale Market Service Charge		\$	0.0052	874.2335	\$	4.55		\$	0.0052	8
	(WMSC)										
21	Rural and Remote Rate Protection (RRRP)		\$	0.0013	874.2335	\$	1.14		\$	0.0013	8
22	Special Purpose Charge		\$	-	874.2335	\$	-		\$	0.0004	8
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25		\$	0.2500	
24	Debt Retirement Charge (DRC)		\$	0.0070	874.2335	\$	6.12		\$	0.0070	8
25	Energy		\$	0.0635	874.2335	\$	55.51		\$	0.0635	8
26			\$	-		\$	-		\$	-	
27			\$	-		\$	-		\$	-	
28	Total Bill (before Taxes)					\$	100.31				
29	HST			13%		\$	13.04			13%	
30						\$	113.35				
	Total Bill (including Sub-total B)		L								

4.95%

Note 1

		Proposed		
	Rate	Volume	C	Charge
	(\$)			(\$)
\$	2.0000	1	\$	2.00
		1	\$	-
\$	-	1	\$	-
\$	-	1	\$	-
\$	0.0187	833	\$	15.58
\$	0.0024	833	\$	2.01
\$	-	833	\$	-
\$ \$ \$ \$ \$ \$ \$ \$	-	833	\$	-
\$	-	833	\$	-
\$	0.0015	833	\$	1.25
-\$	0.0088	833	-\$	7.31
\$	0.0075	833	\$	6.26
\$	-		\$	-
\$ \$ \$	-		\$ \$	-
\$	-		\$	-
			\$	19.78
\$	0.0060	873.1506	\$	5.25
\$	0.0038	873.1506	\$	3.28
			\$	28.31
\$	0.0052	873.1506	\$	4.54
\$	0.0013	873.1506	\$	1.14
\$	0.0004	873.1506	\$	0.35
\$	0.2500	1	\$	0.25
\$ \$ \$ \$	0.0070	873.1506	\$	6.11
\$	0.0635	873.1506	\$ \$ \$	55.45
\$	-		\$	-
\$	-			-
			\$	96.15
	13%		\$	12.50
			\$	108.65

	Imp	act
		%
\$ C	hange	Change
-\$	6.25	-75.76%
\$	-	
\$	-	
\$	-	
\$	0.08	0.54%
\$	0.18	9.73%
\$	-	
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	-	
\$	-	
\$	1.25	
-\$	7.31	
¢	6.26	
ç	0.20	
\$		
Ś	-	
\$ \$ \$ <b>-\$</b>	5.79	-22.65%
\$	1.05	25.14%
\$	0.30	10.21%
-\$	4.43	-13.54%
-\$	0.01	-0.12%
-\$	0.00	-0.12%
\$	0.35	
\$	-	0.00%
-\$	0.01	-0.12%
-\$	0.07	-0.12%
\$	-	
\$ -\$ -\$ \$	-	
	4.16	-4.15%
-\$	0.54	-4.15%
-\$	4.70	-4.15%

31 Loss Factor

# Appendix C.2 Bill Impact Summaries per Intervenor Cost Allocation Methodology



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Re	esic	dential						
		Consumption		250	kWh										
				Current I	Board-App	rov	ed	Г	F	roposed				lmr	act
				Rate	Volume		harge	F	Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Ch	ange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$	11.0000	1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	250	\$	5.40	\$		250		5.18	-\$	0.22	-4.07%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	250	\$	0.20	\$	0.0024	250		0.60	\$	0.40	201.75%
7	Volumetric Rate Adder(s)		\$	-	250	\$	-	\$		250	\$	-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	250	\$	-	\$		250	\$	-	\$	-	
9	Smart Meter Disposition Rider		\$	-	250	\$	-	\$		250		-	\$	-	
10	LRAM & SSM Rate Rider		\$	-	250	\$	-	\$		250		0.60	\$	0.60	
11	Deferral/Variance Account		\$	-	250	\$	-	-\$	0.0084	250	-\$	2.11	-\$	2.11	
4.0	Disposition Rate Rider		•			_		1			_				
12 13			\$ \$	-		\$	-	\$			\$	-	\$ \$	-	
14			\$	-		\$	-	\$			\$	-	\$	-	
14			\$	-		\$	-	\$			\$	-	\$	-	
16	Sub-Total A - Distribution		Φ	-		\$	17.55	Φ	-		\$	16.27	- <b>\$</b>	1.28	-7.28%
17	RTSR - Network	per kwh	\$	0.0052	262.375	\$	1.36	\$	0.0065	262.05	\$	1.71	\$	0.34	25.14%
18	RTSR - Line and	per kwh	\$	0.0032		,		\$					1		
	Transformation Connection	porkwii	Ψ	0.0000	262.375	\$	1.02	Ψ	0.0040	262.05	\$	1.13	\$	0.10	10.21%
19	Sub-Total B - Delivery					\$	19.94	Г			\$	19.11	-\$	0.83	-4.17%
	(including Sub-Total A)					*					*		ľ		
20	Wholesale Market Service	per kWh	\$	0.0052	262.375	\$	1.36	\$	0.0052	262.05	\$	1.36	-\$	0.00	-0.12%
	Charge (WMSC)	•				·									
21	Rural and Remote Rate	per kWh	\$	0.0013	262.375	\$	0.34	\$	0.0013	262.05	\$	0.34	-\$	0.00	-0.12%
	Protection (RRRP)														
22	Special Purpose Charge		\$	-	262.375		-	\$		262.05		0.11	\$	0.11	
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25	\$		1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	262.375	\$	1.84	\$		262.05	\$	1.83	-\$	0.00	-0.12%
25	Energy	per kWh	\$	0.0635	262.375		16.66	\$		262.05		16.64	-\$	0.02	-0.12%
26						\$	-	\$			\$	-	\$	-	
27	T ( 1 D''' ( ) T )					\$	-	\$	-		\$	-	\$	-	4.000/
28	Total Bill (before Taxes)			1001		\$	40.39	L	100/		\$	39.64	-\$	0.75	-1.86%
29	HST			13%		\$	5.25	H	13%		\$	5.15	-\$	0.10	-1.86%
30	Total Bill (including Sub-total					\$	45.64				\$	44.79	-\$	0.85	-1.86%
	В)		<u> </u>					L					<u> </u>		
31	Loss Factor (%)	Note 1		4.95%					4.82%	]					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Re	esic	dential						
		Consumption		500	kWh										
				Current I	Board-App	rov	ed	Г	F	roposed				Imp	act
				Rate	Volume		harge		Rate	Volume	C	harge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Ch	ange	Change
1 1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$	11.0000	1	\$	11.00	\$	0.05	0.46%
2 3	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3 8	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
4 8	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
-	Distribution Volumetric Rate	per kwh	\$	0.0216	500	\$	10.80	\$		500	\$	10.36	-\$	0.44	-4.07%
	Low Voltage Rate Adder	per kwh	\$	0.0008	500	\$	0.40	\$	0.0024	500	\$	1.21	\$	0.81	201.75%
	Volumetric Rate Adder(s)		\$	-	500	\$	-	\$		500	\$	-	\$	-	
	Volumetric Rate Rider(s)		\$	-	500	\$	-	\$		500	\$	-	\$	-	
	Smart Meter Disposition Rider		\$	-	500	\$	-	\$		500		-	\$	-	
	LRAM & SSM Rate Rider Deferral/Variance Account		\$	-	500 500	\$	-	\$ -\$		500 500		1.20 4.22	\$ -\$	1.20 4.22	
	Disposition Rate Rider		Ф	-	500	\$	-	-Ф	0.0084	500	-Ф	4.22	-Ф	4.22	
12	Disposition Rate Rider		\$			\$		\$			\$		\$		
13			\$			\$	-	\$			\$		\$	-	
14			\$	_		\$	_	\$			\$	_	\$	_	
15			\$	-		\$	-	\$			\$	-	\$	-	
16	Sub-Total A - Distribution					\$	23.15	Ė			\$	20.54	-\$	2.61	-11.26%
17 F	RTSR - Network	per kwh	\$	0.0052	524.75	\$	2.73	\$	0.0065	524.1	\$	3.41	\$	0.69	25.14%
18 F	RTSR - Line and	per kwh	\$	0.0039	524.75	\$	2.05	\$	0.0043	524.1	\$	2.26	\$	0.21	10.21%
٦	Transformation Connection				324.73	Ф	2.03			524.1	Э		φ	0.21	10.2176
	Sub-Total B - Delivery					\$	27.93				\$	26.21	-\$	1.71	-6.13%
	(including Sub-Total A)							L							
	Wholesale Market Service	per kWh	\$	0.0052	524.75	\$	2.73	\$	0.0052	524.1	\$	2.73	-\$	0.00	-0.12%
	Charge (WMSC)	1.344	•	0.0040	504.75	_	0.00		0.0040	5044	_	0.00		0.00	0.400/
	Rural and Remote Rate Protection (RRRP)	per kWh	\$	0.0013	524.75	\$	0.68	\$	0.0013	524.1	\$	0.68	-\$	0.00	-0.12%
	Special Purpose Charge		\$		524.75	\$		\$	0.0004	524.1	\$	0.21	\$	0.21	
	Standard Supply Service Charge	monthly	\$	0.2500	324.73	\$	0.25	\$		1	\$	0.21	\$	0.21	0.00%
	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	524.75	\$	3.67	\$		524.1	\$	3.67	-\$	0.00	-0.12%
	Energy	per kWh	\$	0.0635	524.75		33.32	\$		524.1	\$	33.28	-\$	0.04	-0.12%
26			*			\$	-	\$			\$	-	\$	-	
27						\$	-	\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)					\$	68.58				\$	67.03	-\$	1.55	-2.26%
29 H	HST			13%		\$	8.92		13%		\$	8.71	-\$	0.20	-2.26%
	Total Bill (including Sub-total					\$	77.50				\$	75.75	-\$	1.75	-2.26%
F	В)														
31 l	Loss Factor (%)	Note 1		4.95%					4.82%	]					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Re	esic	dential						
		Consumption		750	kWh										
				Current I	Board-App	rov	ed		F	roposed				lmr	pact
				Rate	Volume		harge		Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Cr	ange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$		1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$		1	\$	-	\$	·	1	\$		\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	750	\$	16.20	\$	0.0207	750	\$	15.54	-\$	0.66	-4.07%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	750 750	\$	0.60	\$	0.0024	750	\$	1.81	\$ \$	1.21	201.75%
7 8	Volumetric Rate Adder(s) Volumetric Rate Rider(s)		\$	-	750 750	\$	-	\$		750 750	\$		\$	-	
9	Smart Meter Disposition Rider		\$		750 750	\$	-	\$		750 750	\$		\$		
10	LRAM & SSM Rate Rider		\$	-	750	\$	_	\$	0.0024	750	\$	1.80	\$	1.80	
11	Deferral/Variance Account		\$	-	750	\$	-	-\$	0.0084	750	-\$	6.34	-\$	6.34	
	Disposition Rate Rider		*			*		_			_		*		
12			\$	-		\$	-	\$	-		\$	-	\$	-	
13			\$	-		\$	-	\$			\$	-	\$	-	
14			\$	-		\$	-	\$			\$	-	\$	-	
15			\$	-		\$	-	\$	-		\$	-	\$	-	40.000
16	Sub-Total A - Distribution					\$	28.75	Ļ			\$	24.81	-\$ •	3.94	-13.69%
17	RTSR - Network	per kwh	\$	0.0052	787.125	\$	4.09	\$		786.15	\$	5.12	\$	1.03	25.14%
18	RTSR - Line and Transformation Connection	per kwh	\$	0.0039	787.125	\$	3.07	\$	0.0043	786.15	\$	3.38	\$	0.31	10.21%
19	Sub-Total B - Delivery					\$	35.91	H			\$	33.32	-\$	2.59	-7.22%
19	(including Sub-Total A)					Ψ	33.91				Ψ	33.32	-φ	2.33	-7.22/0
20	Wholesale Market Service	per kWh	\$	0.0052	787.125	\$	4.09	\$	0.0052	786.15	\$	4.09	-\$	0.01	-0.12%
	Charge (WMSC)	poi ittiii	Ψ	0.0002		Ψ.		•	0.0002	7 00110	<b>–</b>		*	0.0.	01.1270
21	Rural and Remote Rate	per kWh	\$	0.0013	787.125	\$	1.02	\$	0.0013	786.15	\$	1.02	-\$	0.00	-0.12%
	Protection (RRRP)														
22	Special Purpose Charge		\$	-	787.125		-	\$	0.0004	786.15		0.32	\$	0.32	
23	Standard Supply Service Charge	-	\$	0.2500	1	\$	0.25	\$	0.2500	1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	787.125		5.51	\$	0.0070	786.15	\$	5.50	-\$	0.01	-0.12%
25 26	Energy	per kWh	\$	0.0635	787.125		49.98	\$	0.0635	786.15		49.92	-\$	0.06	-0.12%
26 27						\$ \$	-	\$			\$	-	\$ \$	-	
28	Total Bill (before Taxes)					\$	96.77	Φ	=		Φ \$	94.42	- <b>\$</b>	2.35	-2.43%
29	HST			13%		\$	12.58		13%		\$	12.27	-\$	0.31	-2.43%
30	Total Bill (including Sub-total			1070			109.35	F	1370			106.70	- <b>\$</b>	2.65	-2.42%
	B)					Ť	. 30.03				Ľ		Ľ		/0
31	Loss Factor (%)	Note 1		4.95%					4.82%	1					
٠.	(///				I					1					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Re	2510	dentiai						
		Consumption		800	kWh										
				Current I	Board-App	rov	ed	Г	F	roposed				lmr	act
		Charre Unit		Rate	Volume		harge		Rate	Volume	(	Charge	CL	\$	% Change
1 2 3 4 5 6 7 8 9 10	Monthly Service Charge Smart Meter Rate Adder Service Charge Rate Adder(s) Service Charge Rate Rider(s) Distribution Volumetric Rate Low Voltage Rate Adder Volumetric Rate Adder(s) Volumetric Rate Rider(s) Smart Meter Disposition Rider LRAM & SSM Rate Rider Deferral/Variance Account	Charge Unit monthly monthly per kwh per kwh	***	10.9500 1.0000 - - 0.0216 0.0008 - - - -	1 1 1 1 800 800 800 800 800 800 800	\$\$\$\$\$\$\$\$\$\$\$	10.95 1.00 - - 17.28 0.64 - - - -		1.0000 1.0000 1.00207 1.00207 1.00204 1.00024	1 1 1 1 800 800 800 800 800 800 800	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	11.00 1.00 - - 16.58 1.93 - - - 1.92 6.76	S	0.05 - - 0.70 1.29 - - - 1.92 6.76	Change 0.46% 0.00% -4.07% 201.75%
12 13 14 15	Disposition Rate Rider		\$ \$ \$	- - -		\$ \$ \$ \$	- - -	99999	-		\$ \$ \$ \$	- - -	\$ \$ \$	-	
16	Sub-Total A - Distribution		Ψ			\$	29.87	Ť			\$	25.67	-\$	4.20	-14.06%
17	RTSR - Network	per kwh	\$	0.0052	839.6	\$	4.37	\$	0.0065	838.56	\$	5.46	\$	1.10	25.14%
18	RTSR - Line and Transformation Connection	per kwh	\$	0.0039		,	3.27	\$		838.56		3.61	\$	0.33	10.21%
19	Sub-Total B - Delivery					\$	37.51	Г			\$	34.74	-\$	2.77	-7.38%
	(including Sub-Total A)														
20	Wholesale Market Service Charge (WMSC)	per kWh	\$	0.0052	839.6	\$	4.37	\$	0.0052	838.56	\$	4.36	-\$	0.01	-0.12%
21	Rural and Remote Rate Protection (RRRP)	per kWh	\$	0.0013	839.6	\$	1.09	\$		838.56		1.09	-\$	0.00	-0.12%
22 23 24 25 26 27	Special Purpose Charge Standard Supply Service Charge Debt Retirement Charge (DRC) Energy	monthly per kWh per kWh	\$ \$ \$	0.2500 0.0070 0.0635	839.6 1 839.6 839.6	\$ \$ \$ \$ \$ \$	- 0.25 5.88 53.31 - -	<del>9</del> <del>9</del> <del>9</del> <del>9</del> <del>9</del> <del>9</del> <del>9</del>	0.2500 0.0070 0.0635	838.56 1 838.56 838.56	\$ \$ \$ \$ \$	0.34 0.25 5.87 53.25 -	\$ \$ \$ \$ \$	0.34 - 0.01 0.07 -	0.00% -0.12% -0.12%
28	Total Bill (before Taxes)					•	102.41	L			\$	99.90	-\$	2.51	-2.45%
29	HST			13%		\$	13.31		13%		\$	12.99	-\$	0.33	-2.45%
30	Total Bill (including Sub-total B)					\$	115.72	L			\$	112.89	-\$	2.83	-2.45%
31	Loss Factor (%)	Note 1		4.95%					4.82%	]					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Re	esio	dential						
		Consumption		1000	kWh										
				Current I	Board-App	orov	/ed		ı	Proposed				Imp	act
				Rate	Volume		harge		Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Ch	ange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$		1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$		1	\$		\$		1	\$		\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	1000	\$	21.60	\$		1000		20.72	-\$	0.88	-4.07%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	1000		0.80	\$	0.0024	1000		2.41	\$	1.61	201.75%
7 8	Volumetric Rate Adder(s) Volumetric Rate Rider(s)		\$	-	1000 1000			\$		1000 1000	\$		\$	-	
9	Smart Meter Disposition Rider		\$	-	1000			\$		1000			\$	-	
10	LRAM & SSM Rate Rider		\$	-	1000		_	\$		1000		2.40	\$	2.40	
11	Deferral/Variance Account		\$	_	1000		_	-\$		1000		8.45	-\$	8.45	
	Disposition Rate Rider		Ψ		.000	Ψ		•	0.000	1000	Ψ.	00	•	00	
12			\$	-		\$	-	\$	-		\$	-	\$	-	
13			\$	-		\$	-	\$	; -		\$	-	\$	-	
14			\$	-		\$	-	\$			\$	-	\$	-	
15			\$	-		\$	-	\$	-		\$	-	\$	-	
16	Sub-Total A - Distribution		Ļ			\$	34.35	L			\$	29.09	-\$	5.26	-15.32%
17	RTSR - Network	per kwh	\$	0.0052	1049.5	\$	5.46	\$		1048.2	\$	6.83	\$	1.37	25.14%
18	RTSR - Line and Transformation Connection	per kwh	\$	0.0039	1049.5	\$	4.09	\$	0.0043	1048.2	\$	4.51	\$	0.42	10.21%
19	Sub-Total B - Delivery					\$	43.90	F			\$	40.43	-\$	3.47	-7.91%
19	(including Sub-Total A)					Ф	43.90				Ф	40.43	- <b>p</b>	3.41	-7.91%
20	Wholesale Market Service	per kWh	\$	0.0052	1049.5	\$	5.46	\$	0.0052	1048.2	\$	5.45	-\$	0.01	-0.12%
	Charge (WMSC)	po	Ψ	0.0002	101010	Ψ	00	•	0.0002	10.0.2	Ψ.	00	•	0.0.	0270
21	Rural and Remote Rate	per kWh	\$	0.0013	1049.5	\$	1.36	\$	0.0013	1048.2	\$	1.36	-\$	0.00	-0.12%
	Protection (RRRP)														
22	Special Purpose Charge		\$	-	1049.5		-	\$		1048.2		0.42	\$	0.42	
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25	\$		1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	1049.5		7.35	\$		1048.2	\$	7.34	-\$	0.01	-0.12%
25	Energy	per kWh	\$	0.0635	1049.5		66.64	\$		1048.2		66.56	-\$ \$	0.08	-0.12%
26 27						\$	-	\$			\$	-	\$	-	
28	Total Bill (before Taxes)						124.96	Ψ	-		٠	121.81	-\$	3.15	-2.52%
29	HST			13%		\$	16.25	H	13%		\$	15.84	-\$	0.41	-2.52%
30	Total Bill (including Sub-total			1070			141.21	Г	1070			137.65	-\$	3.56	-2.52%
	В)					Ľ		L			Ľ		Ľ		
								Ξ					_		
31	Loss Factor (%)	Note 1		4.95%					4.82%						



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Re	SIC	dential						
		Consumption		1250	kWh										
				Current I	Board-App	rov	red .	Г	F	roposed				lmr	pact
				Rate	Volume		harge		Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Cł	nange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$	11.0000	1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	1250	\$	27.00	\$	0.0207	1250	\$	25.90	-\$	1.10	-4.07%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	1250		1.00	\$	0.0024	1250	\$	3.02	\$	2.02	201.75%
7	Volumetric Rate Adder(s)		\$	-	1250		-	\$	-	1250	\$	-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	1250		-	\$		1250	\$	-	\$	-	
9 10	Smart Meter Disposition Rider LRAM & SSM Rate Rider		\$	-	1250 1250		-	\$	0.0024	1250 1250	\$	3.00	\$ \$	3.00	
11	Deferral/Variance Account		\$		1250		-	-\$		1250	φ -\$	10.56		10.56	
	Disposition Rate Rider		φ	-	1230	φ	-	-φ	0.0064	1230	-φ	10.50	-φ	10.50	
12	Disposition react react		\$	_		\$	_	\$			\$	_	\$	_	
13			\$	_		\$	_	\$			\$	_	\$	_	
14			\$	-		\$	-	\$			\$	_	\$	-	
15			\$	-		\$	-	\$			\$	-	\$	-	
16	Sub-Total A - Distribution					\$	39.95	Г			\$	33.36	-\$	6.59	-16.50%
17	RTSR - Network	per kwh	\$	0.0052	1311.88	\$	6.82	\$	0.0065	1310.25	\$	8.54	\$	1.71	25.14%
18	RTSR - Line and	per kwh	\$	0.0039	1311.88	\$	5.12	\$	0.0043	1310.25	\$	5.64	\$	0.52	10.21%
	Transformation Connection				1311.00	Ψ	_			1010.20	Ċ		Ŀ		
19	Sub-Total B - Delivery					\$	51.89				\$	47.53	-\$	4.35	-8.39%
	(including Sub-Total A)							L					$\vdash$		
20	Wholesale Market Service Charge (WMSC)	per kWh	\$	0.0052	1311.88	\$	6.82	\$	0.0052	1310.25	\$	6.81	-\$	0.01	-0.12%
21	Rural and Remote Rate	per kWh	\$	0.0013	1311.88	\$	1.71	\$	0.0013	1310.25	\$	1.70	-\$	0.00	-0.12%
	Protection (RRRP)		_					_			_				
22	Special Purpose Charge		\$	-	1311.88		-	\$	0.0004	1310.25		0.53	\$	0.53	
23 24	Standard Supply Service Charge	monthly per kWh	\$	0.2500 0.0070	1 1311.88	\$	0.25 9.18	\$	0.2500 0.0070	1310.25	\$	0.25 9.17	\$ -\$	0.01	0.00% -0.12%
24 25	Debt Retirement Charge (DRC) Energy	per kWh	\$ \$	0.0070	1311.88		83.30	\$	0.0070	1310.25	\$	83.20	-\$ -\$	0.01	-0.12% -0.12%
26	Energy	perkyvii	Ф	0.0033	1311.00	\$	03.30	\$		1310.23	\$	03.20	\$	0.10	-0.1276
27						\$	-	\$			\$	_	\$	-	
28	Total Bill (before Taxes)						153.15	Ť			٠	149.20	-\$	3.95	-2.58%
29	HST			13%		\$	19.91		13%		\$	19.40	-\$	0.51	-2.58%
30	Total Bill (including Sub-total			. 370		_	173.06	Г	.070			168.60	-\$	4.46	-2.58%
	В)					Ţ		L			Ĺ		Ĺ		7
31	Loss Factor (%)	Note 1		4.95%					4.82%						



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Re	Sic	dential						
		Consumption		1500	kWh										
				Current I	Board-App	orov	/ed		F	roposed				lmr	act
				Rate	Volume		Charge		Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Cł	nange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$		1	\$		\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	1500	\$	32.40	\$	0.0207	1500	\$	31.08	-\$	1.32	-4.07%
6 7	Low Voltage Rate Adder	per kwh	\$	0.0008	1500 1500		1.20	\$	0.0024	1500 1500	\$	3.62	\$ \$	2.42	201.75%
8	Volumetric Rate Adder(s) Volumetric Rate Rider(s)		\$ \$	-	1500		-	\$		1500	\$	-	\$	-	
9	Smart Meter Disposition Rider		\$		1500		-	\$		1500		_	\$	_	
10	LRAM & SSM Rate Rider		\$	-	1500	\$	-	\$		1500	\$	3.60	\$	3.60	
11	Deferral/Variance Account		\$	_	1500		_	-\$		1500	-\$			12.67	
• • •	Disposition Rate Rider		<b>–</b>		.000	Ψ.		Ť	0.000	.000	۳	.2.07	1		
12			\$	-		\$	-	\$	-		\$	-	\$	-	
13			\$	-		\$	-	\$			\$	-	\$	-	
14			\$	-		\$	-	\$			\$	-	\$	-	
15			\$	-		\$	-	\$	-		\$	-	\$	-	
16	Sub-Total A - Distribution					\$	45.55				\$		-\$	7.92	-17.39%
17	RTSR - Network	per kwh	\$	0.0052	1574.25	\$	8.19	\$		1572.3	\$	10.24	\$	2.06	25.14%
18	RTSR - Line and	per kwh	\$	0.0039	1574.25	\$	6.14	\$	0.0043	1572.3	\$	6.77	\$	0.63	10.21%
40	Transformation Connection						50.00				Ļ	5404		<b>5</b> 0.4	0.740/
19	Sub-Total B - Delivery (including Sub-Total A)					\$	59.88				\$	54.64	-\$	5.24	-8.74%
20	Wholesale Market Service	per kWh	\$	0.0052	1574.25	\$	8.19	\$	0.0052	1572.3	\$	8.18	-\$	0.01	-0.12%
20	Charge (WMSC)	perkyvii	φ	0.0032	1374.23	Ψ	0.19	φ	0.0032	1372.3	Ψ	0.10	-φ	0.01	-0.12/6
21	Rural and Remote Rate	per kWh	\$	0.0013	1574.25	\$	2.05	\$	0.0013	1572.3	\$	2.04	-\$	0.00	-0.12%
	Protection (RRRP)							_			_				
22	Special Purpose Charge	41.1	\$	-	1574.25		-	\$	0.0004	1572.3			\$	0.64	0.000/
23 24	Standard Supply Service Charge Debt Retirement Charge (DRC)	monthly per kWh	\$ \$	0.2500 0.0070	1 1574.25	\$	0.25 11.02	\$	0.2500 0.0070	1 1572.3	\$	0.25 11.01	\$ -\$	0.01	0.00% -0.12%
25	Energy	per kWh	\$	0.0070	1574.25		99.96	\$	0.0635	1572.3	\$	99.84	-\$ -\$	0.01	-0.12%
26	Lileigy	perkyvii	φ	0.0033	1374.23	\$	33.30	\$		1372.3	\$	99.04	\$	0.12	-0.1276
27						\$	_	\$			\$	_	\$	_	
28	Total Bill (before Taxes)						181.34	Ť			•	176.59	-\$	4.75	-2.62%
29	HST			13%		\$	23.57		13%		\$	22.96	-\$	0.62	-2.62%
30	Total Bill (including Sub-total					\$	204.92				\$	199.55	-\$	5.37	-2.62%
	В)							L					<u></u>		
31	Loss Factor (%)	Note 1		4.95%					4.82%	]					



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Re	SIC	lential						
		Consumption		2000	kWh										
				Current	Board-App	rov	ed	Г	P	roposed				lmr	act
				Rate	Volume		harge		Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Cł	nange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$	11.0000	1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	2000	\$	43.20	\$	0.0207	2000	\$	41.44	-\$	1.76	-4.07%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	2000	\$	1.60	\$	0.0024	2000	\$	4.83	\$	3.23	201.75%
7 8	Volumetric Rate Adder(s) Volumetric Rate Rider(s)		\$	-	2000 2000	\$	-	\$		2000 2000	\$	-	\$ \$	-	
9	Smart Meter Disposition Rider		\$		2000		- 1	\$	-	2000	-	-	\$	-	
10	LRAM & SSM Rate Rider		\$		2000	\$		\$	0.0024	2000	\$	4.80	\$	4.80	
11	Deferral/Variance Account		\$	_	2000		_	-\$	0.0024	2000	-\$	16.90	-\$	16.90	
• • •	Disposition Rate Rider		Ψ		2000	*		Ψ	0.0004	2000	ľ	10.00	1	. 0.00	
12			\$	-		\$	-	\$	_		\$	-	\$	-	
13			\$	-		\$	-	\$	-		\$	-	\$	-	
14			\$	-		\$	-	\$	-		\$	-	\$	-	
15			\$	-		\$	-	\$	-		\$	-	\$	-	
16	Sub-Total A - Distribution					\$	56.75				\$	46.17		10.58	-18.64%
17	RTSR - Network	per kwh	\$	0.0052	2099	\$	10.91	\$	0.0065	2096.4	\$	13.66	\$	2.74	25.14%
18	RTSR - Line and	per kwh	\$	0.0039	2099	\$	8.19	\$	0.0043	2096.4	\$	9.02	\$	0.84	10.21%
	Transformation Connection					_					Ļ		-		2 222/
19	Sub-Total B - Delivery					\$	75.85				\$	68.85	-\$	7.00	-9.23%
20	(including Sub-Total A) Wholesale Market Service	per kWh	\$	0.0052	2099	\$	10.91	\$	0.0052	2096.4	\$	10.90	-\$	0.01	-0.12%
20	Charge (WMSC)	perkyvii	Φ	0.0032	2099	φ	10.91	φ	0.0032	2090.4	φ	10.90	-φ	0.01	-0.12/0
21	Rural and Remote Rate	per kWh	\$	0.0013	2099	\$	2.73	\$	0.0013	2096.4	\$	2.73	-\$	0.00	-0.12%
	Protection (RRRP)		*			*		_			_		*		****
22	Special Purpose Charge		\$	-	2099	\$	-	\$	0.0004	2096.4	\$	0.85	\$	0.85	
23	Standard Supply Service Charge	monthly	\$	0.2500	1	\$	0.25	\$	0.2500	1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	2099	\$	14.69	\$	0.0070	2096.4	\$	14.67	-\$	0.02	-0.12%
25	Energy	per kWh	\$	0.0635	2099		133.29	\$	0.0635	2096.4	\$	133.12	-\$	0.17	-0.12%
26						\$	-	\$	-		\$	-	\$	-	
27	T ( 15:11 (1 ( T )					\$	-	\$	-		\$	-	\$	-	0.070/
28	Total Bill (before Taxes)			400/			237.72	_	4007			231.37	-\$ ¢	6.35	-2.67%
29	HST			13%		\$ <b>\$</b>	30.90		13%		\$	30.08 <b>261.45</b>	-\$ <b>-\$</b>	0.83	-2.67%
30	Total Bill (including Sub-total B)					\$	268.63	1			\$	∠61.45	-\$	7.18	-2.67%
	υ,				l			<b>—</b>			_		Ь		
31	Loss Factor (%)	Note 1		4.95%					4.82%						

File Number:

2011 Rate Year:

#### General Service < 50 kW

					Gener	al S	erv	ice < 50 kV	V					
		Consumption	1000	kWh										
			Current B	oard-Appr	oved	7		Pr	oposed				lmp	act
			Rate	Volume	Charge	Э		Rate	Volume	(	Charge		\$	%
		Charge Unit	(\$)		(\$)			(\$)			(\$)	Ch	nange	Change
1	Monthly Service Charge		\$ 16.5100	1	\$ 16.5		\$	17.0000	1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$ 1.0000	1	\$ 1.0	00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$ -	1	\$ -		\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$ -	1	\$ -		\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate		\$ 0.0186	1000	\$ 18.6		\$	0.0177	1000		17.67	-\$	0.93	-5.01%
6	Low Voltage Rate Adder		\$ 0.0007	1000	\$ 0.7	0	\$	0.0024	1000		2.41	\$	1.71	244.86%
7	Volumetric Rate Adder(s)		\$ -	1000	\$ -		\$	-	1000		-	\$	-	
8	Volumetric Rate Rider(s)		\$ -	1000	\$ -		\$	-	1000		-	\$	-	
9	Smart Meter Disposition Rider		\$ -	1000	\$ -		\$	-	1000		-	\$	-	
10	LRAM & SSM Rider		\$ -	1000	\$ -		\$	0.0015	1000		1.50	\$	1.50	
11	Deferral/Variance Account Disposition Rate Rider		\$ -	1000	\$ -		-\$	0.0088	1000	-\$	8.78	-\$	8.78	
12	GA Variance (if applicable)		\$ _		\$ -		\$	0.0075		\$	-	\$	-	
13	· · · · · /		\$ _		\$ -		\$			\$	-	\$	-	
14			\$ -		\$ -		\$	-		\$	-	\$	-	
15			\$ -		\$ -		\$	-		\$	-	\$	-	
16	Sub-Total A - Distribution				\$ 36.8	1				\$	30.80	-\$	6.01	-16.32%
17	RTSR - Network		\$ 0.0048	1049.5	\$ 5.0	)4	\$	0.0060	1048.2	\$	6.30	\$	1.27	25.14%
18	RTSR - Line and		\$ 0.0034	1049.5	\$ 3.5	7	\$	0.0038	1048.2	\$	3.93	\$	0.36	10.21%
	Transformation Connection				•					•				
19	Sub-Total B - Delivery				\$ 45.4	2				\$	41.04	-\$	4.38	-9.64%
	(including Sub-Total A)				•					ľ		l i		
20	Wholesale Market Service		\$ 0.0052	1049.5	\$ 5.4	6	\$	0.0052	1048.2	\$	5.45	-\$	0.01	-0.12%
	Charge (WMSC)													
21	Rural and Remote Rate Protection (RRRP)		\$ 0.0013	1049.5	\$ 1.3	66	\$	0.0013	1048.2	\$	1.36	-\$	0.00	-0.12%
22	Special Purpose Charge		\$ -	1049.5			\$	0.0004	1048.2		0.42	\$	0.42	
23	Standard Supply Service Charge		\$ 0.2500	1	\$ 0.2		\$	0.2500	1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)		\$ 0.0070	1049.5	\$ 7.3	15	\$	0.0070	1048.2		7.34	-\$	0.01	-0.12%
25	Energy		\$ 0.0635	1049.5	\$ 66.6	64	\$	0.0635	1048.2	\$	66.56	-\$	0.08	-0.12%
26			\$ -		\$ -		\$	-		\$	-	\$	-	
27			\$ -		\$ -		\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)				\$ 126.4					•	122.43	-\$	4.05	-3.20%
29	HST		13%		\$ 16.4	4		13%		\$	15.92	-\$	0.53	-3.20%
30	Total Bill (including Sub-total				\$ 142.9	2				\$	138.34	-\$	4.58	-3.20%
	В)													
				i					<u> </u>					
31	Loss Factor	Note 1	 4.95%					4.82%						

File Number:

Rate Year: 2011

#### General Service < 50 kW

					_	Ge	nerai	Serv	vice < 50 kV	V					
		Consumption		2000	kWh										
				Current B	oard-Appr	roved			Pr	oposed				Imp	act
		Charge Unit		Rate (\$)	Volume	Ch	arge (\$)		Rate (\$)	Volume	(	Charge (\$)	Cł	\$ nange	% Change
1	Monthly Service Charge	_	\$	16.5100	1	\$	16.51	\$	17.0000	1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate		\$	0.0186	2000		37.20	\$	0.0177	2000		35.34	-\$	1.86	-5.01%
6	Low Voltage Rate Adder		\$	0.0007	2000	\$	1.40	\$	0.0024	2000		4.83	\$	3.43	244.86%
7	Volumetric Rate Adder(s)		\$	-	2000	\$	-	\$	-	2000		-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	2000		-	\$	-	2000		-	\$	-	
9	Smart Meter Disposition Rider		\$	-	2000	\$	-	\$	-	2000		-	\$	-	
10	LRAM & SSM Rider		\$	-	2000	\$	-	\$	0.0015	2000		3.00	\$	3.00	
11	Deferral/Variance Account		\$	-	2000	\$	-	-\$	0.0088	2000	-\$	17.56	-\$	17.56	
	Disposition Rate Rider					_									
12	GA Variance (if applicable)		\$	-		\$	-	\$	0.0075		\$	-	\$	-	
13			\$	-		\$	-	\$	-		\$	-	\$	-	
14			\$	-		\$	-	\$	-		\$	-	\$	-	
15	Cub Total A Distribution		\$	-		\$	-	\$	-		\$	-	\$	-	00.000/
16	Sub-Total A - Distribution		Ļ			•	56.11	Ļ			\$	43.61	_	12.50	-22.28%
17	RTSR - Network RTSR - Line and		\$	0.0048	2099		10.08	\$	0.0060	2096.4	\$	12.61	\$	2.53	25.14%
18	Transformation Connection		\$	0.0034	2099	\$	7.14	\$	0.0038	2096.4	\$	7.87	\$	0.73	10.21%
	Sub-Total B - Delivery										_	24.00			40.040/
19	(including Sub-Total A)					\$	73.32				\$	64.08	-\$	9.24	-12.61%
20	Wholesale Market Service			0.0050	0000	Φ.	10.01	Φ.	0.0052	0000.4	Φ.	40.00	-\$	0.01	-0.12%
20	Charge (WMSC)		\$	0.0052	2099	\$	10.91	\$	0.0052	2096.4	\$	10.90	-\$	0.01	-0.12%
21	Rural and Remote Rate		\$	0.0013	2099	\$	2.73	\$	0.0013	2096.4	¢.	2.73	-\$	0.00	-0.12%
21	Protection (RRRP)		Ф	0.0013	2099	Ф	2.73	Ф	0.0013	2096.4	Ф	2.73	-Φ	0.00	-0.12%
22	Special Purpose Charge		\$	-	2099		-	\$	0.0004	2096.4		0.85	\$	0.85	
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25	\$	0.2500	1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)		\$	0.0070	2099		14.69	\$	0.0070	2096.4		14.67	-\$	0.02	-0.12%
25	Energy		\$	0.0635	2099		33.29	\$	0.0635	2096.4		133.12	-\$	0.17	-0.12%
26			\$	-		\$	-	\$	-		\$	-	\$	-	
27			\$	-		\$	-	\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)		<u> </u>			_	35.19	<u> </u>				226.60	-\$	8.59	-3.65%
29	HST			13%		_	30.58		13%		\$	29.46	-\$	1.12	-3.65%
30	Total Bill (including Sub-total					\$ 2	65.77	1			\$	256.06	-\$	9.71	-3.65%
	В)		Щ					$ldsymbol{\sqcup}$					<u> </u>		
31	Loss Factor	Note 1		4.95%					4.82%						

#### Notes:

File Number:

2011 Rate Year:

#### General Service < 50 kW

						General	Ser	rvice < 50 kV	V					
		Consumption		3500	kWh									
				Current B	oard-Appr	oved		Pro	oposed				lmp	act
				Rate	Volume	Charge		Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)		(\$)		(\$)			(\$)	CI	hange	Change
1	Monthly Service Charge		\$	16.5100	1	\$ 16.51	\$		1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$	1.0000	1	\$ 1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$ -	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$ -	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate		\$	0.0186	3500	\$ 65.10	\$	0.0177	3500		61.84	-\$	3.26	-5.01%
6	Low Voltage Rate Adder		\$	0.0007	3500	\$ 2.45	\$	0.0024	3500		8.45	\$	6.00	244.86%
7	Volumetric Rate Adder(s)		\$	-	3500	\$ -	\$	-	3500		-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	3500	\$ -	\$	-	3500	\$	-	\$	-	
9	Smart Meter Disposition Rider		\$	-	3500	\$ -	\$	-	3500		-	\$	-	
10	LRAM & SSM Rider		\$	-	3500	\$ -	\$	0.0015	3500		5.25	\$	5.25	
11	Deferral/Variance Account Disposition Rate Rider		\$	-	3500	\$ -	-\$	0.0088	3500	-\$	30.73	-\$	30.73	
12	GA Variance (if applicable)		\$	_		\$ -	\$	0.0075		\$	-	\$	-	
13			\$	_		\$ -	\$	-		\$	-	\$	-	
14			\$	_		\$ -	\$	-		\$	-	\$	-	
15			\$	_		\$ -	\$	-		\$	-	\$	-	
16	Sub-Total A - Distribution					\$ 85.06	Ė			\$	62.81	-\$	22.25	-26.16%
17	RTSR - Network		\$	0.0048	3673.25	\$ 17.63	\$	0.0060	3668.7	\$	22.06	\$	4.43	25.14%
18	RTSR - Line and		\$	0.0034	3673.25	\$ 12.49	\$		3668.7	\$	13.76	\$	1.27	10.21%
	Transformation Connection		_			•	_			_		*		
19	Sub-Total B - Delivery					\$ 115.18	Г			\$	98.64	-\$	16.54	-14.36%
	(including Sub-Total A)					•				1		1		
20	Wholesale Market Service		\$	0.0052	3673.25	\$ 19.10	\$	0.0052	3668.7	\$	19.08	-\$	0.02	-0.12%
	Charge (WMSC)													
21	Rural and Remote Rate Protection (RRRP)		\$	0.0013	3673.25	\$ 4.78	\$	0.0013	3668.7	\$	4.77	-\$	0.01	-0.12%
22	Special Purpose Charge		\$	-	3673.25	\$ -	\$	0.0004	3668.7	\$	1.49	\$	1.49	
23	Standard Supply Service Charge		\$	0.2500	1	\$ 0.25	\$	0.2500	1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)		\$	0.0070	3673.25	\$ 25.71	\$		3668.7	\$	25.68	-\$	0.03	-0.12%
25	Energy		\$	0.0635	3673.25	\$ 233.25	\$	0.0635	3668.7	\$	232.96	-\$	0.29	-0.12%
26	<b>0</b> ,		\$	_		\$ -	\$	_		\$	-	\$	-	
27			\$	_		\$ -	\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)					\$ 398.27	Ė			\$	382.86	-\$	15.41	-3.87%
29	HST			13%		\$ 51.78		13%		\$	49.77	-\$	2.00	-3.87%
30	Total Bill (including Sub-total			. 370		\$ 450.05	Т	.070		_	432.64	_	17.41	-3.87%
50	В)					Ţ .50.00				*	.52.64	ľ		5.07 70
							_		•			_		
31	Loss Factor	Note 1		4.95%				4.82%						

File Number:

2011 Rate Year:

#### General Service < 50 kW

						General	Sei	rvice < 50 kV	V					
		Consumption		5000	kWh									
				Current B	oard-Appr	oved		Pro	oposed				Imp	act
		Charge Unit		Rate (\$)	Volume	Charge (\$)		Rate (\$)	Volume	(	Charge (\$)	_	\$ hange	% Change
1	Monthly Service Charge	Charge Offic	\$	16.5100	1	\$ 16.51	\$		1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$	1.0000	1	\$ 10.51	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	1.0000		\$ 1.00	\$		1	\$	1.00	\$	-	0.00 /8
4	Service Charge Rate Adder(s)		\$	-	' '	\$ -	\$		1	\$	-	\$	-	
5	Distribution Volumetric Rate		\$	0.0186	5000	\$ 93.00	\$		5000		88.34	-\$	4.66	-5.01%
6	Low Voltage Rate Adder		\$	0.0180	5000	\$ 3.50	\$		5000		12.07	\$	8.57	244.86%
7	Volumetric Rate Adder(s)		\$	0.0007	5000	\$ -	\$		5000		12.07	\$	-	244.00 /6
8	Volumetric Rate Rider(s)		\$	-	5000	\$ -	\$		5000			\$	-	
9	Smart Meter Disposition Rider		\$	-	5000	\$ -	\$		5000		-	\$	=	
10	LRAM & SSM Rider		\$	-	5000	\$ -	\$		5000		7.50	\$	7.50	
11	Deferral/Variance Account		\$	-	5000	\$ -	-\$		5000		43.90			
• • •	Disposition Rate Rider		Ψ	_	3000	Ψ -	Ψ	0.0000	3000	-ψ	45.50	Ψ	45.50	
12	GA Variance (if applicable)		\$	_		\$ -	\$	0.0075		\$	_	\$	_	
13	GA Variance (ii applicable)		\$			\$ -	\$			\$		\$	_	
14			\$			\$ -	\$			\$		\$	-	
15			\$	_		\$ -	\$			\$	_	\$	_	
16	Sub-Total A - Distribution		Ψ			\$ 114.01	Ψ			\$	82.02	-\$	31.99	-28.06%
17	RTSR - Network		\$	0.0048	5247.5	\$ 25.19	\$	0.0060	5241	\$	31.52	\$	6.33	25.14%
18	RTSR - Line and		\$	0.0040	5247.5	\$ 17.84	\$		5241	\$	19.66	\$	1.82	10.21%
	Transformation Connection		Ψ	0.0004	5247.5	Ψ 17.04	Ψ	0.0000	3241	Ψ	13.00	Ψ	1.02	10.2170
19	Sub-Total B - Delivery					\$ 157.04	Н			4	133.20	-¢	23.84	-15.18%
13	(including Sub-Total A)					\$ 137.04				Ψ	133.20	-Ψ	23.04	-13.1076
20	Wholesale Market Service		\$	0.0052	5247.5	\$ 27.29	\$	0.0052	5241	\$	27.25	-\$	0.03	-0.12%
	Charge (WMSC)		•	0.0002	02 11 10	Ψ 220	ľ	0.0002	02	Ψ	0	*	0.00	0270
21	Rural and Remote Rate		\$	0.0013	5247.5	\$ 6.82	\$	0.0013	5241	\$	6.81	-\$	0.01	-0.12%
	Protection (RRRP)		•	0.00.0	02 11 10	ψ 0.0 <u>2</u>	ľ	0.0010	02	Ψ	0.0.	*	0.0.	0270
22	Special Purpose Charge		\$	_	5247.5	\$ -	\$	0.0004	5241	\$	2.12	\$	2.12	
23	Standard Supply Service Charge		\$	0.2500	1	\$ 0.25	\$		1	\$	0.25	\$		0.00%
24	Debt Retirement Charge (DRC)		\$	0.0070	5247.5	\$ 36.73	\$		5241	\$	36.69	-\$	0.05	-0.12%
25	Energy		\$	0.0635	5247.5	\$ 333.22	\$	0.0635	5241	\$	332.80	-\$	0.41	-0.12%
26			\$	-		\$ -	\$			\$	-	\$	-	
27			\$	-		\$ -	\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)					\$ 561.35	r			\$	539.13	-\$	22.22	-3.96%
29	HST			13%		\$ 72.98	Г	13%		\$	70.09	-\$	2.89	-3.96%
30	Total Bill (including Sub-total					\$ 634.32	Γ			\$	609.21	-\$	25.11	-3.96%
	B)		L				L			Ĺ		Ľ		
31	Loss Factor	Note 1		4.95%				4.82%						

Impact

\$ Change

\$ 0.49 \$ -\$ -\$ --\$ 9.31 \$ 17.14 \$ -\$ -\$ 5 \$ 15.00 -\$ 87.80

-\$ 64.48

\$ 12.66 \$ 4.15

-\$ 47.67

0.07

0.02

4.25

0.83

5.78

-\$ 44.42

-\$ 50.20

-\$ -\$ 0.09

\$

Change

2.97% 0.00%

-5.01% 244.86%

-30.63% 25.14%

11.63%

-16.07%

-0.12%

-0.12%

0.00%

-0.12%

-0.12%

-4.02%

-4.02%

-4.02%



#### REVENUE REQUIREMENT WORK FORM

Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### General Service < 50 kW

4.82%

			_		-		(	Gene	ral	Service < 5	0 kW		
		Consumption		10000	kWh								
			Γ	Currer	nt Board-Ap	pro	oved	l		Pi	roposed		
		Charge		Rate	Volume	-	Charge	-		Rate	Volume	-	Charge
		Unit		(\$)			(\$)			(\$)			(\$)
1	Monthly Service Charge		\$	16.5100	1	\$	16.51		\$	17.0000	1	\$	17.00
2	Smart Meter Rate Adder		\$	1.0000	1	\$	1.00		\$	1.0000	1	\$	1.00
3	Service Charge Rate Adder(s)		\$	-	1	\$	-		\$	-	1	\$	-
4	Service Charge Rate Rider(s)		\$	-	1	\$	-		\$	-	1	\$	-
5	Distribution Volumetric Rate		\$	0.0186	10000	\$	186.00		\$	0.0177	10000	\$	176.69
6	Low Voltage Rate Adder		\$	0.0007	10000	\$	7.00		\$	0.0024	10000	\$	24.14
7	Volumetric Rate Adder(s)		\$	-	10000	\$	-		\$	-	10000	\$	-
8	Volumetric Rate Rider(s)		\$		10000	\$	-		\$	-	10000		-
9	Smart Meter Disposition Rider		\$		10000	\$	-		\$	-	10000	\$	-
0	LRAM & SSM Rider		\$		10000	\$	-		\$	0.0015	10000		15.00
1	Deferral/Variance Account Disposition		\$	-	10000	\$	-		-\$	0.0088	10000	-\$	87.80
	Rate Rider												
2	GA Variance (if applicable)		\$			\$	-		\$	0.0075		\$	-
3			\$			\$	-		\$	-		\$	-
4			\$			\$	-		\$	-		\$	-
5			\$	-		\$	-		\$	-		\$	-
6	Sub-Total A - Distribution		L			\$	210.51					\$	146.03
7	RTSR - Network		\$		10495		50.38		\$	0.0060	10482		63.04
3	RTSR - Line and Transformation		\$	0.0034	10495	\$	35.68		\$	0.0038	10482	\$	39.83
	Connection												
)	Sub-Total B - Delivery (including Sub- Total A)					\$	296.57					\$	248.90
)	Wholesale Market Service Charge (WMSC)		\$	0.0052	10495	\$	54.57		\$	0.0052	10482	\$	54.51
1	Rural and Remote Rate Protection (RRRP)		\$	0.0013	10495	\$	13.64		\$	0.0013	10482	\$	13.63
2	Special Purpose Charge		\$	_	10495	Ś	_		\$	0.0004	10482	Ś	4.25
3	Standard Supply Service Charge		\$		10.55	1	0.25		\$	0.2500	1		0.25
4	Debt Retirement Charge (DRC)		\$		10495		73.47		\$	0.0070	10482		73.37
5	Energy		\$		10495		666.43		\$	0.0635	10482		665.61
6	- 07		Ś			Ś	_		Ś	-		Ś	-
7			\$			\$	-		\$	-		\$	-
8	Total Bill (before Taxes)		Ė			\$	1,104.93					\$1	,060.51
29	HST		r	13%		\$	143.64			13%		\$	137.87
30	T . I B					\$	1,248.58					\$1	,198.38
	Total Bill (including Sub-total B)		L					l L					

4.95%

Note 1

31 Notes:

Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential

Loss Factor



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### General Service > 50 kW

Consumption 25000 kWh Load 50 kW

			ſ	Curre	nt Board-A	ppı	oved	llí		
		Charge	ı	Rate	Volume	Ė	Charge	İ		Rate
		Unit		(\$)			(\$)			(\$)
1	Monthly Service Charge	monthly	Ī	\$ 29.4100	1	\$	29.41		\$	95
2	Smart Meter Rate Adder	monthly		\$ 1.0000	1	\$	1.00		\$	1
3	Service Charge Rate Adder(s)			\$ -	1	\$	-		\$	
4	Service Charge Rate Rider(s)			\$ -	1	\$	-		\$	
5	Distribution Volumetric Rate	per kW		\$ 5.2549	50	\$	262.75		\$	3
6	Low Voltage Rate Adder	per kWh		\$ 0.3196	50	\$	15.98		\$	1
7	Volumetric Rate Adder(s)			\$ -	50	\$	-		\$	
8	Volumetric Rate Rider(s)			\$ -	50	\$	-		\$	
9	Smart Meter Disposition Rider			\$ -	50	\$	-		\$	
10	LRAM & SSM Rider	per kW		\$ -	50	\$	-		\$	0
11	Deferral/Variance Account Disposition	per kW		\$ -	50	\$	-		-\$	3
	Rate Rider									
12	GA Variance (if applicable)	per kWh		\$ -	25000	\$	-		\$	0
13				\$ -		\$	-		\$	
14				\$ -		\$	-		\$	
15				\$ -		\$	-		\$	
16	Sub-Total A - Distribution					\$	309.14			
17	RTSR - Network	per kW	ſ	\$ 1.9188	52.475	\$	100.69		\$	2
18	RTSR - Line and Transformation	per kW		\$ 1.4110	52.475	\$	74.04		\$	1
	Connection									
19	Sub-Total B - Delivery (including Sub- Total A)					\$	483.87			
20	Wholesale Market Service Charge (WMSC)	per kWh		\$ 0.0052	26237.5	\$	136.44		\$	0
21	Rural and Remote Rate Protection (RRRP)	per kWh		\$ 0.0013	26237.5	\$	34.11		\$	0
22	Special Purpose Charge	per kWh		\$ -	26237.5	\$	-		\$	0
23	Standard Supply Service Charge	monthly		\$ 0.2500	1	\$	0.25		\$	0
24	Debt Retirement Charge (DRC)	per kWh		\$ 0.0070	26237.5	\$	183.66		\$	0
25	Energy	per kWh		\$ 0.0635	26237.5	\$	1,666.08		\$	0
26				\$ -		\$	-		\$	
27				\$ -		\$	-		\$	
28	Total Bill (before Taxes)					\$	2,504.40			
29	HST		- [	13%		\$	325.57			
30						\$	2,829.98			
	Total Bill (including Sub-total B)					Ĺ				
31	Loss Factor	Note 1	[	4.95%	]			[	_	

	ı	Proposed		
	Rate	Volume		Charge
	(\$)			(\$)
\$	95.0000	1	\$	95.00
	1.0000	1	\$	1.00
\$	-	1	\$	-
\$	-	1	\$	-
\$	3.8498	50	\$	192.49
\$	1.1222	50	\$	56.11
\$	-	50	\$	-
\$	-	50	\$	-
\$	-	50	\$	-
\$ \$ \$ \$ \$ \$ \$ \$	0.0067	50	\$	0.34
-\$	3.6922	50	-\$	184.61
\$	0.0075	25000	\$	187.85
\$	-		\$	-
\$ \$ \$	-		\$ \$	-
\$	-		\$	-
			\$	348.17
\$	2.4041	52.41	\$	126.00
\$	1.5570	52.41	\$	81.60
			\$	555.77
\$	0.0052	26205	\$	136.27
\$	0.0013	26205	\$	34.07
			١.	
\$	0.0004	26205	\$	10.61
\$	0.2500	1	\$	0.25
\$	0.0070	26205	\$	183.44
\$	0.0635	26205	\$	1,664.02
\$ \$ \$ \$	-		\$	-
\$	-		\$	
			\$	2,584.42
	13%		\$	335.97
			\$	2,920.40
	4.82%			

	Impa	ict
	Change	% Change
\$	65.59	223.02%
\$	-	0.00%
\$	-	
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	-	
-\$	70.26	-26.74%
\$	40.13	251.12%
\$	-	
\$	-	
\$	-	
\$	0.34	
-\$	184.61	
\$	187.85	
\$	-	
\$	-	
\$	-	
\$ \$ \$	39.04	12.63%
\$	25.31	25.14%
\$	7.56	10.21%
\$	71.91	14.86%
-\$	0.17	-0.12%
-\$	0.04	-0.12%
\$	10.61	
\$	-	0.00%
-\$	0.23	-0.12%
-\$	2.06	-0.12%
\$	-	
\$	-	
\$ \$ \$ \$ \$ \$ \$ \$	80.02	3.20%
\$	10.40	3.20%
\$	90.42	3.20%

#### Notes:



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### General Service > 50 kW

Consumption 40000 kWh Load 75 kW

				Curre	nt Board-A	opr	oved
		Charge		Rate	Volume		Charge
		Unit		(\$)			(\$)
Mo	onthly Service Charge	monthly	\$	29.4100	1	\$	29.41
Sm	art Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00
Ser	rvice Charge Rate Adder(s)	•	\$	-	1	\$	-
Ser	rvice Charge Rate Rider(s)		\$	-	1	\$	-
Dis	tribution Volumetric Rate	per kW	\$	5.2549	75	\$	394.12
Lov	w Voltage Rate Adder	per kWh	\$	0.3196	75	\$	23.97
Vo	lumetric Rate Adder(s)	·	\$	-	75	\$	-
	lumetric Rate Rider(s)		\$	_	75	Ś	-
	art Meter Disposition Rider		\$	_	75	Ś	-
	AM & SSM Rider	per kW	\$	_	75	Ś	-
De	ferral/Variance Account Disposition	per kW	Ś	_	75	Ś	_
	te Rider					ľ	
GA	Variance (if applicable)	per kWh	\$	_	40000	\$	-
			\$	_		\$	-
			\$	_		\$	-
			Ś	_		Ś	-
Su	b-Total A - Distribution					\$	448.50
	SR - Network	per kW	Ś	1.9188	78.7125	\$	151.03
	SR - Line and Transformation	per kW	Ś	1.4110	78.7125	\$	111.06
Co	nnection	pe. KII	~	1.1110	70.7123	Ÿ	111.00
Su	b-Total B - Delivery (including Sub-					\$	710.59
To	tal A)					*	
Wh	nolesale Market Service Charge	per kWh	\$	0.0052	41980	\$	218.30
(W	MSC)						
Ru	ral and Remote Rate Protection	per kWh	\$	0.0013	41980	\$	54.57
(RF	RRP)						
Spe	ecial Purpose Charge	per kWh	\$	-	41980	\$	-
Sta	indard Supply Service Charge	monthly	\$	0.2500	1	\$	0.25
De	bt Retirement Charge (DRC)	per kWh	\$	0.0070	41980	\$	293.86
Ene	ergy	per kWh	\$	0.0635	41980	\$	2,665.73
			\$	-		\$	-
			\$	-		\$	-
To	tal Bill (before Taxes)					\$	3,943.30
HS				13%		\$	512.63
						\$	
To	tal Bill (including Sub-total B)					1	,

	Proposed		
Rate	Volume		Charge
(\$)			(\$)
\$ 95.0000	1	\$	95.00
\$ 1.0000	1	\$	1.00
\$ -	1	\$	-
\$ -	1	\$	-
\$ 3.8498	75	\$	288.73
\$ 1.1222	75	\$	84.16
\$ -	75	\$	-
\$ -	75	\$	-
\$ 1.0000 \$ - \$ - \$ 3.8498 \$ 1.1222 \$ - \$ - \$ 0.0067 -\$ 3.6922	75	\$	-
\$ 0.0067	75	\$	0.50
-\$ 3.6922	75	-\$	276.92
\$ 0.0075 \$ - \$ - \$ -	40000	\$	300.56
\$ -		\$	-
\$ -		\$	-
\$ -		\$ \$ \$	-
			493.04
\$ 2.4041 \$ 1.5570	78.615	\$	189.00
\$ 1.5570	78.615	\$	122.40
		\$	804.44
\$ 0.0052	41928	\$	218.03
\$ 0.0013	41928	\$	54.51
\$ 0.0013	41928	Ş	54.51
\$ 0.0004	41928	\$	16.98
\$ 0.2500	1	\$	0.25
\$ 0.0070	41928	\$	293.50
\$ 0.0635	41928	\$	2,662.43
\$ 0.2500 \$ 0.0070 \$ 0.0635 \$ - \$ -		\$	-
\$ -		\$ \$ \$	-
			4,050.13
13%		\$	526.52
		\$	4,576.65

4.82%

	Impa	nct
\$	Change	% Change
\$	65.59	223.02%
\$	-	0.00%
\$	-	
\$	-	
\$ \$ \$ \$ \$ \$ \$	105.38	-26.74%
\$	60.19	251.12%
\$	-	
\$	-	
\$	-	
\$	0.50	
-\$	276.92	
\$	300.56	
\$	-	
\$	-	
\$	-	
\$ \$ \$ \$	44.55	9.93%
\$	37.96	25.14%
\$	11.34	10.21%
\$	93.85	13.21%
_		
-\$	0.27	-0.12%
-\$		
-\$ -\$	0.27	-0.12% -0.12%
-\$	0.07	
-\$ \$		-0.12%
-\$ \$	0.07 16.98	-0.12% 0.00%
-\$ \$	0.07 16.98 - 0.36	-0.12% 0.00% -0.12%
-\$ \$	0.07 16.98	-0.12% 0.00%
-\$ \$	0.07 16.98 - 0.36	-0.12% 0.00% -0.12%
-\$ \$	0.07 16.98 - 0.36 3.30 -	-0.12% 0.00% -0.12% -0.12%
-\$ \$	0.07 16.98 - 0.36 3.30 - -	-0.12% 0.00% -0.12% -0.12%
\$ \$ \$ \$ \$ \$ \$	0.07 16.98 - 0.36 3.30 - 106.83	-0.12%  0.00% -0.12% -0.12%  2.71%  2.71%
-\$ \$	0.07 16.98 - 0.36 3.30 - -	-0.12% 0.00% -0.12% -0.12%

#### Notes:



Name of LDC: Brant County Power

File Number: Rate Year: 2011

#### General Service > 50 kW

Consumption 50000 kWh Load 100 kW

			Г	Current Board-Approved				Ιſ	
		Charge	Ħ	Rate	Volume	_	Charge		R
		Unit		(\$)			(\$)		(
1	Monthly Service Charge	monthly		\$ 29.4100	1	\$	29.41		\$
2	Smart Meter Rate Adder	monthly		\$ 1.0000	1	\$	1.00		\$
3	Service Charge Rate Adder(s)			\$ -	1	\$	-		\$
4	Service Charge Rate Rider(s)			\$ -	1	\$	-		\$
5	Distribution Volumetric Rate	per kW		\$ 5.2549	100	\$	525.49		\$
6	Low Voltage Rate Adder	per kWh		\$ 0.3196	100	\$	31.96		\$
7	Volumetric Rate Adder(s)			\$ -	100	\$	-		\$
8	Volumetric Rate Rider(s)			\$ -	100	\$	-		\$
9	Smart Meter Disposition Rider			\$ -	100	\$	-		\$
10	LRAM & SSM Rider	per kW		\$ -	100	\$	-		\$
11	Deferral/Variance Account Disposition	per kW		\$ -	100	\$	-	-:	\$
	Rate Rider								
12	GA Variance (if applicable)	per kWh		\$ -	50000	\$	-		\$
13				\$ -		\$	-		\$
14				\$ -		\$	-		\$
15				\$ -		\$	-		\$
16	Sub-Total A - Distribution		Г			\$	587.86		
17	RTSR - Network	per kW		\$ 1.9188	104.95	\$	201.38		\$
18	RTSR - Line and Transformation	per kW		\$ 1.4110	104.95	\$	148.08		\$
	Connection								
19	Sub-Total B - Delivery (including Sub-		Г			\$	937.32		_
	Total A)		L						
20	Wholesale Market Service Charge	per kWh		\$ 0.0052	52475	\$	272.87		\$
	(WMSC)								
21	Rural and Remote Rate Protection	per kWh		\$ 0.0013	52475	\$	68.22		\$
	(RRRP)								
22	Special Purpose Charge	per kWh		\$ -	52475	\$	-		\$
23	Standard Supply Service Charge	monthly		\$ 0.2500	1	\$	0.25		\$
24	Debt Retirement Charge (DRC)	per kWh		\$ 0.0070	52475	\$	367.33		\$
25	Energy	per kWh		\$ 0.0635	52475		3,332.16		\$
26				\$ -		\$	-		\$
27			L	\$ -		\$	-	:	\$
28	Total Bill (before Taxes)		L			\$	4,978.15		
29	HST		L	13%		\$	647.16		
30	Tatal Bill (including Sub tatal B)		ſ			\$	5,625.31		
	Total Bill (including Sub-total B)		L					L	
			-		ı			_	_
31	Loss Factor	Note 1	L	4.95%					_

	Proposed		
Rate	Volume		Charge
(\$)			(\$)
\$ 95.0000	1	\$	95.00
\$ 1.0000	1	\$	1.00
\$ -	1	\$	-
\$ -	1	\$	-
\$ 3.8498	100	\$	384.98
\$ 1.1222	100	\$	112.22
\$ -	100	\$	-
\$ -	100	\$	-
\$ 95.0000 \$ 1.0000 \$ - \$ - \$ 3.8498 \$ 1.1222 \$ - \$ - \$ 0.0067	100	\$	-
\$ 0.0067	100	\$	0.67
-\$ 3.6922	100	-\$	369.22
\$ 0.0075	50000	\$	375.70
\$ -		\$	-
\$ 0.0075 \$ - \$ - \$ -		\$ \$ \$	-
\$ -		\$	-
		\$	600.35
\$ 2.4041	104.82	\$	252.00
\$ 1.5570	104.82	\$	163.20
		\$	1,015.55
\$ 0.0052	52410	\$	272.53
\$ 0.0013	52410	\$	68.13
\$ 0.0004	52410	\$	21.23
\$ 0.2500	1	\$	0.25
\$ 0.0070	52410	\$	366.87
\$ 0.0635	52410	\$	3,328.04
\$ 0.0004 \$ 0.2500 \$ 0.0070 \$ 0.0635 \$ - \$ -		\$ \$	-
\$ -		\$	-
		\$	5,072.59
13%		\$	659.44
	1	\$	5,732.03

4.82%

<del> </del>									
Impact									
	Change	% Change							
\$	65.59	223.02%							
\$	-	0.00%							
\$	-								
\$	-								
\$	140.51	-26.74%							
\$	80.26	251.12%							
\$	-								
\$	-								
\$	-								
\$ \$ \$ \$ \$ \$ \$	0.67								
\$	369.22								
	•								
Ś	375.70								
Ś	-								
Ś	-								
Ś	_								
\$ \$ \$ \$	12.49	2.12%							
\$	50.62	25.14%							
\$	15.12	10.21%							
\$	78.22	8.35%							
\$	0.34	-0.12%							
\$	0.08	-0.12%							
\$	21.23								
\$	-	0.00%							
\$	0.46	-0.12%							
\$	4.13	-0.12%							
Ś	_								
\$	-								
\$	94.44	1.90%							
\$ \$ \$ \$ \$	12.28	1.90%							
\$	106.72	1.90%							
~	100.72	1.55 /6							

#### Notes:



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### General Service > 50 kW

Consumption 150000 kWh Load 250 kW

			г	Current Board-Approved						Pr	
		Charge		Rate	Volume	-	Charge			Rate	Ė
		Unit		(\$)			(\$)			(\$)	
1	Monthly Service Charge	monthly	\$	29.4100	1	\$	29.41		\$	95.0000	Г
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00		\$	1.0000	l
3	Service Charge Rate Adder(s)		\$	-	1	\$	-		\$	-	l
4	Service Charge Rate Rider(s)		\$	-	1	\$	-		\$	-	l
5	Distribution Volumetric Rate	per kW	\$	5.2549	250	\$	1,313.73		\$	3.8498	l
6	Low Voltage Rate Adder	per kWh	\$	0.3196	250	\$	79.90		\$	1.1222	l
7	Volumetric Rate Adder(s)		\$	-	250	\$	-		\$	-	
8	Volumetric Rate Rider(s)		\$	-	250	\$	-		\$	-	
9	Smart Meter Disposition Rider		\$	-	250	\$	-		\$	-	
10	LRAM & SSM Rider	per kW	\$	-	250	\$	-		\$	0.0067	
11	Deferral/Variance Account Disposition	per kW	\$	-	250	\$	-		-\$	3.6922	
	Rate Rider										l
12	GA Variance (if applicable)	per kWh	\$	-	150000	\$	-		\$	0.0075	
13			\$	-		\$	-		\$	-	
14			\$	-		\$	-		\$	-	
15			\$	-		\$	-		\$	-	
16	Sub-Total A - Distribution					\$	1,424.04				
17	RTSR - Network	per kW	\$	1.9188	262.375	\$	503.45		\$	2.4041	Г
18	RTSR - Line and Transformation	per kW	\$	1.4110	262.375	\$	370.21		\$	1.5570	l
	Connection	·									
19	Sub-Total B - Delivery (including Sub-		Г			\$	2,297.69				r
	Total A)										
20	Wholesale Market Service Charge	per kWh	\$	0.0052	157425	\$	818.61		\$	0.0052	Г
	(WMSC)										
21	Rural and Remote Rate Protection	per kWh	\$	0.0013	157425	\$	204.65		\$	0.0013	
	(RRRP)										
22	Special Purpose Charge	per kWh	\$	-	157425	\$	-		\$	0.0004	
23	Standard Supply Service Charge	monthly	\$	0.2500	1	\$	0.25		\$	0.2500	
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	157425	\$	1,101.98		\$	0.0070	l
25	Energy	per kWh	\$	0.0635	157425	\$	9,996.49		\$	0.0635	
26			\$	-		\$	-		\$	-	
27			\$	-		\$	-		\$	-	
28	Total Bill (before Taxes)					4	14,419.67				
29	HST			13%		\$	1,874.56			13%	
30						\$	16,294.22				
	Total Bill (including Sub-total B)		L								
31	Loss Factor	Note 1	_	4.050/	Ī			ı		4.030/	1
31	LOSS FACTOF	NOTE 1	<u> </u>	4.95%				J		4.82%	ı

Proposed								
	Rate	Volume		Charge				
	(\$)			(\$)				
\$	95.0000	1	\$	95.00				
\$	1.0000	1	\$	1.00				
\$	-	1		-				
\$	-	1	\$	-				
\$	3.8498	250	\$	962.44				
\$	1.1222	250	\$	280.55				
\$	-	250	\$	-				
\$	-	250	\$	-				
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	-	250	\$	-				
\$	0.0067	250	\$	1.68				
-\$	3.6922	250	-\$	923.05				
\$	0.0075	150000	\$	1,127.10				
\$	-		\$	-				
\$ \$ \$ \$	-		\$	-				
\$	-		\$ \$ \$	-				
			\$	1,544.72				
\$	2.4041	262.05	\$	629.99				
\$	1.5570	262.05	\$	408.00				
			\$	2,582.71				
\$	0.0052	157230	\$	817.60				
			١.					
\$	0.0013	157230	\$	204.40				
\$	0.0004	157230	\$	63.68				
\$	0.2500	1	\$	0.25				
\$	0.0070	157230	\$	1,100.61				
\$ \$ \$ \$ \$	0.0635	157230	\$ \$ \$	9,984.11				
\$	-		\$	-				
\$			\$	-				
			\$	14,753.35				
	13%		\$	1,917.94				
			\$	16,671.29				

	Impa	nct
	Change	% Change
\$	65.59	223.02%
\$	-	0.00%
\$	-	
\$	-	
\$	351.28	-26.74%
\$	200.65	251.12%
\$	-	
\$	-	
\$	-	
\$	1.68	
\$ \$ \$ \$ \$ \$ \$	923.05	
\$	1,127.10	
\$	-	
\$	-	
\$	-	
\$ \$ \$ <b>\$</b>	120.68	8.47%
\$	126.55	25.14%
\$	37.79	10.21%
\$	285.02	12.40%
\$	1.01	-0.12%
\$	0.25	-0.12%
<b>&gt;</b>	63.68	0.0001
<b>&gt;</b>	-	0.00%
<b>&gt;</b>	1.37	-0.12%
\$	12.38	-0.12%
\$	-	
Ş	-	0.0424
\$ \$ \$ \$ \$	333.69	2.31%
\$	43.38	2.31%
\$	377.07	2.31%

#### Notes:



Name of LDC: Brant County Power

File Number: Rate Year: 2011

#### General Service > 50 kW

Consumption 250000 kWh Load 500 kW

				Currer	nt Board-A	ppr	oved		-	Proposed		
		Charge		Rate	Volume		Charge		Rate	Volume		Charge
		Unit		(\$)			(\$)		(\$)			(\$)
1	Monthly Service Charge	monthly	\$	29.4100	1	\$	29.41	\$	95.0000	1	\$	95.00
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-
5	Distribution Volumetric Rate	per kW	\$	5.2549	500	\$	2,627.45	\$	3.8498	500	\$	1,924.89
6	Low Voltage Rate Adder	per kWh	\$	0.3196	500	\$	159.80	\$	1.1222	500	\$	561.10
7	Volumetric Rate Adder(s)		\$	-	500	\$	-	\$	-	500	\$	-
8	Volumetric Rate Rider(s)		\$	-	500	\$	-	\$	-	500	\$	-
9	Smart Meter Disposition Rider		\$	-	500	\$	-	\$	-	500	\$	-
10	LRAM & SSM Rider	per kW	\$	-	500	\$	-	\$	0.0067	500	\$	3.35
11	Deferral/Variance Account Disposition	per kW	\$	-	500	\$	-	-\$	3.6922	500	-\$	1,846.11
	Rate Rider											
12	GA Variance (if applicable)	per kWh	\$	-	250000	\$	-	\$	0.0075	250000	\$	1,878.51
13			\$	-		\$	-	\$	-		\$	-
14			\$	-		\$	-	\$	-		\$	-
15			\$	-		\$	-	\$	-		\$	-
16	Sub-Total A - Distribution					\$	2,817.66				\$	2,617.73
17	RTSR - Network	per kW	\$	1.9188	524.75	\$	1,006.89	\$	2.4041	524.1	\$	1,259.99
18	RTSR - Line and Transformation	per kW	Ś	1.4110	524.75	\$	740.42	Ś	1.5570	524.1	\$	816.01
	Connection											
19	Sub-Total B - Delivery (including Sub- Total A)					\$	4,564.97				\$	4,693.73
	•		Ļ									
20	Wholesale Market Service Charge	per kWh	\$	0.0052	262375	\$	1,364.35	\$	0.0052	262050	\$	1,362.66
	(WMSC)		١.									
21	Rural and Remote Rate Protection	per kWh	\$	0.0013	262375	\$	341.09	\$	0.0013	262050	\$	340.67
22	(RRRP)		١.									
23	Special Purpose Charge	per kWh	\$	-	262375		-	\$	0.0004	262050		106.13
23	Standard Supply Service Charge	monthly	\$	0.2500	1	\$	0.25	\$	0.2500	1	\$	0.25
	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	262375		1,836.63	\$	0.0070	262050		1,834.35
25	Energy	per kWh	\$	0.0635	262375		16,660.81	\$	0.0635	262050	\$	16,640.18
26 27			\$	-		\$	-	\$	-		\$	-
28	Total Bill (hafana Tanaa)		\$	-		\$	-	\$	-		\$ <b>\$</b>	24,977.96
	Total Bill (before Taxes)		$\vdash$			_	24,768.10					
29	HST		$\vdash$	13%		÷	3,219.85		13%		\$	3,247.13
30	Total Bill (including Sub-total B)					\$	27,987.95				\$	28,225.09
31	Loss Factor	Note 1		4.95%					4.82%			

	Impa	nct								
	Change	% Change								
\$	65.59	223.02%								
\$	-	0.00%								
\$	-									
\$	-									
-\$	702.56	-26.74%								
\$	401.30	251.12%								
\$	-									
\$ \$ \$ \$ \$ \$ \$	-									
\$	-									
\$	3.35									
-\$	1,846.11									
\$	1,878.51									
\$	-									
\$	-									
\$	-									
\$ \$ \$ <b>-\$</b>	199.93	-7.10%								
\$	253.10	25.14%								
\$	75.58	10.21%								
\$	128.75	2.82%								
-\$	1.69	-0.12%								
-ب	1.03	-0.12/0								
-\$	0.42	-0.12%								
~	0.12	0.1270								
Ś	106.13									
\$	-	0.00%								
-\$	2.27	-0.12%								
-\$	20.64	-0.12%								
\$	-									
\$	-									
\$ -\$ -\$ \$ \$	209.86	0.85%								
\$	27.28	0.85%								
\$	237.14	0.85%								

Notes:



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Street Light

Consumption 146998 kWh load 399 kW

				Curre	nt Board-A	ppr	oved
				Rate	Volume		Charge
		Charge Unit		(\$)			(\$)
1	Monthly Service Charge		\$	0.8100	1	\$	0.81
2	Smart Meter Rate Adder				1	\$	-
3	Service Charge Rate Adder(s)		\$	-	1	\$	-
4	Service Charge Rate Rider(s)		\$	-	1	\$	-
5	Distribution Volumetric Rate		\$	4.1543	399	\$	1,657.57
6	Low Voltage Rate Adder		\$	0.2394	399	\$	95.52
7	Volumetric Rate Adder(s)		\$	-	399	\$	-
8	Volumetric Rate Rider(s)		\$	-	399	\$	-
9	Smart Meter Disposition Rider		\$	-	399	\$	-
10	LRAM & SSM Rider		\$	-	399	\$	-
11	Deferral/Variance Account		\$	-	399	\$	-
	Disposition Rate Rider						
12	GA Variance (if applicable)		\$	-		\$	-
13			\$	-		\$	-
14			\$	-		\$	-
15			\$	-		\$	-
16	Sub-Total A - Distribution					\$	1,753.90
17	RTSR - Network		\$	1.4472	418.7505	\$	606.02
18	RTSR - Line and Transformation		\$	1.0908	418.7505	\$	456.77
	Connection						
19	Sub-Total B - Delivery (including Sub-Total A)					\$	2,816.69
20	Wholesale Market Service Charge (WMSC)		\$	0.0052	154274.4	\$	802.23
21	Rural and Remote Rate Protection (RRRP)		\$	0.0013	154274.4	\$	200.56
22	Special Purpose Charge		\$	_	154274.4	Ś	_
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25
24	Debt Retirement Charge (DRC)		\$	0.0070	154274.4	\$	1,079.92
25	Energy		\$	0.0635	154274.4	\$	9,796.42
26			\$	-		Ś	-
27			Ś			Ś	_
28	Total Bill (before Taxes)		Ė			\$	14,696.06
29	HST			13%		Ś	1.910.49
30						\$	16,606.55
	Total Bill (including Sub-total B)						
31	Loss Factor	Note 1		4.95%			

		Proposed	ı	
	Rate	Volume		Charge
	(\$)			(\$)
\$	1.5000	1	\$	1.50
		1	\$	-
\$	-	1	\$	-
\$	-	1	\$	-
	43.9802	399	\$	17,548.10
	0.8406	399	\$	335.40
\$ \$ \$ \$	-	399	\$	-
\$	-	399	\$	-
\$	-	399	\$	-
\$	0.8746	399	\$	348.97
-\$	2.1139	399	-\$	843.45
\$	0.0075	146998	\$	1,104.55
\$	-		\$	-
\$ \$ \$	-		\$ \$	-
\$	-		\$	-
			\$	18,495.07
\$	1.8132	418.2318	\$	758.34
\$	1.2036	418.2318	\$	503.38
			\$	19,756.79
\$	0.0052	154083.3	\$	801.23
\$	0.0052	154083.3 154083.3	\$	801.23 200.31
\$			\$	
\$	0.0013	154083.3	\$ \$ \$	200.31 62.40 0.25
\$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	\$ \$ \$ \$	200.31 62.40 0.25 1,078.58
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500	154083.3 154083.3 1	, \$ \$ \$ \$	200.31 62.40 0.25
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	. , , , , , , ,	200.31 62.40 0.25 1,078.58 9,784.29
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58 9,784.29 - - 31,683.86 4,118.90
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070 0.0635	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58 9,784.29
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070 0.0635	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58 9,784.29 - - 31,683.86 4,118.90
\$ \$ \$ \$ \$	0.0013 0.0004 0.2500 0.0070 0.0635	154083.3 154083.3 1 154083.3	\$ \$ \$ \$ \$ \$ \$	200.31 62.40 0.25 1,078.58 9,784.29 - - 31,683.86 4,118.90

	Шра	
		%
	Change	Change
\$	0.69	85.19%
\$	-	
\$	-	
\$	-	
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	15,890.53	958.67%
\$	239.88	251.13%
\$	-	
\$	-	
\$	-	
\$	348.97	
-\$	843.45	
\$	1,104.55	
\$	-	
\$	-	
\$	- - - - 16,741.17	
\$	16,741.17	954.51%
\$	152.32	25.14%
\$	46.61	10.20%
\$	16,940.10	601.42%
-\$	0.99	-0.12%
-\$	0.25	-0.12%
	0.25 62.40	-0.12%
		-0.12%
	62.40	0.00%
	62.40 - 1.34	0.00% -0.12%
	62.40 - 1.34 12.13 -	0.00% -0.12% -0.12%
\$ \$ \$ \$ \$	62.40 - 1.34 12.13 - -	0.00% -0.12% -0.12%
\$ \$ \$ \$ \$ \$	62.40 1.34 12.13 - - 16,987.79 2,208.41	0.00% -0.12% -0.12% <b>115.59%</b> 115.59%
\$ \$ \$ \$ \$ \$	62.40 - 1.34 12.13 - -	0.00% -0.12% -0.12%

Impact



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Sentinel Lights

Consumption	85	kWi
load	0.22	kW

			Г	Curre	nt Board-A	ppr	oved
				Rate	Volume		Charge
		Charge Unit		(\$)			(\$)
1	Monthly Service Charge		\$	2.5200	1	\$	2.52
2	Smart Meter Rate Adder				1	\$	-
3	Service Charge Rate Adder(s)		\$	-	1	\$	-
4	Service Charge Rate Rider(s)		\$	-	1	\$	-
5	Distribution Volumetric Rate		\$	8.2496	0.22	\$	1.81
6	Low Voltage Rate Adder		\$	0.2048	0.22	\$	0.05
7	Volumetric Rate Adder(s)		\$	-	0.22	\$	-
8	Volumetric Rate Rider(s)		\$	-	0.22	\$	-
9	Smart Meter Disposition Rider		\$	-	0.22	\$	-
10	LRAM & SSM Rider		\$	-	0.22	\$	-
11	Deferral/Variance Account		\$	-	0.22	\$	-
	Disposition Rate Rider						
12	GA Variance (if applicable)		\$	-		\$	-
13			\$	-		\$	-
14			\$	-		\$	-
15			\$	-		\$	-
16	Sub-Total A - Distribution					\$	4.38
17	RTSR - Network		\$	1.4544	0.23089	\$	0.34
18	RTSR - Line and Transformation		\$	1.1137	0.23089	\$	0.26
	Connection						
19	Sub-Total B - Delivery (including Sub-Total A)					\$	4.97
20	Wholesale Market Service Charge		\$	0.0052	89.2075	\$	0.46
	(WMSC)						
21	Rural and Remote Rate Protection (RRRP)		\$	0.0013	89.2075	\$	0.12
22	Special Purpose Charge		\$		89.2075	Ś	_
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25
24	Debt Retirement Charge (DRC)		Ś	0.0070	89.2075	Ś	0.62
25	Energy		\$	0.0635	89.2075	\$	5.66
26	- 5,		\$	-		\$	-
27			\$	-		\$	-
28	Total Bill (before Taxes)		Ė			\$	12.09
29	HST		H	13%		\$	1.57
30						\$	13.66
	Total Bill (including Sub-total B)						

Note 1

Proposed					
	Rate	Volume		Charge	
	(\$)			(\$)	
\$	2.0000	1	\$	2.00	
		1	\$	-	
\$	-	1	\$	-	
\$ \$	-	1	\$ \$ \$ \$	-	
\$	29.8835	0.22	\$	6.57	
\$	0.7192	0.22	\$	0.16	
\$	-	0.22	\$	-	
\$	-	0.22	\$	-	
\$ \$ \$ -\$	-	0.22	\$	-	
	0.0122	0.22	-\$	0.00	
-\$	2.6584	0.22	-\$	0.58	
_	0.0075	85		0.54	
\$ \$ \$	0.0075	85	\$	0.64	
۶	-		\$	-	
ç	-		ç	-	
Ş	-		\$ \$ \$	8.78	
\$	1.8222	0.230604	\$	0.42	
\$	1.2289	0.230604	\$	0.42	
٧	1.2203	0.230004	ڔ	0.20	
П			\$	9.49	
			•		
\$	0.0052	89.097	\$	0.46	
\$	0.0013	89.097	\$	0.12	
\$	0.0004	89.097	\$	0.04	
\$	0.2500	1	\$	0.25	
\$	0.0070	89.097	\$	0.62	
\$ \$ \$ \$	0.0635	89.097	\$	5.66	
\$	-		\$ \$ \$ \$	-	
\$	-		\$		
			\$	16.63	
	13%		\$	2.16	
			\$	18.80	

	Imp	act
\$ C	hange	% Change
-Ş	0.52	-20.63%
\$	-	
, ,	-	
\$ ¢	- 4.76	262.24%
\$ ¢	0.11	262.24% 251.17%
ç	0.11	251.17%
ç		
ċ		
ب _ذ	0.00	
-\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	0.58	
Ÿ	0.56	
Ś	0.64	
Ś	-	
Ś	_	
Ś	_	
\$ \$ \$ <b>\$</b>	4.40	100.54%
\$	0.08	25.13%
\$	0.03	10.21%
\$	4.51	90.78%
-\$	0.00	-0.12%
_		
-\$	0.00	-0.12%
Ļ	0.04	
ç	0.04	0.00%
<u>ې</u> د	0.00	-0.12%
ڊ- خ	0.00	-0.12% -0.12%
ڊ- د	0.01	-0.12%
٠ ¢	-	
\$ \$ \$ \$ <b>\$</b>	4.54	37.56%
Ś	0.59	37.56%
\$ <b>\$</b>	5.14	37.63%
•	J.14	57.0070

Notes: Note 1

31 Loss Factor

1: See Note 1 from Sheet 1A. Bill Impacts - Residential	

4.82%

4.95%



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Unmetered Load

833 kWh 0 kW Consumption load

				C	nt Deard A		
				Rate	nt Board-A	•	Charge
		Charge Unit		(\$)	Volume		(\$)
1	Monthly Service Charge	Ondrige Onit	Ś	8.2500	1	\$	8.25
2	Smart Meter Rate Adder		Ţ	0.2300	1	\$	-
3	Service Charge Rate Adder(s)		\$	_	1	\$	_
4	Service Charge Rate Rider(s)		\$	_	1	\$	_
5	Distribution Volumetric Rate		\$	0.0186	833	Ś	15.49
6	Low Voltage Rate Adder		\$	0.0022	833	Ś	1.83
7	Volumetric Rate Adder(s)		\$	-	833	Ś	-
8	Volumetric Rate Rider(s)		\$	_	833	Ś	-
9	Smart Meter Disposition Rider		\$	-	833	\$	-
10	LRAM & SSM Rider		\$	-	833	\$	-
11	Deferral/Variance Account		\$	-	833	\$	-
	Disposition Rate Rider						
12	GA Variance (if applicable)		\$	-		\$	-
13			\$	-		\$	-
14			\$	-		\$	-
15			\$	-		\$	-
16	Sub-Total A - Distribution					\$	25.58
17	RTSR - Network		\$	0.0048	874.2335	\$	4.20
18	RTSR - Line and Transformation		\$	0.0034	874.2335	\$	2.97
	Connection						
19	Sub-Total B - Delivery (including Sub-Total A)					\$	32.75
20	Wholesale Market Service Charge		\$	0.0052	874.2335	\$	4.55
	(WMSC)						
21	Rural and Remote Rate Protection (RRRP)		\$	0.0013	874.2335	\$	1.14
22	Special Purpose Charge		\$	_	874.2335	\$	_
23	Standard Supply Service Charge		Ś	0.2500	1	Ś	0.25
24	Debt Retirement Charge (DRC)		\$	0.0070	874.2335	\$	6.12
25	Energy		\$	0.0635	874.2335	\$	55.51
26			\$	-		\$	-
27			\$	-		\$	-
28	Total Bill (before Taxes)					\$	100.31
29	HST			13%		\$	13.04
30						\$	113.35
	Total Bill (including Sub-total B)						

Note 1

4.95%

Proposed					
	Rate	Volume		Charge	
	(\$)			(\$)	
\$	2.0000	1	\$	2.00	
		1	\$	-	
Ś	-	1	Ś	-	
Ś	_	1	Ś	-	
Ś	0.0227	833	Ś	18.94	
Ś	0.0024	833	Ś	2.00	
Ś	-	833	Ś	-	
Ś	_	833	Ś	-	
Ś	_	833	Ś	-	
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	0.0015	833	\$ \$ \$ \$ \$ \$ \$	1.25	
-\$	0.0088	833	-\$	7.33	
1			-		
\$	0.0075	833	\$	6.26	
Ś	-		Ś	-	
Ś	_		Ś	-	
\$ \$ \$	_		Ś	-	
			\$ \$ \$	23.11	
\$	0.0060	873.1506	\$	5.24	
\$	0.0038	873.1506	\$	3.32	
			\$	31.67	
4	0.0050	070 4500	,		
\$	0.0052	873.1506	\$	4.54	
_					
\$	0.0013	873.1506	\$	1.14	
\$	0.0004	873.1506	\$	0.35	
¢	0.2500	1		0.25	
ç	0.0070	873.1506	ç	6.11	
¢	0.0635	873.1506	ç	55.45	
Ś	-	573.1300	Ś	-	
\$ \$ \$ \$			\$ \$ \$ \$		
٧	-		\$	99.51	
	13%		\$	12.94	
	13%		۶ \$	112.44	
			Þ	112.44	

	Imp	act
\$ C	hange	% Change
-\$	6.25	-75.76%
\$	-	
\$	-	
\$	-	
\$	3.44	22.21%
\$	0.17	9.09%
\$	-	
\$	-	
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	-	
\$	1.25	
-\$	7.33	
\$	6.26	
\$ \$ \$ <b>-\$</b>	-	
\$	-	
\$	-	
-\$	2.46	-9.63%
\$	1.04	24.85%
\$	0.35	11.63%
-\$	1.08	-3.28%
-\$	0.01	-0.12%
_		
-\$	0.00	-0.12%
_		
\$	0.35	
\$	-	0.00%
-\$	0.01	-0.12%
-Ş	0.07	-0.12%
\$	-	
\$ -\$ -\$ -\$	-	
	0.80	-0.80%
-\$ <b>-\$</b>	0.10	-0.80%
-\$	0.91	-0.80%

31 Loss Factor

Notes: Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential

4.82%

# Appendix D.1 Bill Impact Comparison (Application vs. Settlement) using BCP Cost Allocation

## Appendix D.1

			Settlemen	t BCP
	Applic	ation	<b>CA Proposal</b>	
	\$	%	\$	%
Residential Customer - 800 kWhs				
Distribution Charge Impact \$	6.18	20.69%	-\$ 1.79	-5.98%
Total Bill Impact \$	7.26	5.98%	-\$ 0.10	-0.09%
Revenue to Cost Ratio	102%		100%	
General Service < 50 kWhs - 2,000 kWhs	5			
Distribution Charge Impact -\$	0.74	-1.32%	-\$ 13.92	-24.81%
Total Bill Impact -\$	0.14	-0.05%	-\$ 11.31	-4.26%
Revenue to Cost Ratio	102%		100%	

# Appendix D.2 Bill Impact Comparison (Application vs. Settlement) using Intervenor Cost Allocation

## Appendix D.2

					Settle	ment		
					Interve	nor CA		
		Applica	ation		Proposal			
		\$	%		\$	%		
Residential Customer - 800 kWhs								
Distribution Charge Impact	\$	6.18	20.69%	-\$	4.20	-14.06%		
Total Bill Impact	\$	7.26	5.98%	-\$	2.83	-2.45%		
Revenue to Cost Ratio		102%			92%			
General Service < 50 kWhs - 2,000 kW	۷hs	S						
Distribution Charge Impact -	-\$	0.74	-1.32%	-\$	12.50	-22.28%		
Total Bill Impact -	-\$	0.14	-0.05%	-\$	9.71	-3.65%		
Revenue to Cost Ratio		102%		1	02.77%			

## Appendix E BCP 2011 Revenue Sufficiency





## REVENUE REQUIREMENT WORK FORM Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Revenue Sufficiency/Deficiency

		Initial App	lication	Settlement A	Agreement	Per Board Decision	
Line No.	Particulars	At Current Approved Rates	At Proposed Rates	At Current Approved Rates	At Proposed Rates	At Current Approved Rates	At Proposed Rates
1	Revenue Deficiency from Below		(\$300,388)		(\$588,848)		(\$588,848)
2	Distribution Revenue	\$6,209,190	\$6,209,190	\$6,307,546	\$6,307,546	\$6,307,546	\$6,307,546
3	Other Operating Revenue Offsets - net	\$557,326	\$557,326	\$454,491	\$454,491	\$454,491	\$454,491
4	Total Revenue	\$6,766,516	\$6,466,128	\$6,762,037	\$6,173,189	\$6,762,037	\$6,173,189
			, .,,		<del>+-11</del>		**,
5	Operating Expenses	\$4,765,970	\$4,765,970	\$4,684,960	\$4,684,960	\$4,684,960	\$4,684,960
6	Deemed Interest Expense	\$735,548	\$735,548	\$641,702	\$641,702	\$641,702	\$641,702
	Total Cost and Expenses	\$5,501,518	\$5,501,518	\$5,326,662	\$5,326,662	\$5,326,662	\$5,326,662
7	Utility Income Before Income Taxes	\$1,264,998	\$964,610	\$1,435,375	\$846,527	\$1,435,375	\$846,527
8	Tax Adjustments to Accounting	(\$696,545)	(\$696,545)	(\$620,206)	(\$620,206)	(\$620,206)	(\$620,206)
•	Income per 2009 PILs  Taxable Income	<b>#</b> 500,450	#000 00F	D045 400	\$000.004	D045 400	\$000.004
9	raxable income	\$568,453	\$268,065	\$815,169	\$226,321	\$815,169	\$226,321
10	Income Tax Rate	28.50%	28.50%	21.00%	21.00%	21.00%	21.00%
11	Income Tax on Taxable	\$162,009	\$76,399	\$171,185	\$47,527	\$171,185	\$47,527
12	Income Tax Credits	\$-	\$-	\$-	\$-	\$-	\$-
13	Utility Net Income	\$1,102,989	\$888,212	\$1,264,190	\$799,000	\$1,264,190	\$799,000
14	Utility Rate Base	\$22,543,447	\$22,543,447	\$20,850,720	\$20,850,720	\$20,850,720	\$20,850,720
	Deemed Equity Portion of Rate Base	\$9,017,379	\$9,017,379	\$8,340,288	\$8,340,288	\$8,340,288	\$8,340,288
15	Income/Equity Rate Base (%)	12.23%	9.85%	15.16%	9.58%	15.16%	9.58%
16	Target Return - Equity on Rate Base	9.85%	9.85%	9.58%	9.58%	9.58%	9.58%
17	Sufficiency/Deficiency in Return on Equity	2.38%	0.00%	5.58%	0.00%	5.58%	0.00%
18	Indicated Rate of Return	8.16%	7.20%	9.14%	6.91%	9.14%	6.91%
19	Requested Rate of Return on Rate Base	7.20%	7.20%	6.91%	6.91%	6.91%	6.91%
20	Sufficiency/Deficiency in Rate of Return	0.95%	0.00%	2.23%	0.00%	2.23%	0.00%
21 22 23	Target Return on Equity Revenue Deficiency/(Sufficiency) Gross Revenue Deficiency/(Sufficiency)	\$888,212 (\$214,777) (\$300,388) <b>(1</b>	\$888,212 \$-	\$799,000 (\$465,190) (\$588,848) <b>(1</b>	\$799,000 \$ -	\$799,000 (\$465,190) (\$588,848) <b>(1</b>	\$799,000 \$ -

#### Notes:

Revenue Sufficiency/Deficiency divided by (1 - Tax Rate) (1)

# Appendix F.1 BCP 2011 Revenue Requirement Work Form (BCP – Cost Allocation)



Name of LDC:	Brant Coun	ty Power			(1)
File Number:					
Rate Year:	2011		Version:	2.11	

#### **Table of Content**

<u>Sheet</u>	<u>Name</u>
A	Data Input Sheet
1	Rate Base
2	<b>Utility Income</b>
3	Taxes/PILS
4	Capitalization/Cost of Capital
5	Revenue Sufficiency/Deficiency
6	Revenue Requirement
7A	Bill Impacts -Residential
7B	Bill Impacts - GS < 50 kW

#### Notes:

- (1) Pale green cells represent inputs
- (2) Pale yellow cells represent drop=down lists
- (3) Please note that this model uses MACROS. Before starting, please ensure that macros have been enabled.
- (4) Completed versions of the Revenue Requirement Work Form are required to be filed in working Microsoft Excel format.

#### Copyright

This Revenue Requirement Work Form Model is protected by copyright and is being made available to you solely for the purpose of preparing or reviewing your draft rate order. You may use and copy this model for that purpose, and provide a copy of this model to any person that is advising or assisting you in that regard. Except as indicated above, any copying, reproduction, publication, sale, adaptation, translation, modification, reverse engineering or other use or dissemination of this model without the express written consent of the Ontario Energy Board is prohibited. If you provide a copy of this model to a person that is advising or assisting you in preparing or reviewing your draft rate order, you must ensure that the person understands and agrees to the restrictions noted above.



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

	Data Input								
	Initial Application		Adjustments		Settlement Agreement	(7)	Adjustments	Per Board Decision	
1 Rate Base									
Gross Fixed Assets (average) Accumulated Depreciation (average) Allowance for Working Capital:	\$28,545,689 (\$10,036,965)	(5)	(\$1,654,329) (\$78,200)		\$ 26,891,360 \$ 10,115,165			\$26,891,360 (\$10,115,165)	
Controllable Expenses Cost of Power Working Capital Rate (%)	\$3,531,485 \$23,366,671 15.00%		\$277,764 (\$12,420)		\$ 3,809,249 \$ 23,354,251 15.00%			\$3,809,249 \$23,354,251 15.00%	
2 Utility Income	10.0070				10.0070			1010070	
Operating Revenues:									
Distribution Revenue at Current Rates Distribution Revenue at Proposed Rates	\$6,209,190 \$5,908,802		\$98,356 (\$190,105)		\$6,307,546 \$5,718,698		\$0 \$0	\$6,307,546 \$5,718,698	
Other Revenue: Specific Service Charges Late Payment Charges Other Distribution Revenue	\$117,920 \$97,000 \$291,406		\$0 \$0 (\$102,835)		\$117,920 \$97,000 \$188,571		\$0 \$0 \$0	\$117,920 \$97,000 \$188,571	
Other Income and Deductions	\$51,000		\$0		\$51,000		\$0	\$51,000	
Operating Expenses:									
OM+A Expenses	\$3,839,038		(\$29,789)		\$ 3,809,249			\$3,809,249	
Depreciation/Amortization Property taxes	\$896,214 \$6,000		(\$26,503) \$ -		\$ 869,711 \$ 6,000			\$869,711 \$6,000	
Capital taxes	\$24,718		Φ-		\$ 6,000			\$0,000	
Other expenses	Ψ24,710				ΨΟ			ΨΟ	
·									
3 <u>Taxes/PILs</u> Taxable Income:									
Adjustments required to arrive at taxable income	(\$696,545)	(3)			(\$620,206)			(\$620,206)	
Utility Income Taxes and Rates:	<b>#</b> 54.005				007.547			007.547	
Income taxes (not grossed up) Income taxes (grossed up)	\$54,625 \$76,399				\$37,547 \$47,527			\$37,547 \$47,527	
Capital Taxes	\$24,718	(6)			\$47,527	(6)		\$ -	
Federal tax (%)	16.50%	(0)			16.50%	(0)		16.50%	
Provincial tax (%) Income Tax Credits	12.00%				4.50%			4.50%	
4 Capitalization/Cost of Capital Capital Structure:									
Long-term debt Capitalization Ratio (%)	56.0%				56.0%			56.0%	
Short-term debt Capitalization Ratio (%)	4.0%	(2)			4.0%	(2)		4.0%	
Common Equity Capitalization Ratio (%)	40.0%				40.0%			40.0%	
Prefered Shares Capitalization Ratio (%)	400.00/			_	400.00/			100.00/	
	100.0%				100.0%			100.0%	
Cost of Capital									
Long-term debt Cost Rate (%)	5.68%				5.32%			5.3%	
Short-term debt Cost Rate (%)	2.07%				2.46%			2.5%	
Common Equity Cost Rate (%)	9.85%				9.58%			9.6%	
Prefered Shares Cost Rate (%)									

### Notes:

Data inputs are required on on this Sheet A. Data Input Sheet, and on Sheets 7A and 7B, for Bill IMpacts. Data on this input sheet complete sheets 1 through 6 (Rate Base through Revenue Requirement), except for Notes that the utility may wish to use to support the data. Notes should be put on the applicable pages to All inputs are in dollars (\$) except where inputs are individually identified as percentages (%)

- 4.0% unless an Applicant has proposed or been approved for another amount.

  Net of addbacks and deductions to arrive at taxable income.
- (1) (2) (3) (4) (5) (6) Average of Gross Fixed Assets at beginning and end of the Test Year
- Average of Accumulated Depreciation at the beginning and end of the Test Year. Enter as a negative amount.
- Not applicable as of July 1, 2010
- Select option from drop-down list by clicking on cell M10. This columnallows for the application update reflecting the end of discovery or Argument-in-Chief. Also, the outsome of any Settlement Process can be reflected.



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

			Rate Base												
ine No.	Particulars		Initial Application	Adjustments	Per Board Decision										
1	Gross Fixed Assets (average)	(3)	\$28,545,689	(\$1,654,329)	\$26,891,360	\$ -	\$26,891,360								
2	Accumulated Depreciation (average)	(3)	(\$10,036,965)	(\$78,200)	(\$10,115,165)	\$ -	(\$10,115,165								
3	Net Fixed Assets (average)	(3)	\$18,508,724	(\$1,732,529)	\$16,776,195	\$ -	\$16,776,195								
4	Allowance for Working Capital	_(1)	\$4,034,723	\$39,802	\$4,074,525	\$ -	\$4,074,525								
5	Total Rate Base	=	\$22,543,447	(\$1,692,727)	\$20,850,720	<u>\$ -</u>	\$20,850,720								
	(4)		Allowanaa far M	/orking Capital - Deriva	4ion										
	(1)		Allowance for W	rorking Capital - Deriva	uon										
6	Controllable Expenses		\$3,531,485	\$277,764	\$3,809,249	\$ -	\$3,809,24								
7	Coat of Dower		¢22,266,674	(\$12,420)	¢22.254.254	Ċ	\$22.2E4.2E								

Version: 2.11

	(1)		Allowalice for W	Torking Capital - Derivati	1011		
7	Controllable Expenses Cost of Power Working Capital Base		\$3,531,485 \$23,366,671 \$26,898,156	\$277,764 (\$12,420) \$265,344	\$3,809,249 \$23,354,251 \$27,163,500	\$ - \$ - \$ -	\$3,809,249 \$23,354,251 \$27,163,500
9	Working Capital Rate %	(2)	15.00%	0.00%	15.00%	0.00%	15.00%
10	Working Capital Allowance	=	\$4,034,723	\$39,802	\$4,074,525	<del></del>	\$4,074,525

### **Notes**

(2) Generally 15%. Some distributors may have a unique rate due as a result of a lead-lag study.

(3) Average of opening and closing balances for the year.



File Number:

Rate Year: 2011

							Utility income				
Line No.	Particulars	_	Initial Application	Adjust	ments		Settlement Agreement		Adjustments		Per Board Decision
1			\$5,908,802	(\$	190,105)		\$5,718,698		\$ -		\$5,718,698
2	Proposed Rates) Other Revenue	(1)	\$557,326	(\$1,0	011,817)	##	\$454,491		\$-	_	\$454,491
3	Total Operating Revenues		\$6,466,128	(\$1,	201,922)		\$6,173,189		\$ -		\$6,173,189
	Operating Expenses:	-									
4 5 6 7 8	OM+A Expenses Oepreciation/Amortization Property taxes Capital taxes Other expense	_	\$3,839,038 \$896,214 \$6,000 \$24,718 \$ -	(	\$29,789) \$26,503) \$ - \$24,718) \$ -		\$3,809,249 \$869,711 \$6,000 \$ -		\$ - \$ - \$ - \$ - \$ -		\$3,809,249 \$869,711 \$6,000 \$ -
9	Subtotal (lines 4 to 8)		\$4,765,970	(	\$81,010)		\$4,684,960		\$ -		\$4,684,960
10	Deemed Interest Expense	_	\$735,548	(:	\$93,846)		\$641,702		\$ -	_	\$641,702
11	Total Expenses (lines 9 to 10)	_	\$5,501,518	(\$	174,856)		\$5,326,662		\$ -	_	\$5,326,662
12	Utility income before income taxes	=	\$964,610	(\$1,	027,065)		\$846,527		\$ -	_	\$846,527
13	Income taxes (grossed-up)		\$76,399	(:	\$28,871)		\$47,527		\$ -	_	\$47,527
14	Utility net income		\$888,212	(\$	998,194)		\$799,000		\$ -	_	\$799,000
Notes											
(1)	Other Revenues / Revenue Of	fsets	<u> </u>								
	Specific Service Charges		\$117,920		\$ -		\$117,920		\$ -		\$117,920
	Late Payment Charges		\$97,000	(0.	\$ -		\$97,000		\$ -		\$97,000
	Other Distribution Revenue Other Income and Deductions		\$291,406 \$51,000	(\$	102,835) - \$		\$188,571 \$51,000		\$ - \$ -		\$188,571 \$51,000
	Other income and Deductions	-	\$31,000		Ψ-		φ51,000		Ψ-	_	φ31,000
	Total Revenue Offsets	=	\$557,326	(\$	102,835)		\$454,491		<u>\$ -</u>	=	\$454,491
(1)	note, cell J14 has a formula error and addition \$30,165 of SSS Ac							hedu	ile above (removal of	\$135,	000 re BRE



File Number:

2011 Rate Year:

Version: 2.11

		Taxes/PILs					
Line No.	Particulars	Application		Settlement Agreement		Per Board Decision	
	Determination of Taxable Income						
1	Utility net income before taxes	\$888,212		\$799,000		\$799,000	
2	Adjustments required to arrive at taxable utility income	(\$696,545)		(\$620,206)		(\$620,206)	
3	Taxable income	\$191,666		\$178,793		\$178,793	
	Calculation of Utility income Taxes						
4 5	Income taxes Capital taxes	\$54,625 \$24,718	(1)	\$37,547 \$-	(1)	\$37,547 \$-	(1
6	Total taxes	\$79,343		\$37,547		\$37,547	
7	Gross-up of Income Taxes	\$21,774		\$9,981		\$9,981	
8	Grossed-up Income Taxes	\$76,399		\$47,527		\$47,527	
9	PILs / tax Allowance (Grossed-up Income taxes + Capital taxes)	\$101,117		\$47,527		\$47,527	
10	Other tax Credits	\$ -		\$ -		\$ -	
	Tax Rates						
11 12 13	Federal tax (%) Provincial tax (%) Total tax rate (%)	16.50% 12.00% 28.50%		16.50% 4.50% 21.00%		16.50% 4.50% 21.00%	

Notes (1) Capital Taxes not applicable after July 1, 2010 (i.e. for 2011 and later test years)



File Number:

Rate Year: 2011

### Capitalization/Cost of Capital

Version: 2.11

ne lo.	Particulars	Capitaliz	ation Ratio	Cost Rate	Return
			Initial Application		
		(%)	(\$)	(%)	(\$)
	Debt				
1	Long-term Debt	56.00%	\$12,624,330	5.68%	\$716,882
2	Short-term Debt	4.00%	\$901,738	2.07%	\$18,666
3	Total Debt	60.00%	\$13,526,068	5.44%	\$735,548
	Equity				
4	Common Equity	40.00%	\$9,017,379	9.85%	\$888,212
5	Preferred Shares	0.00%	\$ -	0.00%	\$ -
6	<b>Total Equity</b>	40.00%	\$9,017,379	9.85%	\$888,212
7	Total	100.00%	\$22,543,447	7.20%	\$1,623,759

		Se	ttlement Agreement		
		(%)	(\$)	(%)	(\$)
	Debt				
l	Long-term Debt	56.00%	\$11,676,403	5.32%	\$621,185
2	Short-term Debt	4.00%	\$834,029	2.46%	\$20,517
3	Total Debt	60.00%	\$12,510,432	5.13%	\$641,702
	Equity				
ı	Common Equity	40.00%	\$8,340,288	9.58%	\$799,000
ļ		40.00% 0.00%	\$8,340,288 \$ -	9.58% 0.00%	
	Common Equity				\$799,000 \$ \$799,000

			Per Board Decision		
		(%)	(\$)	(%)	(\$)
	Debt				
8	Long-term Debt	56.00%	\$11,676,403	5.32%	\$621,185
9	Short-term Debt	4.00%	\$834,029	2.46%	\$20,517
10	Total Debt	60.00%	\$12,510,432	5.13%	\$641,702
	Equity				
11	Common Equity	40.00%	\$8,340,288	9.58%	\$799,000
12	Preferred Shares	0.00%	\$ -	0.00%	\$
13	Total Equity	40.00%	\$8,340,288	9.58%	\$799,000
14	Total	100.00%	\$20,850,720	6.91%	\$1.440.701

### Notes (1)

4.0% unless an Applicant has proposed or been approved for another amount.





File Number:

Rate Year: 2011

### Revenue Sufficiency/Deficiency

		Initial App	lication	Settlement A	Agreement	Per Board I	Decision
Line No.	Particulars	At Current Approved Rates	At Proposed Rates	At Current Approved Rates	At Proposed Rates	At Current Approved Rates	At Proposed Rates
1	Revenue Deficiency from Below		(\$300,388)		(\$588,848)		(\$588,848)
2	Distribution Revenue	\$6,209,190	\$6,209,190	\$6,307,546	\$6,307,546	\$6,307,546	\$6,307,546
3	Other Operating Revenue Offsets - net	\$557,326	\$557,326	\$454,491	\$454,491	\$454,491	\$454,491
4	Total Revenue	\$6,766,516	\$6,466,128	\$6,762,037	\$6,173,189	\$6,762,037	\$6,173,189
			, .,,		<del>+-11</del>		**,
5	Operating Expenses	\$4,765,970	\$4,765,970	\$4,684,960	\$4,684,960	\$4,684,960	\$4,684,960
6	Deemed Interest Expense	\$735,548	\$735,548	\$641,702	\$641,702	\$641,702	\$641,702
	Total Cost and Expenses	\$5,501,518	\$5,501,518	\$5,326,662	\$5,326,662	\$5,326,662	\$5,326,662
7	Utility Income Before Income Taxes	\$1,264,998	\$964,610	\$1,435,375	\$846,527	\$1,435,375	\$846,527
8	Tax Adjustments to Accounting	(\$696,545)	(\$696,545)	(\$620,206)	(\$620,206)	(\$620,206)	(\$620,206)
•	Income per 2009 PILs  Taxable Income	<b>#</b> 500,450	#000 00F	D045 400	\$000.004	D045 400	\$000.004
9	raxable income	\$568,453	\$268,065	\$815,169	\$226,321	\$815,169	\$226,321
10	Income Tax Rate	28.50%	28.50%	21.00%	21.00%	21.00%	21.00%
11	Income Tax on Taxable	\$162,009	\$76,399	\$171,185	\$47,527	\$171,185	\$47,527
12	Income Tax Credits	\$-	\$-	\$-	\$-	\$-	\$-
13	Utility Net Income	\$1,102,989	\$888,212	\$1,264,190	\$799,000	\$1,264,190	\$799,000
14	Utility Rate Base	\$22,543,447	\$22,543,447	\$20,850,720	\$20,850,720	\$20,850,720	\$20,850,720
	Deemed Equity Portion of Rate Base	\$9,017,379	\$9,017,379	\$8,340,288	\$8,340,288	\$8,340,288	\$8,340,288
15	Income/Equity Rate Base (%)	12.23%	9.85%	15.16%	9.58%	15.16%	9.58%
16	Target Return - Equity on Rate Base	9.85%	9.85%	9.58%	9.58%	9.58%	9.58%
17	Sufficiency/Deficiency in Return on Equity	2.38%	0.00%	5.58%	0.00%	5.58%	0.00%
18	Indicated Rate of Return	8.16%	7.20%	9.14%	6.91%	9.14%	6.91%
19	Requested Rate of Return on Rate Base	7.20%	7.20%	6.91%	6.91%	6.91%	6.91%
20	Sufficiency/Deficiency in Rate of Return	0.95%	0.00%	2.23%	0.00%	2.23%	0.00%
21 22 23	Target Return on Equity Revenue Deficiency/(Sufficiency) Gross Revenue Deficiency/(Sufficiency)	\$888,212 (\$214,777) (\$300,388) <b>(1</b>	\$888,212 \$-	\$799,000 (\$465,190) (\$588,848) <b>(1</b>	\$799,000 \$ -	\$799,000 (\$465,190) (\$588,848) <b>(1</b>	\$799,000 \$ -

### Notes:

Revenue Sufficiency/Deficiency divided by (1 - Tax Rate) (1)



Version: 2.11

File Number:

Rate Year: 2011

			Re	evenue Requireme	ent		
Line No.	Particulars	Application		Settlement Agreement		Per Board Decision	
1 2 3 4 5 6	OM&A Expenses Amortization/Depreciation Property Taxes Capital Taxes Income Taxes (Grossed up) Other Expenses	\$3,839,038 \$896,214 \$6,000 \$24,718 \$76,399 \$ -		\$3,809,249 \$869,711 \$6,000 \$- \$47,527		\$3,809,249 \$869,711 \$6,000 \$- \$47,527	
7	Return Deemed Interest Expense Return on Deemed Equity	\$735,548 \$888,212		\$641,702 \$799,000		\$641,702 \$799,000	
8	Distribution Revenue Requirement before Revenues	\$6,466,128		\$6,173,189		\$6,173,189	
9 10	Distribution revenue Other revenue	\$5,908,802 \$557,326		\$5,718,698 \$454,491		\$5,718,698 \$454,491	
11	Total revenue	\$6,466,128		\$6,173,189		\$6,173,189	
12	Difference (Total Revenue Less Distribution Revenue Requirement before Revenues)	\$-	(1)	\$-	(1)	\$-	(1
<u>Notes</u> (1)	Line 11 - Line 8						



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Residential											
		Consumption		800	kWh													
				Current I	Board-App	rov	red		Р	roposed				lmı	pact			
				Rate	Volume	С	harge		Rate	Volume	(	Charge		\$	%			
		Charge Unit		(\$)			(\$)		(\$)			(\$)		hange	Change			
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$	11.0000	1	\$	11.00	\$	0.05	0.46%			
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%			
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-				
4	Service Charge Rate Rider(s)		\$		1	\$	-	\$		1	\$	-	\$					
5	Distribution Volumetric Rate	per kwh	\$	0.0216	800	\$	17.28	\$	0.0237	800	\$	18.99	\$	1.71	9.90%			
6	Low Voltage Rate Adder	per kwh	\$	0.0008	800	\$	0.64	\$	0.0024	800	\$	1.93	\$	1.29	201.75%			
7	Volumetric Rate Adder(s)		\$	-	800	\$	-	\$	-	800	\$	-	\$	-				
8	Volumetric Rate Rider(s)		\$	-	800	\$	-	\$	-	800	\$	-	\$	-				
9	Smart Meter Disposition Rider LRAM & SSM Rate Rider		\$	-	800 800	\$	-	\$	0.0024	800 800	\$	1.00	\$ \$	1.92				
10 11	Deferral/Variance Account		\$ \$	-	800	\$	-	\$ -\$			ъ -\$	1.92 6.76	-\$	6.76				
11	Disposition Rate Rider		Ф	-	800	Ф	-	-Ф	0.0084	800	-Ф	0.76	-⊅	0.76				
12	Disposition Rate Rider		\$			\$	_	\$			\$		\$					
13			\$	-		\$	-	\$	-		\$	-	\$	-				
14			\$			\$	-	\$			\$		\$					
15			\$	_		\$	_	\$			\$	_	\$	_				
16	Sub-Total A - Distribution		Ψ			\$	29.87	Ψ			\$	28.08	-\$	1.79	-5.98%			
17	RTSR - Network	per kwh	\$	0.0052	839.6	\$	4.37	\$	0.0065	838.56	\$	5.46	\$	1.10	25.14%			
18	RTSR - Line and	per kwh	\$	0.0039		,		\$					1					
	Transformation Connection	po	, T	0.0000	839.6	\$	3.27	•	0.00.10	838.56	\$	3.61	\$	0.33	10.21%			
19	Sub-Total B - Delivery					\$	37.51				\$	37.16	-\$	0.35	-0.94%			
	(including Sub-Total A)												L					
20	Wholesale Market Service	per kWh	\$	0.0052	839.6	\$	4.37	\$	0.0052	838.56	\$	4.36	-\$	0.01	-0.12%			
	Charge (WMSC)																	
21	Rural and Remote Rate	per kWh	\$	0.0013	839.6	\$	1.09	\$	0.0013	838.56	\$	1.09	-\$	0.00	-0.12%			
	Protection (RRRP)																	
22	Special Purpose Charge		\$		839.6		-	\$		838.56		0.34	\$	0.34				
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25	\$	0.2500	1	\$	0.25	\$	-	0.00%			
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	839.6	\$	5.88	\$		838.56	\$	5.87	-\$	0.01	-0.12%			
25	Energy	per kWh	\$	0.0635	839.6	\$	53.31	\$	0.0635	838.56	\$	53.25	-\$	0.07	-0.12%			
26						\$	-	\$	-		\$	-	\$	-				
27	Total Bill (hofore Tayes)					\$	102.41	\$	-		\$	102.31	\$ <b>-\$</b>	0.09	0.000/			
28	Total Bill (before Taxes)			400/		_		H	13%		·		_		-0.09%			
29	HST			13%		\$	13.31		13%		\$	13.30	-\$	0.01	-0.09%			
30	Total Bill (including Sub-total					ф	115.72				Þ	115.62	-\$	0.10	-0.09%			
	В)							L					L					
31	Loss Factor (%)	Note 1		4.95%					4.82%									
	• •				•			_		•								

Notes:
Note 1: Enter existing and proposed total loss factor (Secondary Metered Customer < 5,000 kW) as a percentage.

Name of LDC: Brant County Power

File Number:

2011 Rate Year:

### General Service < 50 kW

						Genera	al S	erv	ice < 50 kV	V					
		Consumption		2000	kWh										
				Current B	oard-Appr	oved	1		Pr	roposed				lmp	act
				Rate	Volume	Charge			Rate	Volume	(	Charge		\$	%
		Charge Unit		(\$)		(\$)	_		(\$)			(\$)		hange	Change
1	Monthly Service Charge		\$	16.5100	1	\$ 16.51		\$	17.0000	1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$	1.0000	1	\$ 1.00	)	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$ -		\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$ -		\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate		\$	0.0186	2000	\$ 37.20	)	\$	0.0170	2000		33.92	-\$	3.28	-8.82%
6	Low Voltage Rate Adder		\$	0.0007	2000	\$ 1.40	)	\$	0.0024	2000	\$	4.83	\$	3.43	244.86%
7	Volumetric Rate Adder(s)		\$	-	2000	\$ -		\$	-	2000	\$	-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	2000	\$ -		\$	-	2000	\$	-	\$	-	
9	Smart Meter Disposition Rider		\$	-	2000	\$ -		\$	-	2000	\$	-	\$	-	
10	LRAM & SSM Rider		\$	-	2000	\$ -		\$	0.0015	2000		3.00	\$	3.00	
11	Deferral/Variance Account		\$	-	2000	\$ -		-\$	0.0088	2000	-\$	17.56	-\$	17.56	
	Disposition Rate Rider														
12	GA Variance (if applicable)		\$	-		\$ -		\$	0.0075		\$	-	\$	-	
13			\$	_		\$ -		\$	-		\$	-	\$	-	
14			\$	-		\$ -		\$	-		\$	-	\$	-	
15			\$	_		\$ -		\$	-		\$	-	\$	-	
16	Sub-Total A - Distribution					\$ 56.11	71				\$	42.19	-\$	13.92	-24.81%
17	RTSR - Network		\$	0.0048	2099	\$ 10.08		\$	0.0060	2096.4		12.61	\$	2.53	25.14%
18	RTSR - Line and		\$	0.0034	2099	\$ 7.14		\$	0.0038	2096.4		7.87	\$	0.73	10.21%
	Transformation Connection		Ψ	0.0001	2000	Ψ 7.1		Ψ	0.0000	2000.1	Ψ	7.01	Ι Ψ	0.70	10.2170
19	Sub-Total B - Delivery					\$ 73.32	7				\$	62.66	-¢	10.66	-14.54%
13	(including Sub-Total A)					φ 13.32	• []				Ψ	02.00	Ψ.	10.00	-14.54 /6
20	Wholesale Market Service		\$	0.0052	2099	\$ 10.91	۱ ا	\$	0.0052	2096.4	\$	10.90	-\$	0.01	-0.12%
20	Charge (WMSC)		Φ	0.0052	2099	φ 10.91		φ	0.0052	2090.4	Φ	10.90	-φ	0.01	-0.1276
21	Rural and Remote Rate		\$	0.0013	2099	\$ 2.73	, 📙	\$	0.0013	2096.4	φ.	2.73	-\$	0.00	-0.12%
21	Protection (RRRP)		Э	0.0013	2099	\$ 2.73	9	Ф	0.0013	2096.4	Ф	2.73	-2	0.00	-0.12%
22	Special Purpose Charge		•		2000	•		œ.	0.0004	2000 4	Φ.	0.05		0.05	
22	Standard Supply Service Charge		\$ \$	0.2500	2099	\$ - \$ 0.25	.	\$	0.0004 0.2500	2096.4	\$	0.85 0.25	\$	0.85	0.00%
23	Debt Retirement Charge (DRC)		\$		2099			\$		2096.4					
24				0.0070 0.0635	2099	\$ 14.69			0.0070			14.67	-\$	0.02	-0.12%
25	Energy		\$	0.0635	2099	\$ 133.29	,	\$	0.0635	2096.4		133.12	-\$	0.17	-0.12%
26			\$	-		\$ -		\$	-		\$	-	\$	-	
27	Total Dill (hofore Tower)		\$			\$ -	-	\$	-		\$	-	\$	-	4.0007
28	Total Bill (before Taxes)		<b>├</b>			\$ 235.19		_			\$		-\$	10.01	-4.26%
29	HST		<u> </u>	13%		\$ 30.58	_		13%		\$	29.27	-\$	1.30	-4.26%
30	Total Bill (including Sub-total					\$ 265.77	' [ ]				\$	254.46	-\$	11.31	-4.26%
	В)						┚								
					1		,			•					
31	Loss Factor	Note 1		4.95%					4.82%						

Notes: Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential

# Appendix F.2 BCP 2011 Revenue Requirement Work Form (Intervenor – Cost Allocation)



Name of LDC:	Brant Coun	ty Power			(1)
File Number:					
Rate Year:	2011		Version:	2.11	

### **Table of Content**

Sheet	<u>Name</u>
Α	Data Input Sheet
1	Rate Base
2	<b>Utility Income</b>
3	Taxes/PILS
4	Capitalization/Cost of Capital
5	Revenue Sufficiency/Deficiency
6	Revenue Requirement
7 <b>A</b>	Bill Impacts -Residential
7B	Bill Impacts - GS < 50 kW

#### Notes:

- (1) Pale green cells represent inputs
- (2) Pale yellow cells represent drop=down lists
- (3) Please note that this model uses MACROS. Before starting, please ensure that macros have been enabled.
- (4) Completed versions of the Revenue Requirement Work Form are required to be filed in working Microsoft Excel format.

#### Copyright

This Revenue Requirement Work Form Model is protected by copyright and is being made available to you solely for the purpose of preparing or reviewing your draft rate order. You may use and copy this model for that purpose, and provide a copy of this model to any person that is advising or assisting you in that regard. Except as indicated above, any copying, reproduction, publication, sale, adaptation, translation, modification, reverse engineering or other use or dissemination of this model without the express written consent of the Ontario Energy Board is prohibited. If you provide a copy of this model to a person that is advising or assisting you in preparing or reviewing your draft rate order, you must ensure that the person understands and agrees to the restrictions noted above.



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

				Data Input				(
	Initial Application		Adjustments	Settlement Agreement	(7)	Adjustments	Per Board Decision	
Rate Base								
Gross Fixed Assets (average) Accumulated Depreciation (average) Allowance for Working Capital:	\$28,545,689 (\$10,036,965)	(5)	(\$1,654,329) (\$78,200)	\$ 26,891,360 -\$ 10,115,165			\$26,891,360 (\$10,115,165)	
Controllable Expenses Cost of Power Working Capital Rate (%)	\$3,531,485 \$23,366,671 15,00%		\$277,764 (\$12,420)	\$ 3,809,249 \$ 23,354,251 15.00%			\$3,809,249 \$23,354,251 15.00%	
• • • • •	13.00 %			13.00 /6			13.00 /6	
Utility Income Operating Revenues:								
Distribution Revenue at Current Rates Distribution Revenue at Proposed Rates	\$6,209,190 \$5,908,802		\$98,356 (\$190,105)	\$6,307,546 \$5,718,698		\$0 \$0	\$6,307,546 \$5,718,698	
Other Revenue: Specific Service Charges Late Payment Charges	\$117,920 \$97,000		\$0 \$0	\$117,920 \$97,000		\$0 \$0	\$117,920 \$97,000	
Other Distribution Revenue Other Income and Deductions	\$291,406 \$51,000		(\$102,835) \$0	\$188,571 \$51,000		\$0 \$0	\$188,571 \$51,000	
Operating Expenses:								
OM+A Expenses	\$3,839,038		(\$29,789)	\$ 3,809,249			\$3,809,249	
Depreciation/Amortization Property taxes	\$896,214 \$6,000		(\$26,503) \$ -	\$ 869,711 \$ 6,000			\$869,711 \$6,000	
Capital taxes	\$24,718		Ψ-	\$ 0,000			\$0,000	
Other expenses	,			**				
Taxes/PILs								
Taxable Income:  Adjustments required to arrive at taxable income	(\$696,545)	(3)		(\$620,206)			(\$620,206)	
Utility Income Taxes and Rates:								
Income taxes (not grossed up)	\$54,625			\$37,547			\$37,547	
Income taxes (grossed up)	\$76,399			\$47,527			\$47,527	
Capital Taxes Federal tax (%)	\$24,718 16.50%	(6)		\$ - 16.50%			\$ - \$0	
Provincial tax (%) Income Tax Credits	12.00%			4.50%			\$0 \$0	
Capitalization/Cost of Capital Capital Structure:								
Long-term debt Capitalization Ratio (%)	56.0%			56.0%			56.0%	
Short-term debt Capitalization Ratio (%)	4.0%	(2)		4.0%	(2)		4.0%	
Common Equity Capitalization Ratio (%)	40.0%			40.0%			40.0%	١
Prefered Shares Capitalization Ratio (%)	100.0%			100.0%	•		100.0%	-
Cost of Capital								
Long-term debt Cost Rate (%)	5.68%			5.32%			5.3%	
Short-term debt Cost Rate (%)	2.07%			2.46%			2.5%	
Common Equity Cost Rate (%)	9.85%			9.58%			9.6%	
Prefered Shares Cost Rate (%)								

### Notes:

Data inputs are required on on this Sheet A. Data Input Sheet, and on Sheets 7A and 7B, for Bill IMpacts. Data on this input sheet complete sheets 1 through 6 (Rate Base through Revenue Requirement), except for Notes that the utility may wish to use to support the data. Notes should be put on the applicable pages to All inputs are in dollars (\$) except where inputs are individually identified as percentages (%)

- 4.0% unless an Applicant has proposed or been approved for another amount.

  Net of addbacks and deductions to arrive at taxable income.
- Average of Gross Fixed Assets at beginning and end of the Test Year
- Average of Accumulated Depreciation at the beginning and end of the Test Year. Enter as a negative amount.
- (1) (2) (3) (4) (5) (6) Not applicable as of July 1, 2010
- Select option from drop-down list by clicking on cell M10. This columnallows for the application update reflecting the end of discovery or Argument-in-Chief. Also, the outsome of any Settlement Process can be reflected.



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

					Rate Base		
ine No.	Particulars	<u>_</u>	Initial Application	Adjustments	Settlement Agreement	Adjustments	Per Board Decision
1	Gross Fixed Assets (average)	(3)	\$28,545,689	(\$1,654,329)	\$26,891,360	\$ -	\$26,891,360
2	Accumulated Depreciation (average)	(3)	(\$10,036,965)	(\$78,200)	(\$10,115,165)	\$ -	(\$10,115,165
3	Net Fixed Assets (average)	(3)	\$18,508,724	(\$1,732,529)	\$16,776,195	\$ -	\$16,776,195
4	Allowance for Working Capital	_(1)	\$4,034,723	\$39,802	\$4,074,525	\$ -	\$4,074,525
5	Total Rate Base	=	\$22,543,447	(\$1,692,727)	\$20,850,720	<u>\$ -</u>	\$20,850,720
	(4)		Allowanaa far M	/orking Capital - Deriva	4ion		
	(1)		Allowance for W	rorking Capital - Deriva	uon		
6	Controllable Expenses		\$3,531,485	\$277,764	\$3,809,249	\$ -	\$3,809,24
7	Coat of Dower		¢22,266,674	(\$12,420)	¢22.254.254	Ċ	\$22.2E4.2E

Version: 2.11

	(1)		Allowalice for W	Torking Capital - Derivati	1011		
7	Controllable Expenses Cost of Power Working Capital Base		\$3,531,485 \$23,366,671 \$26,898,156	\$277,764 (\$12,420) \$265,344	\$3,809,249 \$23,354,251 \$27,163,500	\$ - \$ - \$ -	\$3,809,249 \$23,354,251 \$27,163,500
9	Working Capital Rate %	(2)	15.00%	0.00%	15.00%	0.00%	15.00%
10	Working Capital Allowance	=	\$4,034,723	\$39,802	\$4,074,525	<del></del>	\$4,074,525

### **Notes**

(2) Generally 15%. Some distributors may have a unique rate due as a result of a lead-lag study.

(3) Average of opening and closing balances for the year.



File Number:

Rate Year: 2011

						Utility income		
Line No.	Particulars	_	Initial Application	Adjustments		Settlement Agreement	Adjustments	Per Board Decision
1	Operating Revenues: Distribution Revenue (at Proposed Rates)		\$5,908,802	(\$190,105	)	\$5,718,698	\$ -	\$5,718,698
2	Other Revenue	(1)	\$557,326	(\$1,011,817	)##	\$454,491	<u> </u>	\$454,491
3	Total Operating Revenues		\$6,466,128	(\$1,201,922	<u>)</u>	\$6,173,189	<u> </u>	\$6,173,189
4 5 6 7 8	Operating Expenses: OM+A Expenses Depreciation/Amortization Property taxes Capital taxes Other expense		\$3,839,038 \$896,214 \$6,000 \$24,718 \$-	(\$29,789 (\$26,503 \$ (\$24,718	) - )	\$3,809,249 \$869,711 \$6,000 \$-	\$ - \$ - \$ - \$ - \$ -	\$3,809,249 \$869,711 \$6,000 \$ -
9	Subtotal (lines 4 to 8)		\$4,765,970	(\$81,010	)	\$4,684,960	\$ -	\$4,684,960
10	Deemed Interest Expense		\$735,548	(\$93,846	<u>)</u>	\$641,702	\$ -	\$641,702
11	Total Expenses (lines 9 to 10)		\$5,501,518	(\$174,856	<u>)</u>	\$5,326,662	<u> </u>	\$5,326,662
12	Utility income before income taxes	:	\$964,610	(\$1,027,065	<u>)</u>	\$846,527	<u> </u>	\$846,527
13	Income taxes (grossed-up)		\$76,399	(\$28,871	<u>)</u>	\$47,527	<u> </u>	\$47,527
14	Utility net income	:	\$888,212	(\$998,194	<u>)</u>	\$799,000	<u> </u>	\$799,000
Notes								
(1)	Other Revenues / Revenue Of Specific Service Charges Late Payment Charges Other Distribution Revenue Other Income and Deductions Total Revenue Offsets note, cell J14 has a formula erro and addition \$30,165 of SSS Ac	or an	\$117,920 \$97,000 \$291,406 \$51,000 \$557,326 d the cell is locked by	\$ (\$102,835 \$ (\$102,835 the OEB, this value s	- ) - )	\$117,920 \$97,000 \$188,571 \$51,000 \$454,491 be -\$102,835 as per sche	\$ - \$ - \$ - \$ - \$ - dule above (removal of \$13	\$117,920 \$97,000 \$188,571 \$51,000 \$454,491



File Number:

2011 Rate Year:

Version: 2.11

		Taxes/PILs					
Line No.	Particulars	Application		Settlement Agreement		Per Board Decision	
	Determination of Taxable Income						
1	Utility net income before taxes	\$888,212		\$799,000		\$799,000	
2	Adjustments required to arrive at taxable utility income	(\$696,545)		(\$620,206)		(\$620,206)	
3	Taxable income	\$191,666		\$178,793		\$178,793	
	Calculation of Utility income Taxes						
4 5	Income taxes Capital taxes	\$54,625 \$24,718	(1)	\$37,547 \$-	(1)	\$37,547 \$-	(1
6	Total taxes	\$79,343		\$37,547		\$37,547	
7	Gross-up of Income Taxes	\$21,774		\$9,981		\$9,981	
8	Grossed-up Income Taxes	\$76,399		\$47,527		\$47,527	
9	PILs / tax Allowance (Grossed-up Income taxes + Capital taxes)	\$101,117		\$47,527		\$47,527	
10	Other tax Credits	\$ -		\$ -		\$ -	
	Tax Rates						
11 12 13	Federal tax (%) Provincial tax (%) Total tax rate (%)	16.50% 12.00% 28.50%		16.50% 4.50% 21.00%		16.50% 4.50% 21.00%	

Notes (1) Capital Taxes not applicable after July 1, 2010 (i.e. for 2011 and later test years)



File Number:

Rate Year: 2011

### Capitalization/Cost of Capital

Version: 2.11

ne lo.	Particulars	Capitaliz	ation Ratio	Cost Rate	Return
			Initial Application		
		(%)	(\$)	(%)	(\$)
	Debt				
1	Long-term Debt	56.00%	\$12,624,330	5.68%	\$716,882
2	Short-term Debt	4.00%	\$901,738	2.07%	\$18,666
3	Total Debt	60.00%	\$13,526,068	5.44%	\$735,548
	Equity				
4	Common Equity	40.00%	\$9,017,379	9.85%	\$888,212
5	Preferred Shares	0.00%	\$ -	0.00%	\$ -
6	Total Equity	40.00%	\$9,017,379	9.85%	\$888,212
7	Total	100.00%	\$22,543,447	7.20%	\$1,623,759

		Se	ttlement Agreement		
		(%)	(\$)	(%)	(\$)
	Debt				
l	Long-term Debt	56.00%	\$11,676,403	5.32%	\$621,185
2	Short-term Debt	4.00%	\$834,029	2.46%	\$20,517
3	Total Debt	60.00%	\$12,510,432	5.13%	\$641,702
	Equity				
ı	Common Equity	40.00%	\$8,340,288	9.58%	\$799,000
ļ		40.00% 0.00%	\$8,340,288 \$ -	9.58% 0.00%	
	Common Equity				\$799,000 \$ \$799,000

			Per Board Decision		
		(%)	(\$)	(%)	(\$)
	Debt				
8	Long-term Debt	56.00%	\$11,676,403	5.32%	\$621,185
9	Short-term Debt	4.00%	\$834,029	2.46%	\$20,517
10	Total Debt	60.00%	\$12,510,432	5.13%	\$641,702
	Equity				
11	Common Equity	40.00%	\$8,340,288	9.58%	\$799,000
12	Preferred Shares	0.00%	\$ -	0.00%	\$
13	Total Equity	40.00%	\$8,340,288	9.58%	\$799,000
14	Total	100.00%	\$20,850,720	6.91%	\$1.440.701

### Notes (1)

4.0% unless an Applicant has proposed or been approved for another amount.





File Number:

Rate Year: 2011

### Revenue Sufficiency/Deficiency

		Initial App	lication	Settlement A	Agreement	Per Board I	Decision
Line No.	Particulars	At Current Approved Rates	At Proposed Rates	At Current Approved Rates	At Proposed Rates	At Current Approved Rates	At Proposed Rates
1	Revenue Deficiency from Below		(\$300,388)		(\$588,848)		(\$588,848)
2	Distribution Revenue	\$6,209,190	\$6,209,190	\$6,307,546	\$6,307,546	\$6,307,546	\$6,307,546
3	Other Operating Revenue Offsets - net	\$557,326	\$557,326	\$454,491	\$454,491	\$454,491	\$454,491
4	Total Revenue	\$6,766,516	\$6,466,128	\$6,762,037	\$6,173,189	\$6,762,037	\$6,173,189
			, .,,		<del>+-11</del>		**,
5	Operating Expenses	\$4,765,970	\$4,765,970	\$4,684,960	\$4,684,960	\$4,684,960	\$4,684,960
6	Deemed Interest Expense	\$735,548	\$735,548	\$641,702	\$641,702	\$641,702	\$641,702
	Total Cost and Expenses	\$5,501,518	\$5,501,518	\$5,326,662	\$5,326,662	\$5,326,662	\$5,326,662
7	Utility Income Before Income Taxes	\$1,264,998	\$964,610	\$1,435,375	\$846,527	\$1,435,375	\$846,527
8	Tax Adjustments to Accounting	(\$696,545)	(\$696,545)	(\$620,206)	(\$620,206)	(\$620,206)	(\$620,206)
•	Income per 2009 PILs  Taxable Income	<b>#</b> 500,450	#000 00F	D045 400	\$000.004	D045 400	\$000.004
9	raxable income	\$568,453	\$268,065	\$815,169	\$226,321	\$815,169	\$226,321
10	Income Tax Rate	28.50%	28.50%	21.00%	21.00%	21.00%	21.00%
11	Income Tax on Taxable	\$162,009	\$76,399	\$171,185	\$47,527	\$171,185	\$47,527
12	Income Tax Credits	\$-	\$-	\$-	\$-	\$-	\$-
13	Utility Net Income	\$1,102,989	\$888,212	\$1,264,190	\$799,000	\$1,264,190	\$799,000
14	Utility Rate Base	\$22,543,447	\$22,543,447	\$20,850,720	\$20,850,720	\$20,850,720	\$20,850,720
	Deemed Equity Portion of Rate Base	\$9,017,379	\$9,017,379	\$8,340,288	\$8,340,288	\$8,340,288	\$8,340,288
15	Income/Equity Rate Base (%)	12.23%	9.85%	15.16%	9.58%	15.16%	9.58%
16	Target Return - Equity on Rate Base	9.85%	9.85%	9.58%	9.58%	9.58%	9.58%
17	Sufficiency/Deficiency in Return on Equity	2.38%	0.00%	5.58%	0.00%	5.58%	0.00%
18	Indicated Rate of Return	8.16%	7.20%	9.14%	6.91%	9.14%	6.91%
19	Requested Rate of Return on Rate Base	7.20%	7.20%	6.91%	6.91%	6.91%	6.91%
20	Sufficiency/Deficiency in Rate of Return	0.95%	0.00%	2.23%	0.00%	2.23%	0.00%
21 22 23	Target Return on Equity Revenue Deficiency/(Sufficiency) Gross Revenue Deficiency/(Sufficiency)	\$888,212 (\$214,777) (\$300,388) <b>(1</b>	\$888,212 \$-	\$799,000 (\$465,190) (\$588,848) <b>(1</b>	\$799,000 \$ -	\$799,000 (\$465,190) (\$588,848) <b>(1</b>	\$799,000 \$ -

### Notes:

Revenue Sufficiency/Deficiency divided by (1 - Tax Rate) (1)



Version: 2.11

File Number:

Rate Year: 2011

			R	evenue Requireme	ent		
Line No.	Particulars	Application		Settlement Agreement		Per Board Decision	
1 2 3 4 5	OM&A Expenses Amortization/Depreciation Property Taxes Capital Taxes Income Taxes (Grossed up) Other Expenses	\$3,839,038 \$896,214 \$6,000 \$24,718 \$76,399 \$ -		\$3,809,249 \$869,711 \$6,000 \$- \$47,527		\$3,809,249 \$869,711 \$6,000 \$- \$47,527	
7 8	Return Deemed Interest Expense Return on Deemed Equity Distribution Revenue Requirement	\$735,548 \$888,212		\$641,702 \$799,000		\$641,702 \$799,000	
9 10	before Revenues  Distribution revenue Other revenue	\$6,466,128 \$5,908,802 \$557,326		\$6,173,189 \$5,718,698 \$454,491		\$6,173,189 \$5,718,698 \$454,491	
11	Total revenue  Difference (Total Revenue Less	\$6,466,128		\$6,173,189		\$6,173,189	
12	Distribution Revenue Requirement before Revenues)	\$-	(1)	<u> </u>	(1)	<u> </u>	(
<u>Notes</u> (1)	Line 11 - Line 8						



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

#### Residential

Version: 2.11

							Re	esi	dentiai						
		Consumption		800	kWh										
				Current F	Board-App	rov	red		F	Proposed			Impa		act
				Rate	Volume		harge	-	Rate	Volume	C	Charge		\$	%
		Charge Unit		(\$)			(\$)		(\$)			(\$)	Ch	ange	Change
1	Monthly Service Charge	monthly	\$	10.9500	1	\$	10.95	\$		1	\$	11.00	\$	0.05	0.46%
2	Smart Meter Rate Adder	monthly	\$	1.0000	1	\$	1.00	\$		1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$		1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate	per kwh	\$	0.0216	800	\$	17.28	\$		800		16.58	-\$	0.70	-4.07%
6	Low Voltage Rate Adder	per kwh	\$	0.0008	800	\$	0.64	\$		800	\$	1.93	\$	1.29	201.75%
7 8	Volumetric Rate Adder(s) Volumetric Rate Rider(s)		\$	-	800 800	\$	-	9	-	800 800	\$ \$	-	\$ \$	-	
9	Smart Meter Disposition Rider		\$	-	800	\$		4		800	\$	-	\$	-	
10	LRAM & SSM Rate Rider		\$	-	800	\$		4	0.0024	800	\$	1.92	\$	1.92	
11	Deferral/Variance Account		\$	_	800	\$	_	P-		800		6.76	-\$	6.76	
• •	Disposition Rate Rider		Ψ		000	Ψ.		,	0.000	000	Ψ	00	*	00	
12			\$	-		\$	-	\$	; -		\$	-	\$	-	
13			\$	-		\$	-	\$			\$	-	\$	-	
14			\$	-		\$	-	\$			\$	-	\$	-	
15			\$	-		\$	-	\$	<del>}</del> -		\$	-	\$	-	
16	Sub-Total A - Distribution					\$	29.87	L			\$	25.67	-\$	4.20	-14.06%
17	RTSR - Network	per kwh	\$	0.0052	839.6	\$	4.37	\$		838.56	\$	5.46	\$	1.10	25.14%
18	RTSR - Line and	per kwh	\$	0.0039	839.6	\$	3.27	\$	0.0043	838.56	\$	3.61	\$	0.33	10.21%
40	Transformation Connection						37.51	H			•	34.74	-\$	2.77	-7.38%
19	Sub-Total B - Delivery (including Sub-Total A)					\$	37.51				\$	34.74	-\$	2.77	-7.38%
20	Wholesale Market Service	per kWh	\$	0.0052	839.6	\$	4.37	9	0.0052	838.56	\$	4.36	-\$	0.01	-0.12%
20	Charge (WMSC)	perkvvii	Ψ	0.0032	000.0	Ψ	4.57	4	0.0032	030.30	Ψ	4.50	Ψ	0.01	-0.12/0
21	Rural and Remote Rate	per kWh	\$	0.0013	839.6	\$	1.09	9	0.0013	838.56	\$	1.09	-\$	0.00	-0.12%
	Protection (RRRP)	•	·			•					•		•		
22	Special Purpose Charge		\$	-	839.6	\$	-	\$		838.56	\$	0.34	\$	0.34	
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25	\$	0.2500	1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)	per kWh	\$	0.0070	839.6	\$	5.88	\$		838.56	\$	5.87	-\$	0.01	-0.12%
25	Energy	per kWh	\$	0.0635	839.6	\$	53.31	\$		838.56		53.25	-\$	0.07	-0.12%
26 27						\$	-	9			\$ \$	-	\$ \$	-	
28	Total Bill (before Taxes)					•	102.41	4	-		\$	99.90	- <b>\$</b>	2.51	-2.45%
29	HST			13%		\$	13.31	H	13%		\$	12.99	- <b>\$</b>	0.33	-2.45% -2.45%
30	Total Bill (including Sub-total			13/0			115.72	Н	13/6		•	112.89	-\$	2.83	-2.45% - <b>2.45</b> %
30	B)					Ψ	. 13.72				Ψ	. 12.03	٦	2.03	-2.73/0
	-,		_					_							
31	Loss Factor (%)	Note 1		4.95%					4.82%						

Notes:
Note 1: Enter existing and proposed total loss factor (Secondary Metered Customer < 5,000 kW) as a percentage.

Name of LDC: Brant County Power

File Number:

Rate Year: 2011

### General Service < 50 kW

					_	Ge	nerai	Serv	vice < 50 kV	V					
		Consumption		2000	kWh										
				Current B	oard-Appr	roved			Pr	oposed				Imp	act
		Charge Unit		Rate (\$)	Volume	Ch	arge (\$)		Rate (\$)	Volume	(	Charge (\$)	Cł	\$ nange	% Change
1	Monthly Service Charge	_	\$	16.5100	1	\$	16.51	\$	17.0000	1	\$	17.00	\$	0.49	2.97%
2	Smart Meter Rate Adder		\$	1.0000	1	\$	1.00	\$	1.0000	1	\$	1.00	\$	-	0.00%
3	Service Charge Rate Adder(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
4	Service Charge Rate Rider(s)		\$	-	1	\$	-	\$	-	1	\$	-	\$	-	
5	Distribution Volumetric Rate		\$	0.0186	2000		37.20	\$	0.0177	2000		35.34	-\$	1.86	-5.01%
6	Low Voltage Rate Adder		\$	0.0007	2000	\$	1.40	\$	0.0024	2000		4.83	\$	3.43	244.86%
7	Volumetric Rate Adder(s)		\$	-	2000	\$	-	\$	-	2000		-	\$	-	
8	Volumetric Rate Rider(s)		\$	-	2000		-	\$	-	2000		-	\$	-	
9	Smart Meter Disposition Rider		\$	-	2000	\$	-	\$	-	2000		-	\$	-	
10	LRAM & SSM Rider		\$	-	2000	\$	-	\$	0.0015	2000		3.00	\$	3.00	
11	Deferral/Variance Account		\$	-	2000	\$	-	-\$	0.0088	2000	-\$	17.56	-\$	17.56	
	Disposition Rate Rider					_									
12	GA Variance (if applicable)		\$	-		\$	-	\$	0.0075		\$	-	\$	-	
13			\$	-		\$	-	\$	-		\$	-	\$	-	
14			\$	-		\$	-	\$	-		\$	-	\$	-	
15	Cub Total A Distribution		\$	-		\$	-	\$	-		\$	-	\$	-	00.000/
16	Sub-Total A - Distribution		Ļ			•	56.11	Ļ			\$	43.61	_	12.50	-22.28%
17	RTSR - Network RTSR - Line and		\$	0.0048	2099		10.08	\$	0.0060	2096.4	\$	12.61	\$	2.53	25.14%
18	Transformation Connection		\$	0.0034	2099	\$	7.14	\$	0.0038	2096.4	\$	7.87	\$	0.73	10.21%
	Sub-Total B - Delivery										_	24.00			40.040/
19	(including Sub-Total A)					\$	73.32				\$	64.08	-\$	9.24	-12.61%
20	Wholesale Market Service			0.0050	0000	Φ.	10.01	Φ.	0.0052	0000.4	Φ.	40.00	-\$	0.01	-0.12%
20	Charge (WMSC)		\$	0.0052	2099	\$	10.91	\$	0.0052	2096.4	\$	10.90	-\$	0.01	-0.12%
21	Rural and Remote Rate		\$	0.0013	2099	\$	2.73	\$	0.0013	2096.4	¢.	2.73	-\$	0.00	-0.12%
21	Protection (RRRP)		Ф	0.0013	2099	Ф	2.73	Ф	0.0013	2096.4	Ф	2.73	-Φ	0.00	-0.12%
22	Special Purpose Charge		\$	-	2099		-	\$	0.0004	2096.4		0.85	\$	0.85	
23	Standard Supply Service Charge		\$	0.2500	1	\$	0.25	\$	0.2500	1	\$	0.25	\$	-	0.00%
24	Debt Retirement Charge (DRC)		\$	0.0070	2099		14.69	\$	0.0070	2096.4		14.67	-\$	0.02	-0.12%
25	Energy		\$	0.0635	2099		33.29	\$	0.0635	2096.4		133.12	-\$	0.17	-0.12%
26			\$	-		\$	-	\$	-		\$	-	\$	-	
27			\$	-		\$	-	\$	-		\$	-	\$	-	
28	Total Bill (before Taxes)		<u> </u>			_	35.19	<u> </u>				226.60	-\$	8.59	-3.65%
29	HST			13%		_	30.58		13%		\$	29.46	-\$	1.12	-3.65%
30	Total Bill (including Sub-total					\$ 2	65.77	1			\$	256.06	-\$	9.71	-3.65%
	В)		Щ					$ldsymbol{\sqcup}$					<u> </u>		
31	Loss Factor	Note 1		4.95%					4.82%						

### Notes:

Note 1: See Note 1 from Sheet 1A. Bill Impacts - Residential

## Appendix G BCP 2011 Schedule of Cost of Capital



File Number:

Rate Year: 2011

### Capitalization/Cost of Capital

Version: 2.11

ne lo.	Particulars	Capitaliz	ation Ratio	Cost Rate	Return	
		(%)	(\$)	(%)	(\$)	
	Debt					
1	Long-term Debt	56.00%	\$12,624,330	5.68%	\$716,882	
2	Short-term Debt	4.00%	\$901,738	2.07%	\$18,666	
3	Total Debt	60.00%	\$13,526,068	5.44%	\$735,548	
	Equity					
4	Common Equity	40.00%	\$9,017,379	9.85%	\$888,212	
5	Preferred Shares	0.00%	\$ -	0.00%	\$ -	
6	Total Equity	40.00%	\$9,017,379	9.85%	\$888,212	
7	Total	100.00%	\$22,543,447	7.20%	\$1,623,759	

		Se	ttlement Agreement		
		(%)	(\$)	(%)	(\$)
	Debt				
l	Long-term Debt	56.00%	\$11,676,403	5.32%	\$621,185
2	Short-term Debt	4.00%	\$834,029	2.46%	\$20,517
3	Total Debt	60.00%	\$12,510,432	5.13%	\$641,702
	Equity				
ı	Common Equity	40.00%	\$8,340,288	9.58%	\$799,000
ļ		40.00% 0.00%	\$8,340,288 \$ -	9.58% 0.00%	
	Common Equity				\$799,000 \$ \$799,000

			Per Board Decision		
		(%)	(\$)	(%)	(\$)
	Debt				
8	Long-term Debt	56.00%	\$11,676,403	5.32%	\$621,185
9	Short-term Debt	4.00%	\$834,029	2.46%	\$20,517
10	Total Debt	60.00%	\$12,510,432	5.13%	\$641,702
	Equity				
11	Common Equity	40.00%	\$8,340,288	9.58%	\$799,000
12	Preferred Shares	0.00%	\$ -	0.00%	\$
13	Total Equity	40.00%	\$8,340,288	9.58%	\$799,000
14	Total	100.00%	\$20,850,720	6.91%	\$1.440.701

### Notes (1)

4.0% unless an Applicant has proposed or been approved for another amount.

## Appendix H BCP 2011 Summary of Rate Base



Name of LDC: Brant County Power

File Number:

Rate Year: 2011

					Rate Base		
ine No.	Particulars	<u>_</u>	Initial Application	Adjustments	Settlement Agreement	Adjustments	Per Board Decision
1	Gross Fixed Assets (average)	(3)	\$28,545,689	(\$1,654,329)	\$26,891,360	\$ -	\$26,891,360
2	Accumulated Depreciation (average)	(3)	(\$10,036,965)	(\$78,200)	(\$10,115,165)	\$ -	(\$10,115,165
3	Net Fixed Assets (average)	(3)	\$18,508,724	(\$1,732,529)	\$16,776,195	\$ -	\$16,776,195
4	Allowance for Working Capital	_(1)	\$4,034,723	\$39,802	\$4,074,525	\$ -	\$4,074,525
5	Total Rate Base	=	\$22,543,447	(\$1,692,727)	\$20,850,720	<u>\$ -</u>	\$20,850,720
	(4)		Allowanaa far M	/orking Capital - Deriva	4ion		
	(1)		Allowance for W	rorking Capital - Deriva	uon		
6	Controllable Expenses		\$3,531,485	\$277,764	\$3,809,249	\$ -	\$3,809,24
7	Coat of Dower		¢22,266,674	(\$12,420)	¢22.254.254	Ċ	\$22.2E4.2E

Version: 2.11

	(1)		Allowalice for W	Torking Capital - Derivati	1011		
7	Controllable Expenses Cost of Power Working Capital Base		\$3,531,485 \$23,366,671 \$26,898,156	\$277,764 (\$12,420) \$265,344	\$3,809,249 \$23,354,251 \$27,163,500	\$ - \$ - \$ -	\$3,809,249 \$23,354,251 \$27,163,500
9	Working Capital Rate %	(2)	15.00%	0.00%	15.00%	0.00%	15.00%
10	Working Capital Allowance	=	\$4,034,723	\$39,802	\$4,074,525	<del></del>	\$4,074,525

### **Notes**

(2) Generally 15%. Some distributors may have a unique rate due as a result of a lead-lag study.

(3) Average of opening and closing balances for the year.

### Appendix I BCP 2011 Appendix 2-N – Depreciation

### Appendix 2-B Fixed Asset Continuity Schedule 2010 - Bridge

Cost **Accumulated Depreciation** CCA Class OEB Description **Depreciation Rate** O/B Additions C/B O/B Additions C/B Net Book Value 1805 Land 97,579 \$ 97,579.00 94,643 2,936 1806 Land Rights 47 Ś Ś 13 1808 Buildings & Fixtures 814,996 \$ 8,500 823,496 178,750 32,345 211,095 612,401.00 47 1810 Leasehold Improvements 2,195,137.34 47 1815 TS Equipment 2,510,109 2.510.109 \$ 251.774 \$ 63.198 314,972 \$ 47 1820 DS Equipment 116,080 \$ 5,396 121,476 \$ 54,942 \$ 5,251 60,193 \$ 61,283.00 47 1825 Storage Battery Equipment 1830 Poles, Towers & Fixtures 1.567.077 \$ 1,790,934 \$ 3.373.393.00 47 4.792.986 \$ 371.341 5.164.327 \$ 223.857 47 1835 OH Conductors & Devices 3,573,656 \$ 369,218 3,942,874 \$ 1,239,655 \$ 181,757 1,421,412 \$ 2,521,462.00 47 1840 UG - Conduit 546.596 S 34.322 580.918 \$ 181.780 \$ 25.476 207,256 \$ 373,662.00 47 1845 UG - Conductors & Devices 2,108,669 \$ 110,855 2,219,524 \$ 879,090 \$ 105,523 984,613 \$ 1.234.910.83 47 1850 Line Transformers 4,465,199 131,579 4,596,778 \$ 1,515,781 \$ 217,623 1,733,404 \$ 2,863,374.24 47 1855 Services 47,984 1,003,919 \$ 2.444.892 \$ 2.492.876 \$ 117.337 1.121.256 \$ 1.371.619.78 47 1860 Meters 1,390,364 \$ 8,488 1,398,852 \$ 482,578 \$ 66,266 548,844 \$ 850,007.92 47 1861 Smart Meters 47 1861 Smart Metes / Communication Equipment 47 1865 Other Installations on Customer Premises 47 1870 Leased Property on Customer Premises Ś 47 1875 Street Lighting & Signal Systems 1905 Land 79,045 79,045 \$ 79,045.00 1906 Land Rights 47 1908 Buildings & Fixtures 367.786 \$ 40.606 408.392 \$ 67,723 \$ 12.459 80,182 \$ 328.210.13 1910 Leasehold Improvements 1915 Office Furniture & Equipment 119,268 \$ 46,092 165,360 \$ 77,810 \$ 88,236 \$ 77,123.72 8 10.426 8 1920 Compter Hardware 582.318 \$ 31.352 613,670 \$ 505,408 \$ 33.271 538,679 \$ 74.990.60 1921 Computer Hardware- Post Mar 22, 2004 10 - \$ 1921 Computer Hardware- Post Mar 19, 2007 45 Ś 45.1 1925 Computer Software 316,834 \$ 13,670 330,504 \$ 286,482 \$ 14,842 301,324 \$ 29,180.25 10 1930 Transportation Equipment 1,052,006 \$ 358,112 1,410,118 \$ 359,122 \$ 180,426 539,548 \$ 870,569.94 recovered via overhead charges 2,580.00 recovered via overhead charges 1935 Stores Equipment 1.149 \$ 2.580 3.729 \$ 1.149 1.149 \$ 8 8 1940 Tools, Shop & Garage Equipment 155,010 \$ 12,695 167,705 \$ 88,922 \$ 12,531 101,453 \$ 66,252.13 recovered via overhead charges 1945 Measurement & Testing Equipment 51,096 \$ 17,849 68,945 \$ 36,214 \$ 4,530 40,744 \$ 28,201.28 recovered via overhead charges 8 1950 Power Operated Equipment 2 708 2.708 \$ 1 703 \$ 200 1 903 \$ 805.20 recovered via overhead charges 8 1955 Communication Equipment 40,580 40,580 \$ 35,158 \$ 1,562 36,720 \$ 3,859.86 recovered via overhead charges 1960 Misc. Equipment 22,123 \$ 7,517 29,640 \$ 12,940 \$ 1.172 14,112 \$ 15,527.94 recovered via overhead charges 8 47 1970 Load Management Controls - Customer Premises Ś Ś 47 1975 Load Management Controls - Utility Premises 47 1980 System Supervisory Equipment \$ \$ 47 1985 Sentinel Light Rental Units Ś Ś 47 1990 Other Tangible Property 47 1995 Contributions & Grants - Credit 1,735,570 -\$ 29,709 1,765,279 -\$ 482,560 -\$ 72,545 555,105 -\$ 1,210,174.16

25.503.925 \$

8.345.416 \$

1.237.507 \$

9.582.923 \$ 15.921.002.00

Reconciliation of Continuity Schedule (based on Audited F/S) to 2010 Budget

**Grand Total** 

			Annual				
		1	Depreciation				
<u>Description</u>	USOA		Expense	<b>Budget Expense</b>	. <u>E</u>	/S Expense	<u>Variance</u>
Transportation Equipment	1930	\$	180,426				
Stores Equipment	1935	\$	-				
Tools, Shop & Garage Equipment	1940	\$	12,531				
Measurement & Testing Equipment	1945	\$	4,530				
Power Operated Equipment	1950	\$	200				
Communication Equipment	1955	\$	1,562				
Misc. Equipment	1960	\$	1,172				
Total		\$	200,421	\$ 1,037,086	\$	1,237,507	\$ 200,421

\$ 23.912.542 \$ 1.591.383 \$

### Appendix 2-B Fixed Asset Continuity Schedule 2011 - Test

Cost Accumulated Depreciation

CCA Class	OEB Description	Depreciation Rate	О/В	Additions	Disposals	C/B	O/B	Additions	Disposals	C/B	Net Book Value	
N/A	1805 Land	\$	97,579		\$		-,-		Ś	-,-	\$ 97,579	
47	1806 Land Rights	s s			\$		-		Ś	_	\$ -	
13	1808 Buildings & Fixtures	Ś	823,496		\$	823,496 \$	211,095	16,298	Ś	227,393	\$ 596,103	
47	1810 Leasehold Improvements	s.	-		Ś	- \$	- '	-,	Ś	-	\$ -	
47	1815 TS Equipment	s.	2,510,109	\$ -	Ś	2,510,109 \$	314,972	62,753	Ś	377,725	\$ 2,132,384	
47	1820 DS Equipment	s s	121,476		\$	121,476 \$			Ś	77,416		
47	1825 Storage Battery Equipment	Ś	,		Ś	- \$		,	Š		\$ -	
47	1830 Poles, Towers & Fixtures	Ś	5,164,327	\$ 1,257,839	\$	6,422,166 \$	1,790,934	204,253	Ś	1,995,187		
47	1835 OH Conductors & Devices	s.	3,942,874		Ś	4,322,804 \$	1,421,412		Ś	1,558,896		
47	1840 UG - Conduit	s s	580,918		\$				Ś	231,629		
47	1845 UG - Conductors & Devices	Ś	2,219,524		\$	2,522,479 \$	984,613		Ś	1,079,638		
47	1850 Line Transformers	s.	4,596,778		Ś	4,794,377 \$	1,733,404		Ś	1,890,813		
47	1855 Services	s.	2,492,876		Ś	2,580,185 \$	1,121,256		Ś	1,211,008		
47	1860 Meters	\$	1,398,852		\$	1,478,815 \$			s s	604,537		
47	1861 Smart Meters	s.	-	,	Ś	- \$		,	Ś	-	\$ -	
47	1861 Smart Metes / Communication Equipment	\$	-		\$	- \$	-		\$	-	\$ -	
47	1865 Other Installations on Customer Premises	\$	-		\$	- \$	-		\$	-	\$ -	
47	1870 Leased Property on Customer Premises	Ś	-		\$	- \$	_		Ś	-	\$ -	
47	1875 Street Lighting & Signal Systems	\$	-		\$	- \$	-		\$	-	\$ -	
N/A	1905 Land	\$	79,045	\$ -	\$	79,045 \$	-		\$	-	\$ 79,045	
CEC	1906 Land Rights	\$	· -		\$	- \$	-		\$	-	\$ -	
47	1908 Buildings & Fixtures	\$	408,392	\$ 26,295	\$	434,687 \$	80,182	8,603	\$	88,785	\$ 345,902	
13	1910 Leasehold Improvements	\$	· -		\$	- \$			\$	-	\$ -	
8	1915 Office Furniture & Equipment	\$	165,360	\$ 500	\$	165,860 \$	88,237	17,987	\$	106,224	\$ 59,636	
8	1920 Compter Hardware	\$	613,670	\$ 165,000	\$	778,670 \$	538,679	35,746	\$	574,425	\$ 204,245	
10	1921 Computer Hardware- Post Mar 22, 2004	\$	-		\$	- \$	-		\$	-	\$ -	
45	1921 Computer Hardware- Post Mar 19, 2007	\$	-		\$	- \$	-		\$	-	\$ -	
45.1	1925 Computer Software	\$	330,504	\$ 115,000	\$	445,504 \$	301,324	20,452	\$	321,776	\$ 123,728	
10	1930 Transportation Equipment	\$	1,410,118	\$ 96,420	\$	1,506,538 \$	539,548	159,709	\$	699,257	\$ 807,281	recovered via overhead charges
8	1935 Stores Equipment	\$	3,729		\$	3,729 \$	1,149 \$	404	\$	1,553	\$ 2,176	recovered via overhead charges
8	1940 Tools, Shop & Garage Equipment	\$	167,705	\$ 10,000	\$	177,705 \$	101,453	19,271	\$	120,724	\$ 56,981	recovered via overhead charges
8	1945 Measurement & Testing Equipment	\$	68,945		\$	68,945 \$	40,744	7,477	\$	48,221	\$ 20,724	recovered via overhead charges
8	1950 Power Operated Equipment	\$	2,708		\$	2,708 \$	1,903	294	\$	2,197	\$ 511	recovered via overhead charges
8	1955 Communication Equipment	\$	40,580		\$	40,580 \$	36,720	4,401	\$	41,121	-\$ 541	recovered via overhead charges
8	1960 Misc. Equipment	\$	29,640		\$	29,640 \$	14,112	3,214	\$	17,326	\$ 12,314	recovered via overhead charges
47	1970 Load Management Controls - Customer Premises	\$	-		\$	- \$	-		\$	-	\$ -	
47	1975 Load Management Controls - Utility Premises	\$	-		\$	- \$	-		\$	-	\$ -	
47	1980 System Supervisory Equipment	\$	-		\$	- \$	-		\$	-	\$ -	
47	1985 Sentinel Light Rental Units	\$	-		\$	- \$	-		\$	-	\$ -	
47	1990 Other Tangible Property	\$	-		\$	- \$	-		\$	-	\$ -	
47	1995 Contributions & Grants - Credit	-\$	1,765,279 -	\$ 10,000	-\$	1,775,279 -\$	555,105 -\$	73,339	-\$	628,444	-\$ 1,146,835	
(	Grand Total	\$	25.503.926	\$ 2.774.869	\$ - \$	28.278.795 \$	9.582.925	1.064.482	\$ - \$	10.647.407	\$ 17.631.388	

Reconciliation of Continuity Schedule (based on Audited F/S) to 2011 Budget

		Annual			
		Depreciation			
<u>Description</u>	USOA	Expense	<b>Budget Expense</b>	F/S Expense	Variance
Transportation Equipment	1930	\$159,709			
Stores Equipment	1935	\$404			
Tools, Shop & Garage Equipment	1940	\$19,271			
Measurement & Testing Equipment	1945	\$7,477			
Power Operated Equipment	1950	\$294			
Communication Equipment	1955	\$4,401			
Misc. Equipment	1960	\$3,214			
Total		\$194,770	\$869,711	\$1,064,482	\$194,771

## Appendix J BCP 2011 PILs and CCA Mappings

### **Brant County Power PILS Determination**

	2010 Bridge	2011 Test
<u>Determination of Taxable Income</u>		
Regulatory Net Income (before tax)	\$1,040,540	\$799,000 After tax return on equity
Book to Tax Adjustments		
Additions to Accounting Income:		
Depreciation and amortization	\$1,037,086	\$869,711
Other Additions	¢4 007 000	\$869,711
Total Additions	\$1,037,086	\$869,711
Deductions from Accounting Income:		
Capital Cost Allowance	\$1,294,410	\$1,393,572
Cumulative eligible capital deductions	\$103,597	\$96,345
Other Deductions	-	
Total Deductions	\$1,398,007	\$1,489,917
Regulatory Taxable Income	\$679,619	\$178,793
Corporate Income Tax Rate	32.00%	21.00%
Regulatory Income Tax	\$217,478	\$37,547
regulatory meeting rain		Ψοτ,τοτ.
Calculation of Utility Income Taxes		
Income Taxes (prior to gross-up)	\$217,478	\$37,547
Total Taxes	\$239,854	\$37,547
Gross UP factor (1-tax rate)	0.00%	79.00%
Taxes after Gross-up		
Income Taxes	\$217,478	\$47,527
Total taxes with Gross up	\$217,478	\$47,527

2	n	1	Λ
_	u	- 1	

T2S(8)	Opening	Additions	Rate	CCA	Ending
Class 1	9,005,855		4%	360,234	8,645,621
Class 1	127,488	49,106	6%	9,122	167,472
Class 8	137,221	92,129	20%	36,657	192,693
Class 10	535,115	358,112	30%	214,251	678,976
Class 12	-		100%	-	-
Class 17	23,699		8%	1,896	21,803
Class 45	8,543		45%	3,844	4,699
Class 47	6,490,746	1,044,078	8%	561,023	6,973,801
Class 50	22,159	45,022	55%	24,569	42,613
	\$ 16,350,827	\$1,588,447		\$ 1,211,597	\$16,727,677

As per addition schedule \$

1591383

difference

2,936 relates to land, which does not have CCA treatment

2011					
T2S(8)	Opening	Additions	Rate	CCA	Ending
Class 1	8,645,621		4%	345,825	8,299,796
Class 1	167,472	26,295	6%	10,837	182,929
Class 8	192,693	10,500	20%	39,589	163,604
Class 10	678,976	96,420	30%	218,156	557,240
Class 12	-	100,000	100%	50,000	50,000
Class 17	21,803		8%	1,744	20,059
Class 45	4,699		45%	2,114	2,584
Class 47	6,973,801	2,361,654	8%	652,370	8,683,085
Class 50	42,613	180,000	55%	72,937	149,676
	\$ 16,727,677	\$ 2,774,869		\$1,393,572	\$ 18,108,974

## Appendix K BCP 2011 OM&A Expenses

### OM&A Cost Summary

	Original Application	Settlement Agreement	Difference
Operations	863,472	863,472	-
Maintenance	649,837	649,837	-
Administration	2,331,729	2,301,940	- 29,789
Total	3,845,038	3,815,249	- 29,789

### **USoA Account Specifics**

5615-General Administrative Salaries and Expenses 16,289 Reduction of Labour costs relating to 20% of BRE Staff Member	<u>USoA</u>	<u>Value</u>	<u>Description</u>
2500 Reduction of Incurrence acade valeting to DDE	5615-General Administrative Salaries and Expenses	16,289	Reduction of Labour costs relating to 20% of BRE Staff Member
5640-injuries and Damages 3500 Reduction of Insurance costs relating to BRE	5640-Injuries and Damages	350	Reduction of Insurance costs relating to BRE
5665-Miscellaneous General Expenses 10000 Reduction of Advertising Expense (50% of \$20,000 determined to be not recoverable)	5665-Miscellaneous General Expenses	1000	Reduction of Advertising Expense (50% of \$20,000 determined to be not recoverable)
Total 29,789	Total	29,789	

# Appendix L Cost of Power, Low Voltage and Retail Transmission Service Rates

### Appendix L

### Working Capital – Cost of Power Summary Documents

Consumption, Load and Customer Forecast

Customer Forecast		
	2010	2011
RESIDENTIAL	8215	8335
GENERAL SERVICE		
Less than 50 kW	1337	1338
Greater than 50 to 4,999 kW	115	112
Unmetered Scattered Load	52	51
Sentinel Lighting	221	218
Street Lighting	2640	2630
TOTALS	12,580	12,684
Load Forecast		
Average Consumption kWh	2010	2011
RESIDENTIAL	81,785,804	82,794,132
GENERAL SERVICE	01,100,001	02,101,102
Less than 50 kW	38,316,614	40,399,125
Greater than 50 to 4,999 kW	162,871,512	156,810,608
Unmetered Scattered Load	487,673	509,821
Sentinel Lighting	180,279	222,341
Street Lighting	2,788,358	1,763,973
TOTALS	286,430,240	282,500,000
Average Consumption kW		
	2010	2011
Greater than 50 to 4,999 kW	340,235	388,493
Sentinel Lighting	478	574
Street Lighting	4,810	4,783
TOTALS	345,523	393,850

### COP Rates Used and Calculated COP Working Capital

Rates 2011						
	Network Service	Conncection Service	Wholesale Market	Rural Rate Protection	Commodity	L/V
RESIDENTIAL					•	
Regular	\$0.0065	\$0.0043	\$0.0052	\$0.0013	\$0.0635	\$0.0024
GENERAL SERVICE						
Less than 50 kW	\$0.0060	\$0.0038	\$0.0052	\$0.0013	\$0.0635	\$0.0024
Greater than 50 to 4,999 kW	\$2.4041	\$1.5570	\$0.0052	\$0.0013	\$0.0635	\$1.1222
Unmetered Scattered Load	\$0.0060	\$0.0038	\$0.0052	\$0.0013	\$0.0635	\$0.0024
Sentinel Lighting	\$1.8222	\$1.2289	\$0.0052	\$0.0013	\$0.0635	\$0.7192
Street Lighting	\$1.8132	\$1.2036	\$0.0052	\$0.0013	\$0.0635	\$0.8406
Revenues 2011						
	Network Service	Conncection Service	Wholesale Market	Rural Rate Protection	Commodity	L/V
RESIDENTIAL						
Regular	\$539,418.27	\$356,300.27	\$430,529.49	\$107,632.37	\$5,257,427.39	\$199,867.28
GENERAL SERVICE						
Less than 50 kW	\$242,960.65	\$151,566.37	\$210,075.45	\$52,518.86	\$2,565,344.41	\$97,524.58
Greater than 50 to 4,999 kW	\$933,975.87	\$604,870.20	\$815,415.16	\$203,853.79	\$9,957,473.64	\$435,964.30
Embedded Distributor	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
Unmetered Scattered Load	\$3,066.06	\$1,912.71	\$2,651.07	\$662.77	\$32,373.61	\$1,230.72
Sentinel Lighting	\$1,045.97	\$705.39	\$1,156.18	\$289.04	\$14,118.68	\$412.80
Street Lighting	\$8,672.65	\$5,757.02	\$1,156.18	\$289.04	\$112,012.27	\$4,020.73
	\$1,729,139.47	\$1,121,111.96	\$1,460,983.52	\$365,245.88	\$17,938,750.00	\$739,020.41

### **COP** Derviation

		Average 2010 %		
RPP Rate for 2011	0.06504	39.4%	0.0256	
Non-RPP Rate for 2011	0.0625	60.6%	0.0379	
Utilized Blended Rate			0.0635	
	RPP Sales	A	ΩEW	RPP %
2010 June	9,008,004		23,496,388	38.3%
May	8,245,637		22,592,407	36.5%
Apr	6,915,714		20,729,870	33.4%
Mar	8,768,878		23,603,010	37.2%
Feb	13,674,385		23,530,384	58.1%
Jan	10,500,455		26,612,098	39.5%
2009 Dec	8,067,470		22,792,716	35.4%
Nov	8,775,853		22,835,440	38.4%
Oct	8,370,424		22,776,634	36.8%
Sept	8,198,694		25,483,724	32.2%
Aug	10,273,858		22,710,666	45.2%
July	8,720,665		22,075,594	39.5%
June	8,631,525		20,713,714	41.7%
Annual	118,151,561		299,952,646	39.4%

### **Retail Transmission Rates**

	Billing Dete	rminent		Network S	ervice Costs		
Customer Class	kWh	kW	Original Rate	Original \$	Updated Rate	Updated \$	Difference
Residential	82,794,132		0.0052	430,529.49	0.0065	539,418.27	108,888.78
GS < 50 kW	40,399,125		0.0048	193,915.80	0.0060	242,960.65	49,044.85
GS 50 to 4,999 kW	156,810,608	388493	1.9188	745,440.37	2.4041	933,975.87	188,535.50
GS 50 to 4,999 - Interval Metered < 1,000 kW			2.0355		2.5503		
GS 50 to 4,999 - Interval Metered > 1,000 kW			2.0378		2.5532		
Unmetered Loads	509,821		0.0048	2,447.14	0.0060	3,066.06	618.93
Street Lights	1,763,973	4783	1.4472	6,921.96	1.8132	8,672.65	1,750.69
Sentinel Lights	222,341	574	1.4544	834.83	1.8222	1,045.97	211.14
Total				1,380,089.58		1,729,139.47	349,049.89
Retail Transmission Adjustment Factor							
2011 Rate	3.22						
2010 Rate	2.57						
Factor	1.253						
	Billing Dete	rminent		Line & Transfor	mer Connection	1	
Customer Class	kWh	kW	Original Rate	Original \$	Updated Rate	Updated \$	Difference
Residential	82,794,132		0.0039	322,897.12	0.0043	356,300.27	33,403.15
GS < 50 kW	40,399,125		0.0034	137,357.02	0.0038	151,566.37	14,209.35
GS 50 to 4,999 kW	156,810,608	388493	1.4110	548,163.62	1.5570	604,870.20	56,706.58
GS 50 to 4,999 - Interval Metered < 1,000 kW			1.5594		1.7207		
GS 50 to 4,999 - Interval Metered > 1,000 kW			1.5468		1.7068		
Unmetered Loads	509,821		0.0034	1,733.39	0.0038	1,912.71	179.32
Street Lights	1,763,973	4783	1.0908	5,217.30	1.2036	5,757.02	539.72
Sentinel Lights	222,341	574	1.1137	639.26	1.2289	705.39	66.13
Total				1,016,007.71		1,121,111.96	105,104.25
Retail Transmission Adjustment Factor							
2011 Rate	2.56						
2010 Rate	2.32						
Factor	1.103						

### Low Voltage Rate

		2011 Billing	2011 Draft Revenue	2011 LV	2011 Proposed	2011 LV Proposed	2011 Adjusted	2011 Adjusted LV
<b>Customer Class</b>	2009 LV Rates	Determinents	(current rates)	Expense	LV Rates	Revenue	LV Rates	Revenue
Residential	0.0007	82,794,132	57,955.89		0.0022	182,147.09	0.0024	199867.2829
GS < 50	0.0007	40,399,125	28,279.39		0.0022	88,878.07	0.0024	97524.58369
GS > 50	0.3196	388,493	124,162.36		1.0227	397,311.79	1.1222	435964.2957
Street Light	0.2394	4,783	1,145.05		0.7661	3,664.26	0.8406	4020.733723
Sentinel Light	0.2048	574	117.56		0.6554	376.20	0.7192	412.7982036
Unmetered	0.0007	509,821	356.87		0.0022	1,121.61	0.0024	1230.720699
Total			212,017.12	678,455.00		673,499.02		739,020.41
New Hydro One	LV Rates - Adju	ustment Factor						
Previous Retail	Rate (to end of	2010)	0.442					
New Retail Rate	(Starting Jan 1	, 2011)	0.485					
Difference			0.043					
% Increase			9.73%					

## Appendix M Deferral and Variance Accounts

#### SHEET 1 - Regulatory Assets - Continuity Schedule

NAME OF UT	ILITY	Brant County Power	LICENCE NUMBER	ED-2002-0522
NAME OF CO	NTACT	Ed Glasbergen	DOCID NUMBER	EB-200X-XXXX
E-mail Addre	ss	eglasbergen@brantcountypower.com		
VERSION NU	IMBER	v8.0	PHONE NUMBER	519-442-2215
Date		Oct. 25, 2010	(extension)	

Enter appropriate data in cells which are highlighted in yellow only.

Enter the total applied for Regulatory Asset amounts for each account in the appropriate cells below:

Debits should be recorded as positive numbers and credits should be recorded as negative numbers.

Repeat cells going across as necessary for each year in application
If account balances have been disposed in a previous application, for applicable accounts, fill out the Continuity Schedule from the date of last disposition.

	Account Number	Pı Amo	pening rincipal unts as of n-1-05 <sup>1</sup>	(add 200 ir	ransactions litions) during 05, excluding nterest and ljustments <sup>6</sup>	Transactions (reductions) during 2005, excluding interest and adjustments <sup>6</sup>	dur	justments ing 2005 - tructed by pard <sup>2, 2A</sup>		ljustments ring 2005 - other <sup>3</sup>	В	sing Principal alance as of Dec-31-05	Opening Ir Amounts Jan-1-	as of		st Jan-1 to c31-05	Closing In Amounts Dec-31	s as of
Account Description						•												
Group 1 Accounts																		
Low Voltage Account	1550	S		\$			S		\$	-	\$		\$		\$		\$	
RSVA - Wholesale Market Service Charge	1580 1584	\$	410,484 (155,488)	\$	224,905		\$		\$		\$			79,923		34,986		114,909
RSVA - Retail Transmission Network Charge	1584 1586	S			(194,210)		\$	- 1	\$	- 1	\$	(349,698)		4,286 572		21,900		(15,714)
RSVA - Retail Transmission Connection Charge RSVA - Power (excluding Global Adjustment)	1588	S	(142,371)		118,711 149,639		9		\$	_	\$	(23,660) (219,093)		13.821		(42,029)		22,472 (28,208)
RSVA - Power - Sub-Account - Global Adjustment	1588	S	(300,733)		(73,306)		S		S	- :	\$	(73,306)		-		(4,116)		(4,116)
Recovery of Regulatory Asset Balances	1590	S	(655.853)		(818,387)		S		S	- 1	\$	(1,474,239)		14.232)		(77,126)		(91,358)
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595	S	(000,000)	_	(010,307)		S		S		\$		S	-	_	- (77,120)		(31,330)
	1393										-							
Group 1 Sub-Total (including Account 1588 - Global Adjustment)		\$	(911,960)		(592,646)		\$	-	\$	-	\$	(1,504,606)			\$	(86,384)		(2,014)
Group 1 Sub-Total (excluding Account 1588 - Global Adjustment)		\$	(911,960)		(519,340)		\$	-	\$	-	\$	(1,431,300)			\$	(82,269)		2,101
RSVA - Power - Sub-Account - Global Adjustment	1588	\$	-	\$	(73,306)		\$		\$	-	\$	(73,306)	\$	-	\$	(4,116)	\$	(4,116)
Group 2 Accounts																		
Other Regulatory Assets - Sub-Account - OEB Cost Assessments	1508	S	7,445	S	15.192		S	-	S	-	\$	22.637	S	180	S	999	s	1.179
Other Regulatory Assets - Sub-Account - Pension Contributions	1508	S	-	S		s -	Š	-	Š	-	\$		Š		Š	1,580		1.580
Other Regulatory Assets - Sub-Account Deferred IFRS Transition Costs	1508	S	-	S	-	\$ -	S	-	s	-	\$	-	S	-	S		s	
Other Regulatory Assets - Sub-Account - Other 7	1508										s						\$	
Other Regulatory Assets - Sub-Account - Other 7	1508										\$	-					\$	
Retail Cost Variance Account - Retail	1518	S	11.757			\$ (7.973)	s	-	s		\$	3.784	S	817	s		Š	1.407
Retail Cost Variance Account - STR	1548	S	-	S	7,390	\$ -	Š	-	Š	-	\$	7.390	Š	-	Š	(40)		(40)
Misc. Deferred Debits	1525	S	16.759	S	7,211	\$ -			s	11,348	\$	35,318	S	2.392	S	2.723	s	5.115
LV Variance Account	1550	S	-	\$	-	\$ -	S	-	\$	-	\$	-	\$	-	\$	-	\$	
Renewable Connection Capital Deferral Account	1531																	
Renewable Connection OM&A Deferral Account	1532																	
Smart Grid Capital Deferral Account	1534																	
Smart Grid OM&A Deferral Account	1535																	
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Capital	1555	\$		\$	-	\$ -	\$		\$		\$	-	\$	-	\$		\$	
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Recoveries	1555										\$	-					\$	
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Stranded Meter Costs	1555										\$	-					\$	-
Smart Meter OM&A Variance	1556	\$	-	\$			\$		\$	-	\$		\$	-	\$		\$	
Conservation and Demand Management Expenditures and Recoveries CDM Contra	1565 1566	\$	- 1		78.962	\$ (78,962)	\$	-	\$	-	\$ \$	(78,962) 78.962	\$	-	\$		\$ \$	
Qualifying Transition Costs <sup>5</sup>		3		Þ								78,902					•	
	1570				n/a	n/a					\$						\$	
Pre-Market Opening Energy Variances Total 5	1571 1572				n/a	n/a					\$	-					\$	
Extra-Ordinary Event Costs Deferred Rate Impact Amounts	1572										\$	-					\$ \$	
RSVA - One-time Wholesale Market Service	1574	c	62,213	e							\$	62,213	e	4.510	s		\$ \$	9,021
Other Deferred Credits	2425	2	02,213	ą.							\$	02,213	•	4,510			\$	9,021
	2-120																•	
Group 2 Sub-Total		\$	98,174	\$	199,196	\$ (86,935)	\$		\$	11,348	\$	221,784	\$	7,900	\$	10,361	\$	18,261
Deferred Payments in Lieu of Taxes	1562	\$	86,546	\$	225,900						\$	312,445	\$	36,121	\$	12,065	\$	48,186
2006 PILs & Taxes Variance	1592										\$	-					\$	
Sub-total																		
Total		\$	(813,785)	\$	(393,449)	\$ (86,935)	\$	-	\$	11,348	\$	(1,282,822)	\$	92,270	\$	(76,023)	\$	16,246
The following is not included in the total claim but are included on a memo basis:																		
Deferred PILs Contra Account 8	1563										\$						s	
											φ						Ψ	•
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595																	

As per general ledger, if does not agree to Dec-31-04 balance filed in 2006 EDR then provide supplementary analysis

<sup>&</sup>lt;sup>2</sup> Provide supporting statement indicating whether due to denial of costs in 2006 EDR by the Board, 10% transition costs write-off, and etc.

Adjustments Instructed by the Board include deferral/variance account balances moved to Account 1595 per disposition of account balances as ordered by the Board.

<sup>&</sup>lt;sup>3</sup> Provide supporting statement indicating nature of this adjustments and periods they relate to <sup>4</sup> Not included in sub-total

<sup>&</sup>lt;sup>5</sup> Closed April 30, 2002

<sup>&</sup>lt;sup>6</sup> For RSVA accounts only, report the net additions to the account during the year. For all other accounts, record the additions and reductions separately.

Please describe "other" components of 1508 and add more component lines if necessary.

<sup>8 1563</sup> is a contra-account and is not included in the total but is shown on a memo basis. Account 1562 establishes the obligation to the ratepayer.

Interest projected on December 31, 2009 closing principal balance.

<sup>10</sup> Include Account 1595 as part of Group 1 accounts (line 26) for review and disposition if the recovery (or refund) period has been completed, and the audited financial statements support the underlying residual balance in account 1595. If the recovery (or refund) period has not been completed, include the balances in Account 1595 on a memo basis only (lii

SHEET 1 - Regulatory Assets - Continuity Schedule

Brain County Power
Ed Glasbergen
satisfacturer in transcriptional com
86.0
Oct. 25, 2010

									2006					
Account Description	Account Number		ipal s as of	Transactions (additions) during 2006, excluding interest and adjustments <sup>6</sup>	Transactions (reductions) during 2006, excluding interest and adjustments <sup>6</sup>	Adjustments during 2006 instructed by Board <sup>2, 2A</sup>		Adjustments during 2006 - other <sup>3</sup>	Transfer of Board approved amounts to 1590 as per 2006 EDR	Closing Principal Balance as of Dec-31-06	Opening Interest Amounts as of Jan-1-06	Interest Jan-1 to Dec31-06	Transfer of Board- approved amounts to 1590 as per 2006 EDR	Closing Interest Amounts as of Dec-31-06
Group 1 Accounts														
Low Voltage Account	1550	\$	-	\$ (61,022)		\$ -	\$		\$ -	\$ (61,022)	\$ -	\$ (650)	\$ -	\$ (650)
RSVA - Wholesale Market Service Charge	1580		635,390	\$ (275,730)		\$ -	\$		\$ (410,484)	\$ (50,824)		\$ 136,521	\$ (118,235)	
RSVA - Retail Transmission Network Charge	1584		349,698)			\$ -				\$ (693,211)				
RSVA - Retail Transmission Connection Charge	1586		(23,660)			\$ -				\$ (605,087)				
RSVA - Power (excluding Global Adjustment)	1588		219,093)			\$ -				\$ (310,762)				
RSVA - Power - Sub-Account - Global Adjustment	1588		(73,306)			\$ -				\$ 377,447				
Recovery of Regulatory Asset Balances	1590		474,239)			\$ -			\$ 1,492,415	\$ (0)				
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595	\$	-	\$ -		\$ -	\$	-	\$ -	\$ -	\$ -	\$ -	\$ -	\$ -
Group 1 Sub-Total (including Account 1588 - Global Adjustment)		\$ (1,	504,606)	\$ (1,376,027)		\$ -	\$	114,112	\$ 1,423,061	\$ (1,343,459)	\$ (2,014)	\$ (150,519)	\$ 423,560	\$ 271,026
Group 1 Sub-Total (excluding Account 1588 - Global Adjustment)		\$ (1,	431,300)	\$ (1,826,779)		\$ -	\$	114,112	\$ 1,423,061	\$ (1,720,906)	\$ 2,101	\$ (158,612)	\$ 423,560	\$ 267,050
RSVA - Power - Sub-Account - Global Adjustment	1588	\$	(73,306)	\$ 450,752		\$ -	\$	-	\$ -	\$ 377,447	\$ (4,116)	\$ 8,092	\$ -	\$ 3,977
Group 2 Accounts	4500				•	•								
Other Regulatory Assets - Sub-Account - OEB Cost Assessments	1508 1508	\$ \$	22,637 90,442	\$ 5,064 \$ 33,916		\$ - \$ -	Ψ		\$ - \$ -	\$ 27,701 \$ 124,358	\$ 1,179 \$ 1.580	\$ 1,466 \$ 5.043		\$ 2,644 \$ 6.622
Other Regulatory Assets - Sub-Account - Pension Contributions Other Regulatory Assets - Sub-Account Deferred IFRS Transition Costs	1508	S	90,442	\$ 33,910		\$ .	\$		s -		\$ 1,560	\$ 5,043	s -	\$ 0,022
Other Regulatory Assets - Sub-Account Deferred IPRS Transition Costs  Other Regulatory Assets - Sub-Account - Other 7		s		<b>a</b> -	<b>a</b> -	\$ -	Þ		\$ -			3 -	•	•
	1508	*	-							*	*			\$ -
Other Regulatory Assets - Sub-Account - Other 7	1508	\$				•	_		0 (44 mem	·	\$ -			\$ -
Retail Cost Variance Account - Retail	1518 1548	\$	3,784 7,390		\$ (13,431)		\$		\$ (11,757)	\$ (21,405)		\$ (368) \$ 383		
Retail Cost Variance Account - STR Misc. Deferred Debits		\$ \$	7,390 35.318	\$ 5,672	\$ -	\$ -	\$		\$ - \$ (28.107)	\$ 13,062		\$ 383 \$ 1,166		
Misc. Deferred Debits LV Variance Account	1525 1550	\$		\$ (61,022)	\$ -	s -	\$			\$ 7,211 \$ (61,022)		\$ 1,166 \$ (650)		\$ 1,378 \$ (650)
Renewable Connection Capital Deferral Account	1531	٥	-	\$ (61,022)	<b>3</b> -	\$ -	Þ		\$ -	\$ (61,022)	<b>5</b> -	\$ (000)	\$ -	\$ (650)
Renewable Connection OM&A Deferral Account	1532													
Smart Grid Capital Deferral Account	1534													
Smart Grid OM&A Deferral Account	1535													
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Capital	1555	S	-		\$ (17.453)	S -	s		s -	\$ (17,453)	s -	\$ (218)	s -	\$ (218)
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Recoveries	1555	\$	-								\$ -			\$ -
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Stranded Meter Costs	1555	\$	-							s -	\$ -			\$ -
Smart Meter OM&A Variance	1556	\$	-	\$ 14,302	\$ -	\$ -	\$		\$ -	\$ 14,302	\$ -	\$ -	\$ -	\$ -
Conservation and Demand Management Expenditures and Recoveries	1565	\$	(78,962)		\$ (32,293)	\$ -	\$		\$ -	\$ (111,255)	\$ -			\$ -
CDM Contra	1566	\$	78,962	\$ 32,293						\$ 111,255	\$ -			\$ -
Qualifying Transition Costs 5	1570	\$	-	n/a	n/a					s -	\$ -			\$ -
Pre-Market Opening Energy Variances Total 5	1571	\$	-	n/a	n/a					\$ -	\$ -			\$ -
Extra-Ordinary Event Costs	1572	\$	-							\$ -	\$ -			\$ -
Deferred Rate Impact Amounts	1574	\$	-							\$ -	\$ -			\$ -
RSVA - One-time Wholesale Market Service	1582	\$	62,213	\$ -					\$ (62,213)	·	\$ 9,021	\$ 1,296	\$ (10,316)	\$ 0
Other Deferred Credits	2425	\$	-							\$ -	\$ -			\$ -
Group 2 Sub-Total		\$	221,784	\$ 30,225	\$ (63,178)	\$ -	\$	-	\$ (102,077)	\$ 86,754	\$ 18,261	\$ 8,118	\$ (17,134)	\$ 9,244
Deferred Payments in Lieu of Taxes	1562	\$	312,445	\$ 867,506						\$ 1,179,951	\$ 48,186	\$ 33,381		\$ 81,567
2006 PILs & Taxes Variance	1592	\$	-								\$ -			\$ -
Sub-total														
Total		\$ (1,	282,822)	\$ (1,345,802)	\$ (63,178)	\$ -	\$	114,112	\$ 1,320,984	\$ (1,256,705)	\$ 16,246	\$ (142,401)	\$ 406,426	\$ 280,271
The following is not included in the total claim but are included on a memo basis:														
Deferred PILs Contra Account 8	1563	\$	-							s -	\$ -			\$ -
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595													
	.000													

SHEET 1 - Regulatory Assets - Continuity Schedule

Brant County Power
Ed Glasbergen
Inglishenen Brantscuntysower.com
v8.0
Oct. 25, 2010

								2007					
Account Description	Account Number	Pr Amou	pening incipal unts as of n-1-07	Transac (additions) 2007, exc interest adjustme	during luding and	Transactions (reductions) during 2007, excluding interest and adjustments <sup>6</sup>	Adjustments during 2007 - instructed by Board <sup>2, 2A</sup>	Adjustments during 2007 - other <sup>3</sup>	Closing Balance	e as of	Opening Interest Amounts as of Jan-1-07	Interest Jan-1 to Dec31-07	Closing Interest Amounts as of Dec-31-07
Group 1 Accounts													
Low Voltage Account RSVA - Wholesale Market Service Charge RSVA - Retail Transmission Network Charge RSVA - Retail Transmission Connection Charge RSVA - Power (excluding Global Adjustment) RSVA - Power - Sub-Account - Global Adjustment	1550 1580 1584 1586 1588 1588	\$ \$ \$ \$	(61,022) (50,824) (693,211) (605,087) (310,762) 377,447	\$ (3 \$ (5 \$ (5 \$ 3 \$ (1	29,097) 50,451) 51,411) 11,083) 10,165 18,944)		\$ - \$ - \$ - \$ - \$ -	\$ - \$ - \$ -	\$ (1 \$ (1 \$ \$	(290,118 (401,276 ,244,622 ,116,171 (597 258,503	\$ 133,196 \$ (27,753) \$ (153) \$ (23,579) \$ 3,977	\$ (10,015) \$ (45,176) \$ (40,175) \$ (2,971) \$ 10,829	\$ 123,180 \$ (72,929) \$ (40,328) \$ (26,550) \$ 14,806
Recovery of Regulatory Asset Balances Disposition and Recovery of Regulatory Balances <sup>10</sup>	1590	\$	(0)		-		Ů	\$ -	\$ \$		\$ 185,989		
Disposition and Recovery of Regulationy Balances - Group 1 Sub-Total (including Account 1588 - Global Adjustment) Group 1 Sub-Total (excluding Account 1588 - Global Adjustment) RSVA - Power - Sub-Account - Global Adjustment	1595 1588		- (1,343,459) (1,720,906) 377,447	\$ (1,4 \$ (1,3	50,822) 31,878) 18,944)		\$ - \$ - \$ -	\$ - \$ - \$ - \$ -	\$ (2 \$ (3	,794,281 ,052,784 258,503	\$ 267,050	\$ (20,691) \$ (31,520)	\$ 250,336 \$ 235,530
Group 2 Accounts	4500						•	٩ .	s	07.704	• • • • • • • • • • • • • • • • • • • •		
Other Regulatory Assets - Sub-Account - OEB Cost Assessments Other Regulatory Assets - Sub-Account - Pension Contributions Other Regulatory Assets - Sub-Account Deferred IFRS Transition Costs	1508 1508 1508	\$ \$ \$	27,701 124,358 -	\$	- 9	Ψ	\$ - \$ - \$	\$ - \$ - \$ -	\$	27,701 124,358 -		\$ 1,310 \$ 5,879 \$ -	
Other Regulatory Assets - Sub-Account - Other 7	1508	\$							\$	-	\$ -		\$ -
Other Regulatory Assets - Sub-Account - Other 7	1508	\$							\$	-	\$ -		\$ -
Retail Cost Variance Account - Retail	1518	\$	(21,405)		9			\$ -	\$	(33,463			\$ (2,104)
Retail Cost Variance Account - STR	1548	\$	13,062	\$	7,689		\$ -	\$ -	\$	20,751			\$ 1,050
Misc. Deferred Debits LV Variance Account	1525 1550	\$ \$	7,211 (61,022)	\$ (0	29.097) 5		\$ - \$ -	\$ - \$ -	\$	7,211 (290,118			\$ 1,718 \$ (10,619)
Renewable Connection Capital Deferral Account	1531	٥	(61,022)	\$ (2	29,097)	• -	5 -	\$ -	D.	(290,118	\$ (650)	\$ (9,969)	\$ (10,019)
Renewable Connection OM&A Deferral Account	1532												
Smart Grid Capital Deferral Account	1534												
Smart Grid OM&A Deferral Account	1535												
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Capital	1555	\$	(17,453)			\$ (28,319)	\$ -	\$ -	\$	(45,772)		\$ (1,455)	
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Recoveries Smart Meter Capital and Recovery Offset Variance - Sub-Account - Stranded Meter Costs	1555 1555	\$ \$							\$ \$	-	\$ - \$ -		\$ - \$ -
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Stranded Meter Costs Smart Meter OM&A Variance	1556	S	14.302	s	11.749	s -	۹ .	s -	\$	26.052		\$ 959	\$ 959
Conservation and Demand Management Expenditures and Recoveries	1565	s	(111,255)		67,441		Ť	· ·	\$	(43,814			\$ -
CDM Contra	1566	\$	111,255			\$ (67,441)			\$	43,814	\$ -		\$ -
Qualifying Transition Costs 5	1570	\$	-	n/a		n/a			\$	-	\$ -		\$ -
Pre-Market Opening Energy Variances Total 5	1571	\$	-	n/a		n/a			\$	-	\$ -		\$ -
Extra-Ordinary Event Costs	1572 1574	\$	-						\$	-	\$ -		\$ - \$ -
Deferred Rate Impact Amounts RSVA - One-time Wholesale Market Service	1574	\$ \$							s S		\$ - \$ 0		\$ 0
Other Deferred Credits	2425	\$	-						\$	-	š -		\$ -
Group 2 Sub-Total		\$	86,754	\$ (1	42,218) \$	\$ (107,818)	\$ -	\$ -	\$	(163,282	\$ 9,244	\$ (3,459)	\$ 5,786
Deferred Payments in Lieu of Taxes 2006 PILs & Taxes Variance	1562 1592	\$ \$	1,179,951						\$ 1 \$	,179,951 -	\$ 81,567 \$ -	\$ 55,782	\$ 137,349 \$ -
Sub-total													
Total		\$	(1,256,705)	\$ (1,5	93,040) \$	\$ (107,818)	\$ -	\$ -	\$ (2	,957,563	\$ 280,271	\$ (24,149)	\$ 256,121
The following is not included in the total claim but are included on a memo basis:									п.				
Deferred PILs Contra Account 8	1563	\$	-						\$	-			\$ -
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595												

 $C: Users VMBS I: Desktop / Client Files / Brant County / 2011 Rebasing / Settlement Agreement / Rate Models / Continuity_Schedule_EDDVAR.xism / Continuity Schedule_EDDVAR.xism / Continuity Schedule_EDDVAR.xis$ 

SHEET 1 - Regulatory Assets - Continuity Schedule

Brant County Power
Ed Glasbergen
Inglishenen Brantscuntysower.com
v8.0
Oct. 25, 2010

							2008					
Account Description	Account Number	Openi Princi Amounts Jan-1-	pal as of	Transactions (additions) during 2008, excluding interest and adjustments <sup>6</sup>	Transactions (reductions) during 2008, excluding interest and adjustments <sup>6</sup>	Adjustments during 2008 - instructed by Board <sup>2, 2A</sup>	Adjustments during 2008 - other <sup>3</sup>	Closing Princ Balance as o Dec-31-08				closing Interest Amounts as of Dec-31-08
Group 1 Accounts												
Low Voltage Account RSVA - Wholesale Market Service Charge RSVA - Retail Transmission Network Charge RSVA - Retail Transmission Connection Charge RSVA - Power (excluding Global Adjustment) RSVA - Power - Sub-Account - Global Adjustment Recovery of Regulatory Asset Balances Disposition and Recovery of Regulatory Balances 10	1550 1580 1584 1586 1588 1588 1590	\$ (4 \$ (1,2 \$ (1,1 \$	01,276) 44,622) 16,171) (597) 58,503 (0)	\$ (149,476) \$ (507,292) \$ (496,105) \$ 261,354 \$ 140,439		\$ - \$ - \$ - \$ - \$ - \$ - \$ -	\$ - \$ - \$ - \$ - \$ - \$ - \$ -	\$ (550,7 \$ (1,751,6 \$ (1,612,2 \$ 260,7 \$ 398,6 \$	51) \$ 123,1 15) \$ (72,9 76) \$ (40,3 56 \$ (26,5 42 \$ 14,8	80 \$ (19, 229) \$ (60, 228) \$ (54, 50) \$ (1, 06 \$ 9, 76 \$ 51,	475) \$ 553) \$ 597) \$ 948) \$ 456) \$ 756 \$ 897 \$	103,627 (133,526) (95,277) (28,006) 24,562 314,173
Group 1 Sub-Total (including Account 1588 - Global Adjustment)			94,281)			s -	s -	\$ (3,373,1			375) \$	
Group 1 Sub-Total (excluding Account 1588 - Global Adjustment)			52,784)			\$ -	\$ -	\$ (3,772,1			332) \$	
RSVA - Power - Sub-Account - Global Adjustment	1588	\$ 2	58,503	\$ 140,439		\$ -	\$ -	\$ 398,9	42 \$ 14,8	06 \$ 9,	756 \$	24,562
Group 2 Accounts												
Other Regulatory Assets - Sub-Account - OEB Cost Assessments	1508	\$	27,701	\$ -	\$ -	S -	\$ -	\$ 27,7	01 \$ 3,9	54 \$ 1,	102 \$	5,056
Other Regulatory Assets - Sub-Account - Pension Contributions	1508	\$ 1	24,358	\$ -	\$ -	\$ -	\$ -	\$ 124,3	58 \$ 12,5	01 \$ 4,	949 \$	17,451
Other Regulatory Assets - Sub-Account Deferred IFRS Transition Costs	1508	\$	-	\$ -	\$ -	\$ -	\$ -	\$		\$	- \$	
Other Regulatory Assets - Sub-Account - Other 7	1508	\$	-					\$	•		\$	
Other Regulatory Assets - Sub-Account - Other 7	1508	\$	-					\$	•		\$	
Retail Cost Variance Account - Retail Retail Cost Variance Account - STR	1518 1548		33,463) 20,751	\$ 6,998	\$ (13,840) \$ -	\$ - S -	\$ - \$ -	\$ (47,3 \$ 27.7			554) \$ 980 \$	
Misc. Deferred Debits	1525	S	7.211		\$ -	s -	\$ -				287 \$	
LV Variance Account	1550		90,118)			s -	\$ -				175) \$	
Renewable Connection Capital Deferral Account	1531		,	, , , , ,					. ,	,		, , , ,
Renewable Connection OM&A Deferral Account	1532											
Smart Grid Capital Deferral Account	1534											
Smart Grid OM&A Deferral Account Smart Meter Capital and Recovery Offset Variance - Sub-Account - Capital	1535 1555	S (	45,772)		\$ (28.300)	e	s -	\$ (74.0	72) \$ (1,6	73) \$ (2.	284) \$	(3,957)
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Capital  Smart Meter Capital and Recovery Offset Variance - Sub-Account - Recoveries	1555	s (	45,772)		\$ (20,300)	•	ş -	\$ (74,0		(2,	\$ S	
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Stranded Meter Costs	1555	S	-					\$	š .		\$	
Smart Meter OM&A Variance	1556		26,052	\$ 14,916				\$ 40,9	68 \$ 9	59 \$ 1,	180 \$	2,139
Conservation and Demand Management Expenditures and Recoveries	1565		43,814)	\$ 43,814				\$	~		\$	-
CDM Contra  Qualifying Transition Costs <sup>5</sup>	1566		43,814		\$ (43,814)			\$	\$ .		\$ \$	
Pre-Market Opening Energy Variances Total 5	1570 1571	\$ \$		n/a	n/a			\$	\$ ·		\$ \$	
Extra-Ordinary Event Costs	1571	\$ \$	- 1	n/a	n/a			\$	\$ ·		\$	
Deferred Rate Impact Amounts	1574	Š						Š	s ·		s S	
RSVA - One-time Wholesale Market Service	1582	\$	-					\$	\$	0	\$	0
Other Deferred Credits	2425	\$	-					\$	\$ -		\$	
Group 2 Sub-Total		\$ (1	63,282)	\$ 237,915	\$ (85,953)	\$ -	\$ -	\$ (11,3	20) \$ 5,7	86 \$ (5,	314) \$	(28)
Deferred Payments in Lieu of Taxes 2006 PILs & Taxes Variance	1562 1592	\$ 1,1 \$	79,951 -					\$ 1,179,9 \$	51 \$ 137,3 \$ -	49 \$ 46,	962 \$ \$	184,311 -
Sub-total						see F	PILs reconciliation rec	uested				
Total		\$ (2,9	57,563)	\$ (340,980)	\$ (85,953)	\$ -	\$ -	\$ (3,384,4	96) \$ 256,1	21 \$ (91,	889) \$	164,432
The following is not included in the total claim but are included on a memo basis:												
Deferred PILs Contra Account 8	1563	\$	-					\$	\$ -		\$	
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595											

C:\Users\IMBS\iDesktop\Client Files\Brant County\( 2011 Rebasing\Settlement Agreement\( Rate Models\( Continuity\_Schedule\_EDDVAR.x\( sm)\)Continuity Schedule

SHEET 1 - Regulatory Assets - Continuity Schedule

Brant County Power
Ed Glasbergen
splankeren di Brantoustysower.com
v8.0
Oct. 25, 2010

								2009						
Account Description	Account Number	Prir Amou	ening ncipal nts as of n-1-09	Transaction: (additions) dur 2009, excludir interest and adjustments	ing ng	Transactions (reductions) during 2009, excluding interest and adjustments <sup>6</sup>	Adjustments during 2009 - instructed by Board <sup>2, 2A</sup>	Adjustments during 2009 - other <sup>3</sup>		losing Principal Balance as of Dec-31-09	Opening Interest Amounts as of Jan-1-09	Interest Jan-1 to Dec31-09	Amo	ing Interest ounts as of ec-31-09
Group 1 Accounts														
Low Voltage Account RSVA - Wholesale Market Service Charge RSVA - Retail Transmission Network Charge RSVA - Retail Transmission Connection Charge RSVA - Power (excluding Global Adjustment) RSVA - Power - Sub-Account - Global Adjustment Recovery of Regulatory Asset Balances	1550 1580 1584 1586 1588 1588 1590		(117,932) (550,751) 1,751,915) 1,612,276) 260,756 398,942 (0)	\$ 111,9 \$ 78,9 \$ (116,8 \$ 781,9	45) 39 22 23) 06		\$ - \$ - \$ - \$ - \$ - \$ -	\$ - \$ - \$ - \$ - \$ - \$ -	\$ \$ \$ \$ \$ \$	(600,296) (1,639,976) (1,533,354) 143,933 1,180,849	\$ 103,627 \$ (133,526) \$ (95,277) \$ (28,006) \$ 24,562	\$ (6,517) \$ (19,291) \$ (18,106) \$ (47) \$ 6,664	\$ \$ \$ \$	(21,860) 97,110 (152,817) (113,382) (28,052) 31,226 314,173
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595	\$	-	\$ -			\$ -	\$ -	\$	-	\$ -	\$ -	\$	-
Group 1 Sub-Total (including Account 1588 - Global Adjustment) Group 1 Sub-Total (excluding Account 1588 - Global Adjustment) RSVA - Power - Sub-Account - Global Adjustment	1588		3,373,176) 3,772,118) 398,942	\$ 199,4	52		\$ - \$ - \$ -	\$ - \$ - \$ -	\$ \$	(3,572,667)	\$ 139,898	\$ (44,726)	\$	126,398 95,172 31,226
Group 2 Accounts														
Other Regulatory Assets - Sub-Account - OEB Cost Assessments Other Regulatory Assets - Sub-Account - Pension Contributions Other Regulatory Assets - Sub-Account Deferred IFRS Transition Costs	1508 1508 1508	\$ \$ \$	27,701 124,358	\$ - \$ - \$			\$ - \$ - \$ -	\$ - \$ - \$ -	\$ \$ \$	124,358		\$ 315 \$ 1,415 \$ -		5,371 18,865
Other Regulatory Assets - Sub-Account - Other <sup>7</sup>	1508	S		•	- "	• -		<b>3</b> -	\$		\$ -	<b>.</b>	s S	
Other Regulatory Assets - Sub-Account - Other <sup>7</sup>	1508	S							s		s -		S	-
Retail Cost Variance Account - Retail	1518	s	(47,302)		- 1	\$ (14,288)	s -	s -	\$			\$ (585)	\$	(4,242)
Retail Cost Variance Account - STR	1548	\$	27,749	\$ 6,0			\$ -	\$ -	\$			\$ 340		2,370
Misc. Deferred Debits	1525	\$ S	7,211		59		\$ - \$ -	\$ - \$ -	\$			\$ 82		2,087
LV Variance Account Renewable Connection Capital Deferral Account Renewable Connection OM&A Deferral Account Smart Grid Capital Deferral Account	1550 1531 1532 1534	\$	(117,932)	\$ 174,9	59 ;	\$ -	-	5 -	•	57,027	\$ (21,094)	\$ (766)	Þ	(21,860)
Smart Grid OM&A Deferral Account Smart Meter Capital and Recovery Offset Variance - Sub-Account - Capital	1535 1555	s	(74.072)		٠,	\$ (19.532)	ς .	s -	s	(93,604)	\$ (3,957)	\$ (935)	s	(4,892)
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Recoveries Smart Meter Capital and Recovery Offset Variance - Sub-Account - Stranded Meter Costs	1555 1555	\$	- (14,012)			ψ (19,552)	-	<b>J</b>	\$	-	\$ - \$ -	\$ (833)	\$	(4,032)
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Stranded Meter Costs Smart Meter OM&A Variance	1556	\$	40,968	\$ 38.5	07				S S		\$ 2,139	\$ 619	s s	2,758
Conservation and Demand Management Expenditures and Recoveries	1565	\$	-						\$		\$ -		\$	-,
CDM Contra	1566	\$	-						\$		\$ -		\$	-
Qualifying Transition Costs 5	1570	\$	-	n/a		n/a			\$		\$ -		\$	-
Pre-Market Opening Energy Variances Total <sup>5</sup> Extra-Ordinary Event Costs	1571 1572	\$ \$	-	n/a		n/a			\$ \$		\$ - \$ -		\$ \$	-
Deferred Rate Impact Amounts	1574	S							, s		š -		s S	
RSVA - One-time Wholesale Market Service	1582	\$							\$	-	\$ 0		\$	0
Other Deferred Credits	2425	\$	-						\$	-	\$ -		\$	-
Group 2 Sub-Total		\$	(11,320)	\$ 219,4	82	\$ (33,820)	\$ -	\$ -	\$	,	\$ (28)	\$ 486	\$	457
Deferred Payments in Lieu of Taxes 2006 PILs & Taxes Variance	1562 1592	\$	1,179,951					\$ (234,08	3) \$ \$		\$ 184,311 \$ -	\$ 13,422	\$ \$	197,733
Sub-total							see	PILs reconciliation r	eques	sted				
Total		\$ (	3,384,496)	\$ 1,200,8	40	\$ (33,820)	\$ -	\$ -	\$	(2,217,477)	\$ 164,432	\$ (37,577)	\$	126,856
The following is not included in the total claim but are included on a memo basis: Deferred PILs Contra Account <sup>6</sup>	4500								<b>.</b>					
Deterred PILs Contra Account  Disposition and Recovery of Regulatory Balances <sup>10</sup>	1563 1595	\$							\$	-	\$ -		\$	
Disposition and Recovery of Regulatory Balances	1595													

C:\Users\IMBS\iDesktop\Client Files\Brant County\( 2011 Rebasing\Settlement Agreement\( Rate Models\( Continuity\_Schedule\_EDDVAR.x\( sm)\)Continuity Schedule

SHEET 1 - Regulatory Assets - Continuity Schedule

Brant County Power
Ed Glasbergen
splankeren di Brantoustysower.com
v8.0
Oct. 25, 2010

							2010				
Account Description	Account Number	Prir Amour	ening ncipal nts as of i-1-10	Transactions (additions) durin 2010, excluding interest and adjustments <sup>6</sup>		Adjustments during 2010 - instructed by Board <sup>2, 2A</sup>		Closing Principa Balance as of Dec-31-10	Il Opening Interest Amounts as of Jan-1-10	Interest Jan-1 to Dec31-10	Closing Interest Amounts as of Dec-31-10
Group 1 Accounts											
Low Voltage Account	1550	\$	57,027	\$ (231,119				\$ (174,092			
RSVA - Wholesale Market Service Charge	1580	\$	(600,296)					\$ (900,610			
RSVA - Retail Transmission Network Charge	1584		1,639,976)					\$ (810,215			
RSVA - Retail Transmission Connection Charge RSVA - Power (excluding Global Adjustment)	1586 1588	\$ (* \$	1,533,354) 143,933					\$ (917,417 \$ 135,022			
RSVA - Power - Sub-Account - Global Adjustment	1588		1,180,849					\$ 1,210,401			
Recovery of Regulatory Asset Balances	1590	Š	(0)						) \$ 314,173		
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595	s	-					\$ -	s -		\$ -
Group 1 Sub-Total (including Account 1588 - Global Adjustment)		s (2	2,391,818)	\$ 934,907		s -	s -	\$ (1,456,911		\$ (14,466)	\$ 111,932
Group 1 Sub-Total (including Account 1588 - Global Adjustment)			3.572.667)			\$ -	\$ -	\$ (2,667,312			
RSVA - Power - Sub-Account - Global Adjustment	1588		1.180.849			s -	\$ -	\$ 1,210,401			
•								, , , ,	\$ -		
Group 2 Accounts		_		_					\$ -		
Other Regulatory Assets - Sub-Account - OEB Cost Assessments Other Regulatory Assets - Sub-Account - Pension Contributions	1508 1508	\$ \$	27,701 124,358	\$ -				\$ 27,701 \$ 124,358		\$ 214 \$ 960	
Other Regulatory Assets - Sub-Account Deferred IFRS Transition Costs	1508	s	124,330	<b>5</b> -				\$ 124,330	\$ 10,005 \$ -	\$ 900	\$ 19,625
Other Regulatory Assets - Sub-Account - Other <sup>7</sup>	1508	S						s -	s -		\$ - \$ -
Other Regulatory Assets - Sub-Account - Other  Other Regulatory Assets - Sub-Account - Other  7	1508	\$						s -	\$ -		\$ - \$ -
Retail Cost Variance Account - Retail	1518	S	(61,590)	\$ (14,511	١			\$ (76,101		\$ (536)	
Retail Cost Variance Account - Notail	1548	Š	33.765	\$ (479				\$ 33,286			\$ 2.628
Misc. Deferred Debits	1525	Š	7.211	\$ -				\$ 7,211		\$ 56	
LV Variance Account	1550	\$	57,027	\$ (231,119	)			\$ (174,092			
Renewable Connection Capital Deferral Account	1531	\$	-					-	\$ -		
Renewable Connection OM&A Deferral Account	1532	\$	-						\$ -		
Smart Grid Capital Deferral Account	1534	\$	-						\$ -		
Smart Grid OM&A Deferral Account	1535	\$	-						\$ -		. (4.750)
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Capital Smart Meter Capital and Recovery Offset Variance - Sub-Account - Recoveries	1555 1555	\$ \$	(93,604)	\$ 1,166,072				\$ 1,072,467 \$ -	\$ (4,892) \$ -	\$ 3,134	\$ (1,758) \$ -
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Recoveries  Smart Meter Capital and Recovery Offset Variance - Sub-Account - Stranded Meter Costs	1555	S						\$ -	\$ -		\$ -
Smart Meter OM&A Variance	1556	Š	79,474	\$ 34,513				\$ 113.988		\$ 757	\$ 3.515
Conservation and Demand Management Expenditures and Recoveries	1565	Š	-					\$ -	S -		\$ -
CDM Contra	1566	\$	-					\$ -	\$ -		\$ -
Qualifying Transition Costs 5	1570	\$	-	n/a	n/a			\$ -	\$ -		\$ -
Pre-Market Opening Energy Variances Total 5	1571	\$		n/a	n/a			s -	s -		\$ -
Extra-Ordinary Event Costs	1572	\$						\$ -	\$ -		\$ -
Deferred Rate Impact Amounts	1574	\$	-					\$ -	\$ -		\$ -
RSVA - One-time Wholesale Market Service	1582	\$	-					\$ -	\$ 0		\$ 0
Other Deferred Credits	2425	\$						\$ -	\$ - 5 -		\$ -
Group 2 Sub-Total		\$	174,341	\$ 954,476	\$ -	\$ -	\$ -	\$ 1,128,817	\$ 457	\$ 4,854	\$ 5,311
Deferred Payments in Lieu of Taxes 2006 PILs & Taxes Variance	1562 1592	\$ \$	945,868	\$ -				\$ 945,868 \$ -	\$ 197,733 \$ -	\$ 7,406	\$ 205,140 \$ -
Sub-total	1002	*				see	PILs reconciliation re		•		*
Total		\$ (2	2,217,477)	\$ 1,889,383	s -	s -	\$ -	\$ (328,094	1) \$ 126,856	\$ (9,613)	\$ 117,243
The following is not included in the total claim but are included on a memo basis:		, (-	,	. ,,			•	. (,	,,,,,,,	. (.,)	, , ,
Deferred PILs Contra Account 8	1563	s						ls -	s -		s -
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595	•						· · ·	*		Ŧ
Disposition and recovery of requiatory Datations	1333										

C:\Users\IMBSf\Desktop\Client\Files\Brant\County\2011\Rebasing\Settlement\Agreement\Rate Models\{Continuity\_Schedule\_EDDVAR.xlsm}\Continuity\Schedule

SHEET 1 - Regulatory Assets - Continuity Schedule

Brant County Power
Ed Glasbergen
Inglishenen Brantscuntysower.com
v8.0
Oct. 25, 2010

						Optional		
Account Description  Group 1 Accounts	Account Number	Total Clain before Forecaste Transactions 2010 and 20	d s in	Forecasted Transactions, Excluding Interest from Jan 1, 2010 to Dec 31, 2010	Forecasted Transactions, Excluding Interest from Jan 1, 2011 to April 30. 2011	Projected Interest from Jan 1, 2010 to April 30, 2011 on Forecasted Transactions (Excl Interest) from Jan 1, 2010 to Dec 31, 2010	Projected Interest from Jan 1, 2011 to April 30, 2011 on Forecasted Transactions (Excl Interest) from Jan 1, 2011 to Apr 30, 2011 <sup>10</sup>	Forecasted Transactions 2010 and 20 not included Total Clain
Low Voltage Account	1550	\$ (195,	042)					s
RSVA - Wholesale Market Service Charge	1580	\$ (809,						S
RSVA - Retail Transmission Network Charge	1584	\$ (971,						s
RSVA - Retail Transmission Connection Charge	1586	\$ (1,039,						s
RSVA - Power (excluding Global Adjustment)	1588		798					Š
RSVA - Power - Sub-Account - Global Adjustment	1588	\$ 1,289.						s
Recovery of Regulatory Asset Balances	1590	\$ 314,						s
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595	\$						s
	1333							
Group 1 Sub-Total (including Account 1588 - Global Adjustment)		\$ (1,344,		\$ -	\$ -	\$ -	\$ -	\$
Group 1 Sub-Total (excluding Account 1588 - Global Adjustment)		\$ (2,634,		\$ -	\$ -	\$ -	\$ -	\$
RSVA - Power - Sub-Account - Global Adjustment	1588	\$ 1,289,	073	\$ -	\$ -	\$ -	\$ -	\$
Q								
Group 2 Accounts	1508	\$ 33.	286					s
Other Regulatory Assets - Sub-Account - OEB Cost Assessments Other Regulatory Assets - Sub-Account - Pension Contributions	1508	\$ 33, \$ 144,						S
		\$ 144, \$	103					\$
Other Regulatory Assets - Sub-Account Deferred IFRS Transition Costs	1508		-					-
Other Regulatory Assets - Sub-Account - Other 7	1508	\$	-					\$
Other Regulatory Assets - Sub-Account - Other 7	1508	\$	-					\$
Retail Cost Variance Account - Retail	1518	\$ (80,						\$
Retail Cost Variance Account - STR	1548		914					\$
Misc. Deferred Debits	1525		354					\$
LV Variance Account	1550	\$ (195,	942)					\$
Renewable Connection Capital Deferral Account	1531	\$	-					\$
Renewable Connection OM&A Deferral Account	1532	\$	-					\$
Smart Grid Capital Deferral Account	1534	\$	-					\$
Smart Grid OM&A Deferral Account	1535	\$						\$
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Capital	1555	\$ 1,070,	709					\$
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Recoveries	1555	\$	-					\$
Smart Meter Capital and Recovery Offset Variance - Sub-Account - Stranded Meter Costs Smart Meter OM&A Variance	1555	\$ \$ 117.	-					\$
	1556		503					•
Conservation and Demand Management Expenditures and Recoveries	1565	\$	-					\$
CDM Contra	1566	\$	-					\$
Qualifying Transition Costs 5	1570	\$	-					\$
Pre-Market Opening Energy Variances Total 5	1571	\$	-					\$
Extra-Ordinary Event Costs	1572	\$	-					\$
Deferred Rate Impact Amounts	1574	\$	-					\$
RSVA - One-time Wholesale Market Service	1582	\$	0					\$
Other Deferred Credits	2425	\$	-					\$
Group 2 Sub-Total		\$ 1,134,	128	\$ -	\$ -	\$ -	\$ -	\$
Deferred Payments in Lieu of Taxes	1562	\$ 1,151,	800					\$
2006 PILs & Taxes Variance	1592	\$	-					\$
Sub-total		\$ 1,151,	800					\$
Total		\$ (210,	851)	\$ -	\$ -	\$ -	\$ -	\$
The following is not included in the total claim but are included on a memo basis:								
Deferred PILs Contra Account 8	1563	s						\$
		φ	-					ý.
Disposition and Recovery of Regulatory Balances <sup>10</sup>	1595							

C:\Users\IMBSf\Desktop\Client Files\Brant Courty\2011 Rebasing\Settlement Agreement\Rate Models\(Continuity\_Schedule\_EDDVAR.xism\)Continuity Schedule

USoA	Description	Principal 31, 201	(Dec. 0)	Interest (Dec. 31, 2010)	Total
1550 Lov	w Voltage	(\$17	74,092)	(\$21,849)	(\$195,942)
1580 RS\	VA WMS	(\$90	00,610)	\$91,220	(\$809,390)
1584 RS\	VA NW	(\$81	10,215)	(\$161,665)	(\$971,880)
1586 RS\	VA CN	(\$91	17,417)	(\$122,396)	(\$1,039,813)
1588 RS\	VA COP Excluding GA	\$1	35,022	(\$66,224)	\$68,798
1588 RS\	VA COP GA	\$1,2	10,401	\$78,672	\$1,289,073
1590 Red	covery of Reg. Assets		(\$0)	\$314,173	\$314,173
1508 OE	B Cost Assessment	\$	27,701	\$5,585	\$33,286
1508 ON	MERS Pension	\$1	24,358	\$19,825	\$144,183
1518 RC	VA – Retail	(\$7	76,101)	(\$4,779)	(\$80,879)
1548 RC	VA – STR	\$	33,286	\$2,628	\$35,914
1525 Mis	sc. Deferred Debits		\$7,211	\$2,143	\$9,354
1565 CD	M		\$0	\$0	\$0
1566 CD	M – Contra		\$0	\$0	\$0
1582 RS\	VA One Time		\$0	\$0	\$0
Total		(\$1,34	10,457)	\$137,334	(\$1,203,122)

USoA	Description	Principal 31, 201	•	Interest on 31, 2010)	•	Projected Interest to April 30, 2011 (1.47%)	Total	
		,	•	, , , ,		, ,, , , , , , , , , , , , , , , , , , ,		Allocation Basis
1550 Low \	Voltage	(\$17	74,092)	(\$2	1,849)	(\$853)	(\$196,795)	kWh
1580 RSVA	WMS	(\$90	00,610)	\$	91,220	(\$4,413)	(\$813,803)	kWh
1584 RSVA	NW	(\$8:	10,215)	(\$16	51,665)	(\$3,970)	(\$975,850)	kWh
1586 RSVA	CN	(\$9:	L7,417)	(\$12	2,396)	(\$4,495)	(\$1,044,308)	kWh
1588 RSVA	COP Excluding GA	\$1	35,022	(\$6	6,224)	\$662	\$69,459	kWh
1588 RSVA	COP GA	\$1,2	10,401	\$	78,672	\$5,931	\$1,295,004	Non-RPP KWh
1590 Reco	very of Reg. Assets		(\$0)	\$3	14,173	(\$0)	\$314,173	kWh
1508 OEB	Cost Assessment	\$	27,701		\$5,585	\$136	\$33,422	Dist Rev
1508 OME	RS Pension	\$1	24,358	\$	19,825	\$609	\$144,792	Dist Rev
1518 RCVA	A – Retail	(\$	76,101)	(\$	4,779)	(\$373)	(\$81,252)	Dist Rev
1548 RCVA	A – STR	\$	33,286		\$2,628	\$163	\$36,077	Dist Rev
1525 Misc.	. Deferred Debits		\$7,211		\$2,143	\$35	\$9,389	Dist Rev
1565 CDM			\$0		\$0	\$0	\$0	N/A
1566 CDM	– Contra		\$0		\$0	\$0	\$0	N/A
1582 RSVA	One Time		\$0		\$0	\$0	\$0	N/A
Total		(\$1,34	10,457)	\$1	37,334	(\$6,568)	(\$1,209,691)	

#### Allocation to Customer Classes Based on kWh

USoA	Description	Principal (Dec. 31, 2010)	Interest Dec 31, 2010	Projected Int. on Dec. 31, 2010 Principal to April 30, 2011	Total
1550 Low	Voltage	(\$174,092)	(\$21,849)	(\$853)	(\$196,795)
1580 RSVA	A WMS	(\$900,610)	\$91,220	(\$4,413)	(\$813,803)
1584 RSVA	A NW	(\$810,215)	(\$161,665)	(\$3,970)	(\$975,850)
1586 RSVA	A CN	(\$917,417)	(\$122,396)	(\$4,495)	(\$1,044,308)
1588 RSVA	A COP Excluding GA	\$135,022	(\$66,224)	\$662	\$69,459
1590 Reco	very of Reg. Assets	(\$0)	\$314,173	(\$0)	\$314,173
Total		(\$2,667,312)	\$33,260	(\$13,070)	(\$2,647,122)

	Allocatio	on		Allocated
Class	2011 Projected kWh		Amount Clamied	Claim
Residential	82,794,132	29.31%		(\$775,810)
General Service < 50 kW	40,399,125	14.30%		(\$378,554)
General Service 50 to 4,999 kW	156,810,608	55.51%		(\$1,469,369)
Unmetered Load	509,821	0.18%		(\$4,777)
Sentinel Light	222,341	0.08%		(\$2,083)
Street Light	1,763,973	0.62%		(\$16,529)
Total	282,500,000	100.00%	(\$2,647,122)	(\$2,647,122)

#### Allocation to Customer Classes Based on Distribution Revenue

USoA	Description	Principal (Dec. 31, 2010)	Interest Dec 31, 2010	Projected Int. on Dec. 31, 2010 Principal to April 30, 2011	Total
1508 OEB	Cost Assessment	\$27,701	\$5,585	\$136	\$33,422
1508 OM	ERS Pension	\$124,358	\$19,825	\$609	\$144,792
1518 RCV	A – Retail	(\$76,101)	(\$4,779)	(\$373)	(\$81,252)
1548 RCV	A – STR	\$33,286	\$2,628	\$163	\$36,077
1525 Misc	c. Deferred Debits	\$7,211	\$2,143	\$35	\$9,389
Total		\$116,455	\$25,403	\$571	\$142,428

	ca		

Class	2011 Projected Distribution Revenue	%	Amount Clamied	Allocated Claim
Residential	3,065,668	53.61%		\$76,353
General Service < 50 kW	958,135	16.75%		\$23,863
General Service 50 to 4,999 kW	1,404,069	24.55%		\$34,969
Unmetered Load	10,743	0.19%		\$268
Sentinel Light	22,385	0.39%		\$558
Street Light	257,698	4.51%		\$6,418
Total	5,718,698	100.00%	\$142,428	\$142,428

#### **Total Customer Class Allocated Recoveries**

		Reg.						
Class	based on kWh Distribution Reven		Total Recovery	Туре	2011 Projected Stats	Proposed Years Recovery	Asset Rate Rider	
Residential	(\$775,810)	\$76,353	(\$699,457)	kWh	82,794,132	1	(\$0.0084)	
General Service < 50 kW	(\$378,554)	\$23,863	(\$354,691)	kWh	40,399,125	1	(\$0.0088)	
General Service 50 to 4,999 kW	(\$1,469,369)	\$34,969	(\$1,434,400)	kW	388,493	1	(\$3.6922)	
Unmetered Load	(\$4,777)	\$268	(\$4,510)	kWh	509,821	1	(\$0.0088)	
Sentinel Light	(\$2,083)	\$558	(\$1,526)	kW	574	1	(\$2.6584)	
Street Light	(\$16,529)	\$6,418	(\$10,111)	kW	4,783	1	(\$2.1139)	
Total	(\$2,647,122)	\$142,428	(\$2,504,694)		•	•		

#### Non-RPP Rate Rider

USoA	Description	Principal (Dec. 31, 2010)	Interest Dec 31, 2010	Projected Int. on Dec. 31, 2010 Principal to April 30, 2011	Total	2009 Actual Non- Proposed Years of GA Rate			<u>.</u>
						RPP Billed kWh	Recovery	Rider	
1588 RSVA	COP GA	\$1.210.401	\$78.672	\$5.931	\$1.295.004	172.344.868	1	0.007	5

# Appendix N LRAM and SSM

		Carrying				2011 Forecased	1-Yr Rate
<b>Customer Class</b>	LRAM	Charges	SSM	Total	Unit	Billed kWh / kW	Rider
Residential	174018	8759	18625	201402	kWh	82,794,132	0.0024
General Service < 50 kW	62479	988	-1838	61629	kWh	40,908,945	0.0015
General Service 50 to 4,999 kW	2992	55	-429	2618	kW	388,493	0.0067
Street Lighting	1699	32	2452	4183	kW	4,783	0.8746
Sentinel Lights	0	0	-7	-7	kW	574	-0.0122
Total	241188	9834	18803	269825			